# Data of Tunnel Works

Ì		
١,	orks	
ſ	Lo Lo	
	Š.	
	ğ.	
	Ĩ.	
1		
	for	
1	Ť.	
	0S	
1	Ú,	
	E	
1	ž.	
Ċ	ğ	
÷.	Ë.	
	ä	
ł	ŭ	
÷	Ē	
	ž	
	ar	
	E	
1	8	
	S	
	7	
	ES-	
	5	

Ē.	
ble	
8	

						(TTPCTAAA)	
	Ő	Quantity	J	<b>Construction Cost</b>		Unit Cost	
Location	Main Tunnel	Adit	F.C.	T.C.	Total		Remarks
	(III)	(m)	(1,000Baht)	(1,000Baht)	(1,000Baht)	(1,000Baht/m)	
1 Kok-Ing Tunnel			- - 		·		
1-1 Kok-Ing No.1 Tunnel	3,046.99	1	827,178	234,790	1,061,968	349	
1-2 Kok-Ing No.2 Tunnel	5,415.02	•	1,414,465	388,191	1,802,656	333	
Subtotal("1-1"+"1-2")	8,462.01	•	2,241,643 78%	622,981 22%	2,864,624	339	
2 Ing-Yot Tunnel							
2-1 Ing-Yot No.1 Tunnel	2,008.21		594,877	163,114	757,991	377	
2-2 Ing-Yot No.2 Tunnel							
(1) Division 1	4,910.00	1	1,270,858	358,392	1,629,250	332	
(2) Division 2 with Adit No.1	4,550.00	1,981.99	1,389,592	393,885	1,783,477	392	
(3) Division 3 with Adit No.2	5,435.00	1,785.19	1,599,635	438,305	2,037,940	375	
(4) Division 4 with Adit No.3	7,215.00	2,193.75	1,940,864	503,636	2,444,500	339	
(5) Division 5 with Adit No.4	6,440.00	3,171.48	1,801,914	465,103	2,267,017	352	
(6) Division 6 with Adit No.5	6,400.00	2,476.00	1,837,916	481,022	2,318,938	362	
(7) Division 7 with Adit No.6	6,060.00	3,338.60	1,704,036	441,895	2,145,931	354	
(8) Division 8 with Adit No.7	4,950.00	2,431.92	1,357,340	377,450	1,734,790	350	
(9) Division 9	4,914.60	•	1,272,688	359,035	1,631,723	332	
Subtotal ("(1)"++"(9)")	50,874.60	17,378.93	14,174,843	3,818,723	17,993,566	354	
2-3 Subtotal ("2-1"+"2-2")	52,882.81	17,378.93	14,769,720 79%	3,981,837 21%	18,751,557	355	
<b>3 Total ("1"+"2")</b>	61,344.82	17,378.93	17,011,363	4,604,818 21%	21,616,181	352	
•			0/, 6/	0/ Y7			

	Table TS-2	Sur	mary of	Unit Rat	te per Me	ster of G	imary of Unit Rate per Meter of Ground Grade at Kok-Ing & Ing-101	ade at K	o gut-ng o	o r-Sur >		0	(Baht/m)	
					٤		Ē		02		EI		EI	
Ground Grade of Tunnel	<b>m</b>  -	i i	5-		Į				04	I.C.	F.C.	L.C.	F.C.	L.C.
	F.C.	r.c.	F.C.	יי ריני	ي.ز			3						
1 Kok-Ing Tunnel	Baht/m			ļ	20, 62	1 050	LEY YY	3 053	37.147	3,855	39,451	4,125	39,961	4,214
1-1 Excavation	0	0	66,170	4,2/1	100,00		00170	5 618	31.884	6.266	32.086	6,311	40,709	7,887
1-2 Shotcrete	0	Ö	18,878	3,696	19,859	1/5	071'07	10.035	20 744	10.935	38.744	10,935	49,232	13,851
1-3 Rock Bolts	0	0	15,889	4,599	19,867	016,0	10, 44	TC/DT	100	5 047	70.037	7.645	70,037	7,645
1-4 Steel Support	0	ō	0	0	20,048	2,198	42,12/	4,014	100'tC	10101	SO DEK	19.040	58.556	20.546
1-5 Concrete Lining	0	0	28,535	11,026	28,535	11,026	31,659	13,340	202,04	1 120	304	1 451	304	1.451
	C	0	287	1,338	287	1,338	287	1,338	197	0CC'T	5			102.22
T-1 Drain Files			129.759	24.930	142,283	27,649	184,582	39,698	207,973	44,798	230,828	49,516	258,799	+400
Total				164 680	ł	169.932		224,280		252,771		280.344		314,395
All Addition to a second a second sec	Boht/m	9		10001-21									00101	04.7
TIDE TROUBLE AUTOR AUTOR 7			70 435	4 020	63.482	4.511	55,185	4,452	45,035	4,381	47,480	4,658	48,199	4,0/0
2-1 Excevation	- °		10,175	2 965	21 504	4.180	28.091	5,936	35,527	6,696	35,929	6,796	44,454	8,406
2-2 Shotcrete	0		C/T'07	240 4	YUE LC	5 503	41.119	11.812	41.119	11,812	41,119	11,812	51,749	14,202
2-3 Rock Bolts	0	5	1/,141	4,040	00C(F7	237 0	NST CK	4 584	56.295	6.065	76.672	8,328	76,672	8,328
2-4 Steel Support	0	0	0	5	24,22	/00/7	+01/7+	CIL II	40.000	18 118	55.027	20.885	64,087	22,510
2.5 Concrete Lining	0	0	30,660	12,092	30,660	12,092	C/ T'+C	71/41	0000	011	UCC	1 778	320	1 778
	C	0	304	1,649	304	1,649	304	1,649	50	1,04y	N7C	11/10	240	
adra nisati 4-2			146.715	6	161,601	30,692	201,628	43,145	227,180	40,721	256,547	54,257	285,481	20,902
Lotal				-		192.293		244.773		275,901		310,804		345.383
		0		1/10/1										
3 Ing-Yot No.2 Tunnel with Adit Bahl/m	t Baht/m					0.0	66 10E	151	45.433	4 4M2	47.934	4.671	48,586	4,694
3-1 Excevation	85,869		79,900	5,054		4,/42	C91,CC	2044		2014	36 640	6 876	44,694	8.415
1.7 Chotomete	13,084	2,935	20,433	3,867		4,198	28,404	0/6'0	100,000	001 0	11111	۴	51 740	14 202
	13 615			4,846	21,306	5,593	41,119	11,812	41,119	11,812	41,119		CT/ (TC	0000
2-3 KOCK PUIS				0	24,255	2,667	42,754	4,584	56,295	6,065	76,672	3,528	7/0'0/	0700
3-4 Steel Support	30.438	11 0	30.660	12.092		_	34,175	14,712	48,900	18,118	55,027	20,885	64,087	016'77.
3-5 Concrete Lining				1.451		1,451	304	1,451	304	1,451	320	1,564	320	1,204
3-6 Drain Pipe				,	PY1	ſ	202.001	42.987	228,058	48,614	257,721	54,136	286,108	59,713
Total	143,310		146,436			] .		344 020		276.672		311,857		345,821
		168,795		175.748		0+r'ckr								
4 Adit for Ing-Yot No.2 Tunnel	Baht/m					1 670	11 760	3 023	26.929	3.006	28,641	3,109	28,179	2,950
4-1 Excavation	48,834							LUC V	28.862				33,700	6,557
4-2 Shotcrete	10,929			•				170,5	31 050					11,588
4-3 Rock Bolts	9,170	2,559	12,696	3,698			666,16		150.01					6.542
A Charl Connect		0	0	0	15,843		36,412		49,001	:			•	16.188
A.C. Convete Lining	21.869	6,881	22,214	6,881	ដ	<u>م</u>	8	11,141	37,816	É.	41,401	N07°CT		PU0
4.4 Dirala Pine	232	2 836	232	836	232									A4 720
	01 034	15.749	93.506	17,334	105,736	19,544	150,846	32,698	174,859		INST'NAT			Ì
		1		110.940		125.280		183.544		212,262		230,688		254,816
	-	100,/83		11002										

of Unit Rate per Meter of Ground Grade at Kok-Ing & Ing-Yot Ċ 

.

Table TS-3 Unit Rate per Meter of Ground Grade at Kok-Ing Tunnel

1,045 4 214 6,246 7,887 3,552 8,448 5,449 1,527 368 3,569 314,393 1,712 759 1,641 1,851 7,645 10,855 **4**09 186 5,527 698 55,594 13,851 301 20,546 1,451 с Г 87.008 8 (Baht/m) 32,746 9,043 33,414 25,708 4,959 3,981 5,313 7,963 40,709 6,775 49,232 49,354 14,046 4,208 13,551 17,325 7,749 58,556 2,429 38 258,799 39,961 2 19.897 70,037 Ъ.С. 9,328 1,637 698 4,876 1,435 1.607 10,935 5,449 1,527 368 7.645 10,855 5,527 19,049 49,516 4,125 6,311 **4**09 2.072 1,451 759 ,031 301 186 280.344 0 1 85.897 E 32,010 6,734 38,744 25,271 4,959 5,240 25,639 6,447 13,551 17,325 7,749 49,354 14,046 4,208 11,547 50,206 230,828 3,981 2,429 70,037 34 304 39,451 32,086 U H 9,328 1,607 3,753 1,520 368 1,546 4,831 1,435 10,935 9,104 4,566 2,231 44,798 5,942 409 152 1,338 627 6,266 16,462 691 166 3,855 301 252,771 Ľ. 82.574 ä 32,010 6,734 24,067 4,752 3,289 25,437 6,447 34,088 13,984 4,208 2,429 15,246 6,401 12,436 287 207,973 5,039 38,744 11,091 37,147 54,709 45,202 31,884 28 Ľ. 9,328 4,356 3,193 1,729 619 262 5,618 1,607 953 409 4,258 39,698 627 978 3,953 10,935 368 4,514 8,521 152 13,340 1,338 224,280 L.C. 81,488 10 33,422 32,010 27,649 184,582 6,734 29,043 3,954 3,289 20,637 8,876 10,366 15,246 31,659 4,972 5,491 26,128 38,744 4,208 42,127 6,019 287 45,637 38 F.C. 4,156 5,318 11,026 1,943 2,897 1,162 2,198 3,436 1,338 675 822 3,719 7,057 69,932 506 926 4,050 2,198 409 124 с Ц 77.179 C 4,069 2,654 15,479 19,859 15,546 4,321 19,867 20,048 20,048 8,409 15,246 4,858 28,535 142,283 4,709 4,380 3 287 42,255 53,687 C F 3,460 24,930 506 2,876 1,139 1,338 2,143 3,696 4,599 7,057 3,436 11,026 696 926 4,271 820 409 124 154,689 с Ц 77.179 5 15,246 28,535 129,759 12,363 3,526 8,409 4,858 54,079 2,654 14,540 15,889 287 4,728 4,338 18,878 4.709 66,170 3 U L с Г æ Ú. Excavation Volume Per Meter (m3/m) Ground Grade of Tunnel 1-4 Tunnel Muck Disposal 5-1 Arch & Rib Concrete 5-3 Formwork for Invert 4-4 Lower Wiremesh Sub-total Sub-total 4-3 Upper Wiremesh Sub-total Sub-total Sub-total 5-5 Reinforcing Bar 5-4 Invert Concrete 5-2 Waterproofing Total 5 Concrete Lining 1-2 Lower Half 2-1 Upper Half 2-2 Lower Half 3-1 Upper Half 3-3 Lower Half 4-1 Upper Half 4-2 Lower Half 1-1 Upper Half Steel Support **3-2 Forepiling** Excavation I-3 Invert **Drain Pipe** 3 Rock Bolts **2** Shotcrete

Table TS-4 Unit Rate per Meter of Ground Grade at Ing-Yot Tunnel without Adit

													(Baht/m)	
Ground Grade of Tunnel	8		0	ប		8	<b>A</b>	DI	9	D2	H.	EI	E2	2
· · ·	F.C.	L.C.	F.C.	LC.	F.C.	r. L	F.C.	L.C.	F.C.	L.C.	F.C.	L.C.	F.C.	T.C.
1 Excavation			•											
Excavation Volume Per Meter (m3/m)	. 0	_	90.131	131	90.131	131	92	94,786	95,952	952	66	99.542	100.734	734
1-1 Upper Half	,	•	64,760	2,579	49,093	2,121	40,027	1,876	28,814	1,781	30,092	1,865	30,529	1,870
1-2 Lower Half	1	•	5,288	709	6,002	758	5,740	745	6,730	755	6,984	773	7,193	773
1-3 Invert	1	•	2,885	550	2,885	550	3,635	693	3,635	693	4,328	825	4,328	825
1-4 Tunnel Muck Disposal	1	•	5,502	1,082	5,502	1,082	5,783	1,138	5,856	1,152	6,076	1,195	6,149	1,210
Sub-total	1	-	78,435	4,920	63,482	4,511	55,185	4,452	45,035	4,381	47,480	4,658	48,199	4,678
2 Shotcrete							•	_	-					
2-1 Upper Half	•	•	15,597	3,026	16,861	3,061	22,360	4,665	29,080	5,261	29,450	5,355	35,340	6,662
2-2 Lower Half	,	ı	4,578	829	4,733	1,119	5,731	1,271	6,447	1,435	6,479	1,441	9,114	1,744
Sub-total			20,175	3,855	21,594	4,180	28,091	5,936	35,527	6,696	35,929	6,796	44,454	8,406
3 Rock Bolts 3.1 Traver Half			519.61	202 E	16.985	4431	34.385	10.205	34.385	10.205	34.385	10.205	9.043	3.552
2.2 Promilian	i . I	1									1		35 931	8.799
3-2 Forepung	•	† 1	3 576	1 1 1 4 0	4 321	1162	6 734	1.607	6 734	1 607	6 734	1.607	577.9	1.851
Libratel	,		17 141	4.846	21.306	5.593	41.119	11.812	41.119	11.812	41.119	11.812	51.749	14.202
4. Steel Support 4.1 Thmer Half	•	•		•	24.255	2,667	29,043	3,193	34,088	3,753	54,400	6,009	54,400	6,009
4-2 Lower Half	,	. 1	•		•	<b>.</b>	9,101	978	14,431	1,570	14,496	1,577	14,496	1,577
4-3 Upper Wiremesh		•		•	,		4,610	413	4,610	413	4,610	413	4,610	413
4-4 Lower Wiremesh	ł	•	1	ł	1	•	•	-	3,166	329	3,166	329	3,166	329
Sub-total	•	•		-	24,255	2,667	42,754	4,584	56,295	6,065	76,672	8,328	76,672	8,328
5 Concrete Lining									•					
5-1 Arch & Rib Concrete	· •	•	<b>6,384</b>	7,718	9,384	7,718	11,519	9,333	12,321	776'6	14,802	11,878	14,802	11,878
5-2 Waterproofing	1	•	15,972	504	15,972	504	15,972	504	15,972	504	18,975	504	18,975	504
5-3 Formwork for Invert	1	•	24	135	24	135	IE .	169	31	169	36	200	36	200
5-4 Invert Concrete	•		5,280	3,735	5,280	3,735	6,653	4,706	7,075	5,046	8,423	6,008	8,423	6,008
5-5 Reinforcing Bar	1	•	•	•		•	•		13,501	2,422	12,791	2,295	21,851	3,920
Sub-total	•	•	30,660	12,092	30,660	12,092	34,175	14,712	48,900	18,118	55,027	20,885	64,087	22,510
6 Drain Pipe	4	•	304	1,649	304	1,649	304	1,649	304	1,649	320	1,778	320	1,778
Total	•	•	146,715	27,362	161,601	30,692	201,628	43,145	227,180	48,721	256,547	54,257	285,481	59,902
		•		174,077		192,293		244.773		275,901		310,804		345,383

Table TS-5 Unit Rate per Meter of Ground Grade at Ing-Yot No.2 Tunnel with Adit

8,799 6,009 1,577 8,328 11,878 200 6,008 59,713 1,210 1,744 8,415 3,552 14,202 413 329 3,920 22,510 345,821 504 1,564 1,870 825 6,671 1.851 789 4,694 ני ג 100.734 ä 286,108 (Baht/m) 7,580 6,149 9,114 9,043 35,931 6,775 54,400 14,496 4,610 76,672 14,802 18,975 8,423 320 30,529 4,328 35,580 3,166 38 21,851 44,694 51,749 64,087 48,586 C H 6,008 11,878 54,136 1,865 1,195 5,373 1,503 6,876 10,205 1.607 11,812 6,009 1,577 413 329 8,328 504 20 2,295 20,885 1.564 311.857 786 825 4,671 U I 99.542 Е 30,092 7,438 6,076 6,734 54,400 14,496 4,610 14,802 18,975 8,423 55,027 4,328 29,930 6,719 34,385 3,166 76,672 36,649 41,119 36 12,791 320 48,614 257,721 47,934 Ú. 5,270 1,607 3,753 1,570 776,6 504 5,046 2,422 18,118 10,205 169 1,781 1,152 1,496 11,812 413 6,065 1,451 776 663 4,402 6,766 329 276,672 с Ц 95.952 ã 6,734 3,635 5,856 34,385 34,088 14,431 4,610 12,321 15,972 7,075 13,501 228,058 29,320 6,687 3.166 56,295 48.900 304 28,814 7,128 45,433 41,119 36,007 31 Ċ. 42,987 10,205 3,193 978 4,706 1,607 1,876 745 693 1,138 4,452 4,696 1,280 5.976 413 9,333 504 169 14.712 11,812 4.584 1,451 244,988 U L 94.786 ជ 3,635 34,385 41,119 11,519 15,972 5,740 22,493 6,734 29,043 4,610 304 202,001 40,027 5,783 5,971 28,464 9,101 42,754 33 6,653 34,175 55,185 C H 30,743 7,718 3,735 2,352 3,070 4,431 1,162 504 135 12,092 1,082 1,128 2,667 2,667 1,451 550 4,742 4,198 5,593 195,146 758 0 1 90.131 3 164,403 51,415 6,002 2,885 17,101 22,074 16,985 4,321 24,255 24,255 9,384 15,972 5,280 4,973 21,306 2 30,660 304 5,502 65,804 C. 7,718 3,735 12,092 27,310 3,035 1,139 1,082 3,707 504 135 2,579 550 5,054 3,867 4,846 1,451 175,748 843 832 U L 90.131 5 13,615 304 148,438 3,526 9,384 15,972 30,660 64,760 6,753 2,885 15,837 5,280 79,900 24 5,502 4,596 20,433 17,141 Ч. С. 143,310 25,485 5,395 2,002 3,707 7,718 3,735 11,997 1,451 168,795 550 1,068 2,935 409 135 2,850 933 3,707 927 С Г 88.995 m 30,438 72,283 9,384 15,750 5,272 2,885 10,343 13,615 13,615 5,280 304 5.429 85,869 2,741 24 13,084 F.C. Excavation Volume Per Meter (m3/m) Ground Grade of Tunnel 1-4 Tunnel Muck Disposal 5-1 Arch & Rib Concrete 5-3 Formwork for Invert 4-4 Lower Wiremesh 4-3 Upper Wiremesh Sub-total Sub-total Sub-total Sub-total Sub-total 5-5 Reinforcing Bar Total 5-2 Waterproofing 5-4 Invert Concrete Concrete Lining 4-2 Lower Haif 2-1 Upper Half 2-2 Lower Half 3-1 Upper Half 3-3 Lower Half 4-1 Upper Half 1-2 Lower Half 1-1 Upper Half 3-2 Forepiling Steel Support 3 Rock Bolts 6 Drain Pipe Excavation 1-3 Invert 2 Shotcrete

Table TS-6 Unit Rate per Meter of Ground Grade at Adit for Ing-Yot No.2 Tunnel

•	•												(Baht/m)	
Ground Grade of Tunnel	B	_	IJ.	-	ນ ເ	5	DI	I	a	D2	<b>E</b>	EI		E2
	F.C.	L.C.	F.C.	LC.	F.C.	L.C.	F.C.	Ľ.	F.C.	гс.	F.C.	L.C.	F.C.	L.C.
1 Excavation								÷						
Excavation Volume Per Meter (m3/m)		46.918	47.822	22	47.822	822	57.044	M4 .	57,972	172	60.274	274	60.	60.274
1-1 Upper Half	40,196	1,763	34,368	1,686	27,038	1,334	21,477	1,210	15,720	1,165	16,824	1,188	16,107	1,183
1-2 Lower Half	5,771	748	5,543	745	4,814	719	4,616	710	5,478	727	5,716	735	5,971	581
1-3 Invert	•	,		,	•	•	2,193	418	2,193	418	2,423	462	2,423	462
1-4 Tunnel Muck Disposal	2,867	564	2,922	575	2,922	575	3,483	685	3,538	696	3,678	724	3,678	724
Sub-total	48,834	3,075	42,833	3,006	34,774	2,628	31,769	3,023	26,929	3,006	28,641	3,109	28,179	2,950
2 Shotcrete														
2-1 Upper Half	7,785	1,649	11,379	1,986	12,558	2,424	16,457	3,261	19,990	3,584	20,192	3,606	24,410	4,615
2-2 Lower Half	3,144	749	4,152	927	4,237	932	5,993	1,116	8,872	1,751	8,295	1,770	9,290	1,942
Sub-total	10,929	2,398	15,531	2,913	16,795	3,356	22,450	4,377	28,862	5,335	28,487	5,376	33,700	6,557
3 Rock Bolts														
3-1 Upper Half	9,170	2,559	9,170	2,559	11,557	2,950	25,225	7,760	25,225	7,760	25,225	7,760	9,059	3,330
3-2 Forepiling	•	,	1	•	. <b>1</b>	•	. 1	•	•		ı	1	25,764	6,407
3-3 Lower Half	•	1	3,526	1,139	4,321	1,162	6,734	1,607	6,734	1,607	6,734	1,607	6,775	1,851
Sub-total	9,170	2,559	12,696	3,698	15,878	4,112	31,959	9,367	31,959	9,367	31,959	9,367	41,598	11,588
4 Steel Support									•	• .				
4-1 Upper Half	•	•	,	•	15,843	1,731	23,995	2,630	29,043	3,193	39,260	4,328	39,260	4,328
4-2 Lower Half		•	1	!	•		8,377	974	13,642	1,558	13,772	1,573	13,772	1,573
4-3 Upper Wiremesh	.,	. <b>'</b>	1	•			4,040	350	4,040	350	4,040	350	4,040	350
4-4 Lower Wiremesh	•	•		•	,	'		•	2,336	291	2,336	291	2,336	291
Sub-total	1		•	-	15,843	1,731	36,412	3,954	49,061	5,392	59,408	6,542	59,408	6,542
5 Concrete Lining					·* .									
5-1 Arch & Rib Concrete	7,694	6,472	7,694	6,472	7,694	6,472	9,473	161.7	10,128	8,318	12,397	9,912	12,397	9,912
5-2. Waterproofing	14,175	409	14,520	409	14,520	409	14,520	409	14,520	409	16,500	409	16,500	409
5-3 Formwork for Invert	•	•	•	•	•	. •	38	102	18	102	50	113	30	113
5-4 Invert Concrete	•	•		•	1	,	4,013	2,839	4,267	3,044	4,717	3,364	4,717	3,364
5-5 Reinforcing Bar	•	•	•	:	•	-	•		8,883	1,594	7,817	1,402	13,324	2,390
Sub-total	21,869	6,881	22,214	6,881	22,214	6,881	28,024	11,141	37,816	13,467	41,451	15,200	46,958	16,188
6 Drain Pipe	232	836	232	836	232	836	232.	836	232	836	244	904	244	904
Total	91,034	15,749	93,506	17,334	105,736	19,544	150,846	32,698	174,859	37,403	190,190	40,498	210,087	44,729
		106 783		110,840		125,280		183.544		212.262		230.688		254,816
		1 V U V												

Table TL. List of Unit Rate	e for Tunnel Works
-----------------------------	--------------------

Unit Foreign No. Item Local Total Location Currency Currency T-1 Excavation of Upper Half : Grade C1 54.079 56,222 Baht/m 2.143 Kok-Ing Tunnel T-2 Excavation of Upper Half : Grade C2 Baht/m 42,255 1,943 44,198 Kok-Ing Tunnel Excavation of Upper Half : Grade D1 33,422 1,729 т.3 Baht/m 35,151 Kok-Ing Tunnel T-4 Excavation of Upper Half : Grade D2 Baht/m 24.067 1,546 25,613 Kok-Ing Tunnel 26,908 т.5 Excavation of Upper Half : Grade E1 25,271 1,637 Baht/m Kok-Ing Tunnel **T-6** Excavation of Upper Half : Grade E2 Baht/m 25,708 1,712 27,420 Kok-Ing Tunnel T-7 Excavation of Upper Half : Grade B 72,283 2,850 Baht/m 75,133 Ing-Yot No.2 Tunnel with Adit T-8 Excavation of Upper Half : Grade C1 Baht/m 64,760 2,579 67,339 Ing-Yot No.2 Tunnel with Adit т-9 Excavation of Upper Half : Grade C2 Baht/m 51,415 2,352 53,767 Ing-Yot No.2 Tunnel with Adit T-10 Excavation of Upper Half : Grade D1 40,027 Baht/m 1,876 41,903 Ing-Yot No.2 Tunnel with Adit T-11 28,814 Excavation of Upper Half : Grade D2 Baht/m 1,781 30,595 Ing-Yot No.2 Tunnel with Adit T-12 Excavation of Upper Half : Grade E1 Baht/m 30,092 1,865 31,957 Ing-Yot No.2 Tunnel with Adit T-13 Excavation of Upper Half : Grade E2 30,529 Baht/m 1,870 32,399 Ing-Yot No.2 Tunnel with Adit T-14 Excavation of Upper Half : Grade C1 Baht/m 64,760 2,579 67.339 Ing-Yot Tunnel without Adit T-15 Excavation of Upper Half : Grade C2 Babt/m 49,093 51,214 2.121 Ing-Yot Tunnel without Adit **T-16** Excavation of Upper Half : Grade D1 Baht/m 40,027 41,903 1.876 Ing-Yot Tunnel without Adit **T-17** Excavation of Upper Half : Grade D2 Baht/m 28,814 1,781 30,595 Ing-Yot Tunnel without Adit T-18 Excavation of Upper Half : Grade E1 Baht/m 30,092 1.865 31.957 Ing-Yot Tunnel without Adit Excavation of Upper Half : Grade E2 30,529 T-19 Baht/m 1,870 32,399 Ing-Yot Tunnel without Adit T-20 Excavation of Upper Half : Grade B Baht/m 40,196 1.763 41,959 Adit for Ing-Yot No.2 Tunnel Excavation of Upper Half : Grade C1 Baht/m 34.368 T-21 1,686 36,054 Adit for Ing-Yot No.2 Tunnel 1,334 27,038 28,372 T-22 Excavation of Upper Half : Grade C2 Baht/m Adit for Ing-Yot No.2 Tunnel 21,477 1,210 T-23 Excavation of Upper Half : Grade D1 Baht/m 22,687 Adit for Ing-Yot No.2 Tunnel T-24 Excavation of Upper Half : Grade D2 Baht/m 15,720 1,165 16,885 Adit for Ing-Yot No.2 Tunnel T-25 Excavation of Upper Half : Grade E1 Baht/m 16,824 1,188 18,012 Adit for Ing-Yot No.2 Tunnel T-26 Excavation of Upper Half : Grade E2 Baht/m 16,107 1.183 17,290 Adit for Ing-Yot No.2 Tunnel T-27 Excavation of Lower Half : Grade C1 Baht/m 4,728 696 5,424 Kok-Ing Tunnel T-28 Excavation of Lower Half : Grade C2 4.069 675 4,744 Baht/m Kok-ing Tunnel 619 4,573 T-29 Excavation of Lower Half : Grade D1 3.954 Baht/m Kok-Ing Tunnel 5,443 T-30 Excavation of Lower Half : Grade D2 4,752 691 Baht/m Kok-Ing Tunnel 4,959 T-31 Excavation of Lower Half : Grade E1 Baht/m 698 5,657 Kok-Ing Tunnel T-32 Excavation of Lower Half : Grade E2 Baht/m 4,959 698 5,657 Kok-ing Tunnel Excavation of Lower Half : Grade B 927 T-33 Baht/m 5.272 6,199 Ing-Yot No.2 Tunnel with Adit T-34 Excavation of Lower Half : Grade C1 Baht/m 6,753 843 7,596 Ing-Yot No.2 Tunnel with Adit T-35 Excavation of Lower Half : Grade C2 Baht/m 6,002 758 6,760 Ing-Yot No.2 Tunnel with Adit T-36 Excavation of Lower Half : Grade D1 5.740 745 6,485 Baht/m Ing-Yot No.2 Tunnel with Adit T-37 Excavation of Lower Half : Grade D2 Baht/m 7.128 776 7,904 Ing-Yot No.2 Tunnel with Adit T-38 7,438 786 Excavation of Lower Half : Grade E1 Baht/m 8.224 Ing-Yot No.2 Tunnel with Adit 7,580 789 T-39 Excavation of Lower Half : Grade E2 Baht/m 8,369 Ing-Yot No.2 Tunnel with Adit T-40 Excavation of Lower Half : Grade C1 Baht/m 5.288 709 5.997 Ing-Yot Tunnel without Adit T-41 Excavation of Lower Half : Grade C2 Baht/m 6,002 758 6,760 Ing-Yet Tunnel without Adit T-42 Excavation of Lower Half : Grade D1 Bant/m 5,740 745 6.485 Ing-Yot Tunnel without Adit 7,485 T-43 Excavation of Lower Half : Grade D2 6.730 755 Baht/m Ing-Yot Tunnel without Adit 6,984 7,757 T-44 Excavation of Lower Half : Grade E1 773 Baht/m Ing-Yot Tunnel without Adit Ť-45 Excavation of Lower Half : Grade E2 Baht/m 7,193 773 7,966 Ing-Yot Tunnel without Adit T-46 Excavation of Lower Half : Grade B Baht/m 5,771 748 6.519 Adit for Ing-Yot No.2 Tunnel T-47 Excavation of Lower Half : Grade C1 Baht/m 5,543 745 6,288 Adit for Ing-Yot No.2 Tunnel Excavation of Lower Half : Grade C2 719 5.533 T-48 Baht/m 4.814 Adit for Ing-Yot No.2 Tunnel T-49 Excavation of Lower Half : Grade D1 Baht/m 4,616 710 5,326 Adit for Ing-Yot No.2 Tunnel 727 T-50 Excavation of Lower Half : Grade D2 Baht/m 5,478 6,205 Adit for Ing-Yot No.2 Tunnel Excavation of Lower Half : Grade E1 5,716 735 T-51 Baht/m 6.451 Adit for Ing-Yot No.2 Tunnel Excavation of Lower Half : Grade E2 Baht/m 5,971 581 6,552 T-52 Adit for Ing-Yot No.2 Tunnel

(1/12)

(2/12)

No.	Item	Unit	Foreign	Local	Total	Location
		ļ	Currency	Currency		
г-53	Excavation of Invert	Baht/m3	577	110	687	Kok-Ing & Ing-Yot
r-54	Excavation of Invert per Meter					Kok-Ing & Ing-Yot
T-54-1	Grade C1	Baht/m	2,654	506	3,160	Kok-Ing Tunnel
T-54-2	Grade C2	Baht/m	2,654	506	3,160	Kok-lng Tunnel
T-54-3	Grade D1	Baht/m	3,289	627	3,916	Kok-Ing Tunnel
T-54-4	Grade D2	Baht/m	3,289	627	3,916	Kok-Ing Tunnel
T-54-5	Grade E1	Baht/m	3,981	759	4,740	Kok-Ing Tunnel
T-54-6	Grade E2	Baht/m	3,981	759	4,740	Kok-Ing Tunnel
T-54-7	Grade C1	Baht/m	2,885	550	3,435	Ing-Yot Tunnel without Adit
т-54-8	Grade C2	Baht/m	2,885	550	3,435	Ing-Yot Tunnel without Adit
T-54-9	Grade D1	Baht/m	3,635	E I	4,328	Ing-Yot Tunnel without Adit
[-54-10	Grade D2	Baht/m	3,635		4,328	Ing-Yot Tunnel without Adit
r-54-11	Grade E1	Baht/m	4,328	1	5,153	Ing-Yot Tunnel without Adit
<b>F-54-1</b> 2	Grade E2	Baht/m	4,328		5,153	Ing-Yot Tunnel without Adit
r-54-13	Grade B	Baht/m	2,885		3,435	Ing-Yot No.2 Tunnel with Ac
r-54-14	Grade C1	Babt/m	2,885		3,435	
F-54-1:	Grade C2	Baht/m	2,885		i	1 ··· *
r-54-1	6 Grade D1	Baht/m	3,635	1	4,328	
T-54-1	7 Grade D2	Babt/m	3,635		4,328	F 4 4 4 4 4
T-54-1	8 Grade El	Baht/m			5,153	
T-54-1	9 Grade E2	Baht/m	4,328		5,153	
T-54-2	o Grade D1	Baht/m	2,193			1
T-54-2	a Grade D2	Babt/m	2,193	1	ļ	
T-54-2	2 Grade E1	Baht/m				
T-54-2	3 Grade E2	Babt/m			1	
T-55		Babt/m	3 6	1 12	7	
T-56	Tunnel Muck Disposal per Meter			_		Kok-Ing & Ing-Yot
T-56	-1 Grade C1	Baht/n		ł	1 .	_
T-56	-2 Grade C2	Baht/n				
T-56	-3 Grade D1	Babt/n	1		-	
T-56	-4 Grade D2	Baht/n		L		
T-56		Baht/n				
T-56		Baht/r			-1	
T-56	-	Baht/r		1		
T-56		Baht/r				
T-56		Babt/r		1 · ·		
T-56-		Baht/1			1	
T-56-		Baht/				
T-56		Baht/				
T-56		Baht/			1	
T-56		Baht				[1] A. C. Martin, M. M. Martin, M Martin, M. Martin, M. Ma Martin, M. Martin, M. Mart
T-56		Baht		ł		<ul> <li>More than the provided state of the second state of t</li></ul>
T-56	1	Baht/				
T-56		Baht	1	1 .		
T-56		Baht		i i		
T-56		Baht				
T-56	1	Baht				
T-56		Baht		l.	75 3,4	
T-56	-22 Grade C2	Baht	1		75 3,4	
		Baht	/m.l 3.4	83 64	85 4,1	68 Adit for Ing-Yot No.2 Tut
T-56	-23 Grade D1					<b></b>
		Baht	/m 3,5	38 6	96 4,2 24 4,4	A second se Second second sec second second sec

Table IL. List of Onic Mate tor Kunner House	Table TL.	List of Unit Rate for Tunnel Works
--	-----------	------------------------------------

(3/12)

	No.	Item	Unit	Foreign	Local	Total	Location
	110.	Itela		Currency	Currency		2000000
F	P. 67	Shatanta of Dones Half & Conde Ct	Baht/m	14,540	2,876	17,416	Kok-Ing Tunnel
	1	Shotcrete of Upper Half : Grade C1	Baht/m	15,479	2,870	18,376	Kok-Ing Tunnel
ł		Shotcrete of Upper Half : Grade C2	Baht/m	20,637	4,356	24,993	Kok-ing Tunnel
	1	Shotcrete of Upper Half : Grade D1		25,437	4,831	30,268	Kok-Ing Tunnel
	,	Shotcrete of Upper Half : Grade D2	Baht/m		4,876	30,515	Kok-Ing Tunnel
		Shotcrete of Upper Half : Grade E1	Baht/m	25,639	6,246	38,992	Kok-Ing Tunnel
		Shotcrete of Upper Half : Grade E2	Baht/m	32,746	3,026	18,623	Ing-Yot Tunnel without Adit
		Shotcrete of Upper Half : Grade C1	Baht/m	15,597	3,061	19,922	-
	T-64	Shotcrete of Upper Half: Grade C2	Baht/m	16,861	-		Ing-Yot Tunnel without Adit
	T-65	Shotcrete of Upper Half : Grade D1	Baht/m	22,360	4,665	27,025	Ing-Yot Tunnel without Adit Ing-Yot Tunnel without Adit
	T-66	Shotcrete of Upper Half : Grade D2	Baht/m	29,080	5,261	34,341	Ing-Yot Tunnel without Adit
		Shotcrete of Upper Half : Grade E1	Baht/m	29,450	5,355	34,805	
	T-68	Shotcrete of Upper Half : Grade E2	Baht/m	35,340	6,662	42,002	Ing-Yot Tunnel without Adit
	T-69	Shotcrete of Upper Half : Grade B	Baht/m	10,343	2,002	12,345	Ing-Yot No.2 Tunnel with Adit
		Shotcrete of Upper Half : Grade Cl	Baht/m	15,837	3,035	18,872	Ing-Yot No.2 Tunnel with Adit
		Shotcrete of Upper Half : Grade C2	Baht/m	17,101	3,070	20,171	Ing-Yot No.2 Tunnel with Adit
1	T-72	Shotcrete of Upper Half : Grade D1	Baht/m	22,493		27,189	Ing-Yot No.2 Tunnel with Adit
		Shotcrete of Upper Half : Grade D2	Baht/m	29,320	5,270	34,590	Ing-Yot No.2 Tunnel with Adit
	T-74	Shotcrete of Upper Half : Grade E1	Baht/m	29,930	1 1	35,303 42,251	Ing-Yot No.2 Tunnel with Adit
	T-75	Shotcrete of Upper Half : Grade E2	Baht/m	35,580	1	42,231 9,434	Ing-Yot No.2 Tunnel with Adit
	T-76	Shotcrete of Upper Half : Grade B	Baht/m	7,785		13,365	Adit for Ing-Yot No.2 Tunnel Adit for Ing-Yot No.2 Tunnel
	T-77	Shotcrete of Upper Half : Grade C1	Babt/m	11,379	}	13,503	Adit for Ing-Yot No.2 Tunnel
1	T-78	Shotcrete of Upper Half : Grade C2	Baht/m	12,558	1	19,718	Adit for Ing-Yot No.2 Tunnel
	T-79	Shotcrete of Upper Half : Grade D1	Baht/m	16,457	-	23,574	
	T-80	Shotcrete of Upper Half : Grade D2	Baht/m	19,990 20,192		23,798	-
	T-81	Shotcrete of Upper Half : Grade E1	Baht/m Baht/m	20,192	1	29,025	Adit for Ing-Yot No.2 Tunnel
┢	T-82	Shotcrete of Upper Half : Grade E2	Baht/m	4,338	· · · · · · · · · · · · · · · · · · ·	5,158	
	T-83	Shotcrete of Lower Half : Grade C1	Baht/m	4,380		5,202	
	T-84	Shotcrete of Lower Half : Grade C2	Baht/m	5,491		6,753	
	T-85	Shotcrete of Lower Half : Grade D1 Shotcrete of Lower Half : Grade D2	Baht/m	6,447		7,882	
	T-86	Shotcrete of Lower Half : Grade E1	Baht/m	6,447	1	7,882	
	T-87	Shotcrete of Lower Half : Grade E2	Baht/m	7,963		9,604	
-	T-88 T-89	Shotcrete of Lower Half : Grade C2 Shotcrete of Lower Half : Grade C1	Babt/m	4,578		5,407	
	T-99	Shotcrete of Lower Half : Grade C2	Babt/m	4,733	1.		
	T-91	Shotcrete of Lower Half : Grade C2	Baht/m	5,731		7,002	
	T-92	Shotcrete of Lower Half : Grade D2	Baht/m	6,447	1		
	T-92 T-93	Shotcrete of Lower Half : Grade E1	Baht/m	6,479			
	T-94	Shotcrete of Lower Half : Grade E2	Baht/m	9,114			
. 'F	T-95	Shotcrete of Lower Half : Grade B	Baht/m	2,741			······································
	T-95 T-96	Shotcrete of Lower Half : Grade Cl	Baht/m	4,596	1 ·		1 7
	T-97	Shotcrete of Lower Half : Grade C1	Baht/m	4,97	1	1	
	T-97 T-98	Shotcrete of Lower Half : Grade C2 Shotcrete of Lower Half : Grade D1	Baht/m		1	1	• • • • • • • • • • • • • • • • • • •
	T-90	Shotcrete of Lower Half : Grade D2	Baht/m	6,68	1 1 1		1 Tale
·	T-100	1 States in the second state	Baht/m	6,719		1	
	T-100		Baht/m		1 1		
┢	T-101 T-102		Babt/m	3,14			
	T-102		Baht/m				
			Baht/m	4	1		
	T-104		Baht/m	1		-	
	T-105		Baht/m	1		-	
	T-106		Baht/m	1			
	T-107		Baht/m	1 1 1 2 2 2	1		[1] A. Martin et al. And the second secon
_ L	T-108	Subicicie of Lower Hall : Grade 62					

Table TL. L	ist of Unit	Rate for	Tunnel	Works
-------------	-------------	----------	--------	-------

		r			r	
No.	Item	Unit	Foreign	Local	Total	Location
			Currency	Currency		
T-109	Rock Bolts of Upper Half : Grade C1	Baht/m	12,363	3,460	15,823	Kok-Ing Tunnel
	Rock Bolts of Upper Half : Grade C2	Baht/m	15,546	4,156	19,702	Kok-Ing Tunnel
T-111	Rock Bolts of Upper Half : Grade D1,D2,E1	Baht/m	32,010	9,328	41,338	Kok-Ing Tunnel
T-112	Rock Bolts of Upper Half : Grade E2	Baht/m	9,043	3,552	12,595	Kok-Ing Tunnel
T-113	Rock Bolts of Upper Half : Grade E2, Forepilin	Baht/m	33,414	8,448	41,862	Kok-Ing Tunnel
T-114	Rock Bolts of Upper Half : Grade Cl	Baht/m	13,615	3,707	17,322	Ing-Yot Tunnel
T-115	Rock Bolts of Upper Half : Grade C2	Baht/m	16,985	4,431	21,416	Ing-Yot Tunnel
T-116	Rock Bolts of Upper Half : Grade D1, D2, E1	Baht/m	34,385		1 1	Ing-Yot Tunnel
T-117	Rock Bolts of Upper Half : Grade E2	Babt/m	9,043	3,552	12,595	Ing-Yot Tunnel
T-118	Rock Bolts of Upper Half : Grade E2 Forepiling	Baht/m	35,931	8,799	44,730	Ing-Yot Tunnel
T-119	Rock Bolts of Upper Half : Grade B	Baht/m	13,615	3,707	17,322	Ing-Yot No.2 Tunnel with Adit
T-120	Rock Bolts of Upper Half : Grade C1	Baht/m	9,170	2,559	11,729	Adit for Ing-Yot No.2 Tunnel
T-121	Rock Bolts of Upper Half : Grade C2	Baht/m	11,557	2,950	14,507	Adit for Ing-Yot No.2 Tunnel
T-122	Rock Bolts of Upper Half : Grade D1, D2, E1	Baht/m	25,225	7,760	32,985	Adit for Ing-Yot No.2 Tunnel
T 123	Rock Bolts of Upper Half : Grade E2	Baht/m	9,059	3,330	12,389	Adit for Ing-Yot No.2 Tunnel
T-124	Rock Bolts of Upper Half : Grade E2, Forepilin	Baht/m	25,764	6,407	32,171	Adit for Ing-Yot No.2 Tunnel
T-125		Baht/m	9,170	2,559	11,729	Adit for Ing-Yot No.2 Tunnel
T-126		Baht/m	3,520	1,139	4,665	Kok-Ing, Ing-Yot & Adit
T-127		Baht/m	4,321	1,162	2 5,483	Kok-Ing, Ing-Yot & Adit
T-128		Baht/m	6,734	1,60	7 8,341	Kok-Ing, Ing-Yot & Adit
T-129		Baht/m	6,77	1,851	l 8,626	Kok-Ing, Ing-Yot & Adit
T-130		Baht/ro	20,04	3 2,19	3 22,246	Kok-Ing Tunnel
T-131		Baht/m	29,04	3 3,19	3 32,236	Kok-Ing Tunnel
T-132		Baht/m	34,08	8 3,75	3 37,841	Kok-Ing Tunnei
T-133		Baht/m	49,35	4 5,44	9 54,803	Kok-lng Tunnel
T-134		Baht/m	49,35	4 5,44	9 54,803	Kok-Ing Tunnel
T-135		Babt/m	24,25	5 2,66	7 26,922	Ing-Yot Tunnel
T-136		Baht/m	29,04	3 3,19	3 32,236	Ing-Yot Tunnel
T-137		Babt/m	34,08	8 3,75	3 37,841	Ing-Yot Tunnel
T-138		Baht/m	54,40	6,00	9 60,409	Ing-Yot Tunnel
T-139		Baht/m	54,40	0 6,00	9 60,409	lng-Yot Tunnei
T-14		Baht/m	15,84	3 1,73	1 17,574	Adit for Ing-Yot No.2 Tunnel
T-14		Baht/m	23,99	5 2,63	0 26,62	Adit for Ing-Yot No.2 Tunnel
T-14		Baht/m	29,04	3 3,19	32,23	5 Adit for Ing-Yot No.2 Tunnel
T-14		Babt/m	39,20	0 4,32	43,58	Adit for Ing-Yot No.2 Tunnel
T-14	1 States and a second secon	Baht/m	39,20	0 4,32	43,58	8 Adit for Ing-Yot No.2 Tunnel
T-14		Baht/m	8,8	76 95	53 9,82	9 Kok-ing Tunnel
T-14		Baht/n	13,9	1,52	20 15,50	4 Kok-Ing Tunnel
T-14		Baht/n	n 14,0	16 1,52	27 15,57	3 Kok-Ing Tunnel
T-14		Babt/n	a 9,1	01 9	78 10,07	9 Ing-Yot Tunnel
T-14		Baht/n	n 14,4	31 1,5	70 16,00	1 Ing-Yot Tunnel
T-15		Baht/r		96 1,5'	77 16,07	3 Ing-Yot Tunnel
T-15		Baht/r		77 9	74 9,35	1 Adit for Ing-Yot No.2 Tunnel
T-15		Baht/r			58 15,20	0 Adit for Ing-Yot No.2 Tunnel
T-15		Babt/r	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 A A A	·	5 Adit for Ing-Yot No.2 Tunnel
T-15		Baht/r			68 4,57	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
	5 Lower Wiremesh : Grade D2,E1,E2	Baht/		1 1 1 1 A	01 2,7	
T-15		Baht/1			13 5,02	23 ing-Yot Tunnel
T-15		Baht/			29 3,49	95 Ing-Yot Tunnel
·		Baht/			50 4,3	
T-1	59 Lower Wiremesh : Grade D2,E1,E2	Baht/			91 2,6	
<b>I</b> -1	by LOWER WITCHIESH : Grade D2,E1,E2	L Daniy	<u></u>	<u> </u>	<u> </u>	

(4/12)

## Table TL. List of Unit Rate for Tunnel Works

(5/12)

No.	Item	Unit	Foreign	Local	Total	Location
			Currency	Currency		
T-160	Arch & Rib Concrete Lining : Grade C1,C2	Baht/m	8,409	7,057	15,466	Kok-Ing Tunnel
T-161	Arch & Rib Concrete Lining : Grade D1	Baht/m	10,366	8,521	18,887	Kok-Ing Tunnel
T-162	Arch & Rib Concrete Lining : Grade D2	Baht/m	11,091	9,104	20,195	Kok-Ing Tunnel
T-163	Arch & Rib Concrete Lining : Grade E1,E2	Baht/m	13,551	10,855	24,406	Kok-Ing Tunnel
T-164	Arch & Rib Concrete Lining : Grade B,C1,C2	Baht/m	9,384	7,718	17,102	Ing-Yot Tunnel
T-165	Arch & Rib Concrete Lining : Grade D1	Baht/m	11,519	9,333	20,852	Ing-Yot Tunnel
T-166	Arch & Rib Concrete Lining : Grade D2	Baht/m	12,321	9,977	22,298	Ing-Yot Tunnel
T-167		Babt/m	14,802	11,878	26,680	Ing-Yot Tunnel
T-168		Baht/m	7,694		14,166	Adit for Ing-Yot No.2 Tunnel
T-169		Baht/m	9,473	7,791	17,264	Adit for Ing-Yot No.2 Tunnel
T-170		Baht/m	10,128	8,318	18,446	Adit for Ing-Yot No.2 Tunnel
T-171		Babt/m	12,397	9,912	22,309	Adit for Ing-Yot No.2 Tunnel
T-172		Baht/m	15,246		15,655	Kok-Ing Tunnel
T-173		Baht/m	17,325	409	17,734	Kok-Ing Tunnei
T-174	······································	Babt/m	15,750	409	16,159	Ing-Yot No.2 Tunnel with Adit
T-175		Babt/m	15,972		16,476	Ing-Yot Tunnel
T-176		Baht/m	18,975		19,479	Ing-Yot Tunnel
T-177		Baht/m	14,175		14,584	Adit for Ing-Yot No.2 Tunnel
T-178		Baht/m	14,520		14,929	Adit for Ing-Yot No.2 Tunnel
T-179	· · ·	Baht/m	16,500	1	16,909	Adit for Ing-Yot No.2 Tunnel
T-180		Baht/m2	51	282	333	Kok-Ing & Ing-Yot
T-181		Dadymiz				Kok-ing & ing-Yot
T-181		Babt/m	22	124	146	-
T-181	1	Baht/m	22	f ·	1	, e
T-181		Baht/m	28	1.1	1	-
T-181		Baht/m	28	1		
T-181		Baht/m	34		1	
T-181		Baht/m	34	1	1 .	
T-181		Baht/m	24			· · · · · · · · · · · · · · · · · · ·
T-181		Baht/m	24			1 - · ·
T-181		Baht/m	31		1	
T-181-		Baht/m	31			
T-181-		Babt/m	36	1	1 · · ·	
T-181-		Baht/m	36	1		, v
T-181-		Baht/m	24			
T-181-		Baht/m	24	· · ·	1	
T-181-	a state of the second se	Baht/m	24			1 -
		Baht/m	31			
T-181-		Baht/m	31		F	
T-181-		Baht/m	30	1	1 . · · · · · · · · · · · · · · · · · ·	
T-181		Baht/m	30		· ·	
T-181-		Baht/m	18		+	· · · · · · · · · · · · · · · · · · ·
T-181						1
T-181		Baht/m Baht/m	2	1		
T-181		1 1	2		-1	1
T-181	the second s	Baht/m				
T-18		Baht/m3	4	1		
T-18	3 Invert Concrete Lining : Grade D2,E1,E2	Baht/m3	1,12	3 80:	1,924	1 POX+1118 or 118-101

(6/12)

No.	Item	Unit	Foreign	Local	Total	Location
		•	Currency	Currency		· · · · · · · · · · · · · · · · · · ·
T-184	Invert Concrete Lining per Meter					Kok-Ing & Ing-Yot
T-184-1	Grade C1	Baht/m	4,858	3,436	8,294	Kok-Ing Tunnel
T-184-2	Grade C2	Baht/m	4,858	3,436	8,294	Kok-Ing Tunnel
T-184-3	Grade D1	Baht/m	6,019	4,258	10,277	Kok-Ing Tunnel
T-184-4	Grade D2	Baht/m	6,401	4,566	10,967	Kok-Ing Tunnel
T-184-5	Grade E1	Babt/m	7,749	5,527	13,276	Kok-ing Tunnel
T-184-6	Grade E2	Baht/m	7,749	5,527	13,276	Kok-Ing Tunnel
T-184-7	Grade C1	Baht/m	5,280	3,735	9,015	Ing-Yot Tunnel without Adit
T-184-8	Grade C2	Baht/m	5,280	3,735	9,015	Ing-Yot Tunnel without Adit
T-184-9	Grade D1	Baht/m	6,653	4,706	11,359	Ing-Yot Tunnel without Adit
T-184-10	Grade D2	Baht/m	7,075	5,046	12,121	Ing-Yot Tunnel without Adit
T-184-11	Grade E1	Baht/m	8,423	6,008	14,431	Ing-Yot Tunnel without Adit
T-184-12	Grade E2	Baht/m	8,423	6,008	14,431	Ing-Yot Tunnel without Adit
T-184-13	Grade B	Baht/m	5,280	3,735	9,015	Ing-Yot No.2 Tunnel with Adit
T-184-14	Grade C1	Baht/m	5,280	3,735	9,015	Ing-Yot No.2 Tunnel with Adit
T-184-15	Grade C2	Babt/m	5,280	3,735	9,015	Ing-Yot No.2 Tunnel with Adit
T-184-16	Grade D1	Baht/m	6,653	4,706	11,359	Ing-Yot No.2 Tunnel with Adit
T-184-17	Grade D2	Baht/m	7,075	5,046	12,121	Ing-Yot No.2 Tunnel with Adit
T-184-18	Grade E1	Baht/m	8,423	6,008	14,431	Ing-Yot No.2 Tunnel with Adit
T-184-19	Grade E2	Baht/m	8,42	6,008	14,431	Ing-Yot No.2 Tunnel with Adit
T-184-20	Grade D1	Baht/m	4,013	2,839	6,852	Adit for Ing-Yot No.2 Tunnel
T-184-21	Grade D2	Baht/m	4,261	3,044	7,311	Adit for Ing-Yot No.2 Tunnel
T-184-22	Grade E1	Baht/m	4,71	7 3,364	8,081	Adit for Ing-Yot No.2 Tunnel
T-184-2	Grade E2	Babt/m	4,71	7 3,364	8,081	Adit for Ing-Yot No.2 Tunnel
T-185	Reinforced Bar/ton ; Grade D2,E1,E2	Babi/tor	17,76	5 3,187	20,952	Kok-Ing & Ing-Yot
T-186	Reinforced Bar per Meter : Grade D2,E1,E2					Kok-Ing & Ing-Yot
T-186-	Grade D2	Baht/m	12,43	1 .	14,667	Kok-Ing Tunnel
T-186-	2 Grade El	Baht/m	11,54	7 2,072		Kok-Ing Tunnel
T-186-	3 Grade E2	Baht/m	19,89			Kok-Ing Tunnel
T-186-	4 Grade D2	Babt/m	-			A set of the set of
T-186-	5 Grade El	Baht/m	12,79	1 ·	1 .	
T-186	6 Grade E2	Babt/m	-			Ing-Yot Tunnel without Adit
T-186-		Babt/n		1		
T-186		Baht/n			1.	11 T 1 1
T-186		Babt/n		1		
T-186-1	0 Grade D2	Baht/n	4 .			and the second
T-186-1		Babt/n		1		1
T-186-		Baht/n				
T-18		Baht/r				
T-18		Baht/r				
T-18		Baht/r		1,64 1,64	1 1	
T-19		Baht/1		20 1,77		
T-19		Baht/r	·   · _	1,45		
T-19		Baht/1		20 1,56		
T-19		Babt/		32 83		
T-19	4 Drain Pipe : Grade E1,E2	Baht/	m   2	44 90	4 1,14	8 Adit for Ing-Yot No.2 Tunnel

#### Table TL. List of Unit Rate for Tunnel Works

(7/12)

Г	No.	Item	Unit	Foreign	Local	Total	Location
				Currency	Currency		
┢		Temporary Works of Tunnel					
		Receiving & Distribution Facilities for Electric Supp	Baht/Station	10,729,000	484,000	11,213,000	Kok-Ing No.1 Tunnel
		Receiving & Distribution Facilities for Electric Supp			801,000	14,404,000	Kok-Ing No.2 Tunnel
		Receiving & Distribution Facilities for Electric Supp			342,000	9,754,000	Ing-Yot No.1 Tunnel
		Receiving & Distribution Facilities for Electric Supp			732,000	13,715,000	Ing-Yot No.2 Tunnel Div.1
		Receiving & Distribution Facilities for Electric Supp			706,000	17,994,000	Ing-Yot No.2 Tunnel Div.2
	1	Receiving & Distribution Facilities for Electric Supp			825,000	19,202,000	Ing-Yot No.2 Tunnel Div.3
		Receiving & Distribution Facilities for Electric Supp				22,626,000	Ing-Yot No.2 Tunnel Div.4
		Receiving & Distribution Facilities for Electric Supp			967,000	20,656,000	Ŭ
	1	Receiving & Distribution Pacifics for Electric Supp			961,000	20,589,000	-
		Receiving & Distribution Facilities for Electric Supp.			911,000	20,100,000	Ing-Yot No.2 Tunnel Div.7
		Receiving & Distribution Facilities for Electric Supp				17,642,000	Ing-Yot No.2 Tunnel Div.8
		Receiving & Distribution Facilities for Electric Supp				13,735,000	-
		Receiving & Distribution Facilities for Electric Supp			}	3,050,000	
						2,773,000	
		Receiving & Distribution Facilities for Electric Supp				3,326,000	Adit No.3
	1	Receiving & Distribution Facilities for Electric Supp				4,655,000	
		Receiving & Distribution Facilities for Electric Supp				3,721,000	
	•	Receiving & Distribution Facilities for Electric Supp	1			4,932,000	· · ·
		Receiving & Distribution Facilities for Electric Supp				3,680,000	· · · ·
+		Receiving & Distribution Facilities for Electric Supp	Balt/Station	3,314,000	300,000	5,060,000	Kok-lng & Ing-Yot Tunnel
		Electric Charge of Lighting for Tunnel		0	31,788,000	31,788,000	
		Kok-Ing No.1 Tunnel	Baht/Station			47,094,000	
		Kok-Ing No.2 Tunnel	Balit/Station			21,192,000	
	1	Ing-Yot No.1 Tunnel	Baht/Statio			51,213,000	
	· .	Ing-Yot No.2 Tunnel Division 1	Babt/Station		,,	42,237,000	
	T-214-5	Division 2	Baht/Station			43,266,000	1 1
	T-214-6	Division 3	Balit/Station		{	43,266,000	
	T-214-7	Division 4	Baht/Station	] [		43,200,000	
	T-214-8	Division 5	Baht/Static			40,176,000	
	T-214-9	Division 6	Bahi/Statio			35,025,000	
	T-214-10		Bairt/Statio				1
	T-214-11		Baht/Statio	1			
	T-214-12		Baht/Statio	· · .		51,213,000	
		Ing-Yot No.2 Tunnel Adit No.1	Baht/Statio	· ·	17,514,000	17,514,000	
	T-214-14		Baln/Statio				
	T-214-15	· · · · · · · · ·	Balat/Statio				
	T-214-16		Baht/Statio			22,665,000	
	T-214-17	) · · · · · · · · · · · · · · · · · · ·	Baht/Statio			19,572,000	1
	T-214-18		Baht/Statio				
	T-214-19		Baht/Statio	n (	19,572,000	19,572,000	Kok-Ing & Ing-Yot Tunnel
		Electric Charge of Ventilation for Tunnel			0 514 000	8,514,000	
		Kok-Ing No.1 Tunnel	Bakt/Static			i	
1		Kok-Ing No.2 Tunnel	Baht/Static				
•		Ing-Yot No.1 Tunnel	Babt/Static	1	5,676,000		
		Ing-Yot No.2 Tunnel Division 1	Balat/Static		13,719,000	E .	
	T-215-5		Baht/Static		0 11,313,000	1	
	T-215-6		Baht/Static	}	11,589,000	1	
. '	T-215-7		Babt/Static		11,589,000	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	
. '	T-215-	↓	Babt/Static		0 9,933,000	]	
	T-215-9	1 Second and the second sec	Baht/Static		0 10,761,000		
	T-215-10		Baht/Statie		9,381,000		
;	T-215-1		Babt/Statis		0 11,037,000	· ·	
. :	T-215-1	2 Division 9	Baht/Stati	<b>x</b>	0 13,719,000	13,719,00	וע

Table TL. List of Un	it Rate for Tunnel	Works
----------------------	--------------------	-------

(8/12)

No.	Item	Unit	Foreign	Local	Total	Location
			Currency	Currency		
F-215-13	Ing-Yot No.2 Tunnel Adit No.1	Baht/Station	0	4,692,000	4,692,000	
-215-14	Adit No.2	Baht/Station	. 0	4,416,000	4,416,000	
-215-15	Adit No.3	Babi/Station	0	4,968,000	4,968,000	· · · ·
-215-16	Adit No.4	Baht/Station	0	6,072,000	6,072,000	
-215-17	Adit No.5	Babt/Station	0	5,244,000	5,244,000	
T-215-17		Baht/Station	0	6,348,000	6,348,000	
T-215-18	Adit No.7	Baht/Station	0	5,244,000	5,244,000	
	Installation & Dismantling of Air Pipe for Ventilation		652	99	751	Kok-Ing & Ing-Yot Tunnel
	Installation & Dismantling of Air Pipe for Vent					Kok-Ing & Ing-Yot Tunnel
	Kok-Ing No.1 Tunnel	Baht/Station	2,086,400	316,800	2,403,200	
	Kok-Ing No.2 Tunnel	Baht/Station		1	4,205,600	
	Ing-Yot No.1 Tunnel	Baht/Station			1,652,200	
	Ing-Yot No.2 Tunnel Division 1	Baht/Station			3,830,100	
T-217-4		Baht/Station		1 ·	3,604,800	
		Babt/Station				1
T-217-6		Babt/Station			5,557,400	
T-217-7		Baht/Station				
T-217-8		Babi/Statio		1		
		Baht/Statio		1 · ·		
T-217-1(		Bala/Statio		1		
T-217-1 T-217-1		Baht/Statio				
	3 Ing-Yot No.2 Tunnel Adit No.1	Baht/Statio		-		
		Babt/Statio				
T-217-1 T-217-1		Baht/Statio				
		Baht/Statio		1		
T-217-1		Babt/Statio			1	
T-217-1		Baht/Statio	1	1.		
T-217-1		Baht/Static		-	1	
T-218						Kok-Ing & Ing-Yot Tunnel
	1 Kok-Ing No.1 Tunnel	Baht/Static		0 12,489,000	12,489,00	
	2 Kok-Ing No.2 Tunnel	Baht/Statis		0 18,501,000		o
	-3 Ing-Yot No.1 Tunnel	Baht/Static		0 8,325,00		
	4 Ing-Yot No.2 Tunnel Division 1	Baht/Statie	· · · ·	0 20,121,00	1	
		Bahi/Stati	1.	0 16,593,00		
T-218 T-218		Beht/Stati		0 16,998,00	1	
T-218		Baht/Stati	1 ·	0 16,998,00	l	
T-218		Baht/Stati	_ <b>i</b>	0 14,571,00		
T-218		Baht/Stati		0 15,783,00	1 .	
T-218-		Baht/Stati		0 13,761,00		
İ.		Behl/Stat		0 16,188,00		
T-218-	**	Baht/Stat		0 20,121,00		
T-218-	13 Ing-Yot No.2 Tunnel Addit No.1	Balm/Stat		0 6,879,00		
1.		Babt/Stat		0 6,474,00		- L
T-218-		Balat/Stat		0 7,284,00		
T-218-		Babt/Stat		0 8,904,00	· · ·	
T-218-		Babt/Stat		0 7,689.00	1	
T-218-		Belt/Sta		0 9,309,00		
T-218				0 7,689,00		
T-218		Baht/Sta			33 1,8	
1	9 Installation & Dismantling of Air Pipe for Fa		<u> </u>			Kok-Ing & Ing-Yot Tunn
T-22	and the second		مبنده	00 101 0	00 5,545,0	
	0-1 Kok-Ing No.1 Tunnel	Bebt/Sta		1 ·		
1 T-22	0-2 Kok-ing No.2 Tunnel	Baht/Sta	tiona 9,675,0	00 179,0	,++CO,7	~~

Table TL. List of Unit Rate for To	innel works
------------------------------------	-------------

(9/12)

No.	Item	Unit	Foreign	Local	Total	Location
	·		Currency	Currency		
T-220-4	Ing-Yot No.2 Tunnel Division 1	Baht/Station	8,764,000	162,000	8,926,000	
T-220-5	Division 2	Baht/Station	8,122,000	1	8,272,000	
T-220-6	Division 3	Baht/Station	9,710,000	180,000	9,890,000	
T-220-7	Division 4	Baht/Station		238,000	13,126,000	
T-220-8	Division 5	Baht/Station			11,708,000	
T-220-9	Division 6	Baht/Station			11,635,000	
T-220-10	Division 7	Babt/Station			11,017,000	
T-220-11	Division 8	Baht/Station		163,000	8,999,000	
T-220-12	Division 9	Baht/Station		162,000	8,926,000	1. A
1	Ing-Yot No.2 Tunnel Adit No.1	Baht/Station	3,534,000	65,000	3,599,000	
T-220-14	Adit No.2	Baht/Station		59,000	3,254,000	
T-220-15	Adit No.3	Baht/Station			3,981,000	
T-220-16	Adit No.4	Baht/Station		105,000	5,763,000	
T-220-17	Adit No.5	Baht/Station			4,509,000	
T-220-18	Adit No.6	Baht/Station			6,072,000	
T-220-19	Adit No.7	Baht/Station	4,338,000		4,418,000	
T-221	Installation & Dismantling of Water Supply Pipe	Baht/m	259	55	314	Kok-Ing & Ing-Yot Tunnel
	Installation & Dismantling of Water Supply Pi	pc				Kok-Ing & Ing-Yot Tunnel
1 A. A.	Kok-Ing No.1 Tunnel	Baht/Station	868,000	184,000	1,052,000	
	Kok-Ing No.2 Tunnel	Baht/Station	1,481,000	315,000	1,796,000	
1.	Ing-Yot No.1 Tunnel	Baht/Station	598,000	127,000	725,000	
1	Ing-Yot No.2 Tunnel Division 1	Baht/Station	1,349,000	287,000	1,636,000	
T-222-5	Division 2	Baht/Station	1,256,000	267,000	1,523,000	
T-222-6	Division 3	Babi/Statio	1,487,000	316,000	1,803,000	
T-222-7	Division 4	Baht/Station			2,362,000	
T-222-8	Division 5	Baht/Station	1,746,000	371,000	2,117,000	
T-222-9	Division 6	Beht/Statio	1,735,000	369,000	2,104,000	
T-222-10	Division 7	Baht/Statio	1,647,000	350,000	1,997,000	
T-222-11	Division 8	Baht/Station	1,360,000	289,000	1,649,000	
T-222-12	Division 9	Baht/Station	1,349,000	287,000	1,636,000	
T-222-12	Ing-Yot No.2 Tunnel Adit No.1	Baht/Statio	591,000	125,000	716,000	
T-222-14	Adit No.2	Baht/Statio	541,000	115,000	656,000	
T-222-15	Adit No.3	Baht/Statio	645,000	137,000	782,000	
T-222-10	Adit No.4	Baht/Statio	899,000	191,000	1,090,000	
T-222-17	Adit No.5	Baht/Statio	720,000	153,000	873,000	
T-222-18	Adit No.6	Baht/Statio			\$	
T-222-19	Adit No.7	Baht/Statio	707,000	150,000	857,000	
T-223	Electric Charge of Water Supply Pump				· · · ·	Kok-Ing & Ing-Yot Tunnel
T-223-	Kok-Ing No.1 Tunnel	Baht/Statio	a C	1 .	-	
T-223-2	Kok-Ing No.2 Tunnel	Baht/Statio	a C		1 .	
T-223-3	Ing-Yot No.1 Tunnel	Babs/Statio	a (	1 -		
T-223-	Ing-Yot No.2 Tunnel Division 1	Babt/Statio	n (	· ·		
T-223-		Babi/Statio		753,000	· · ·	
T-223-	5 Division 3	Baht/Static	4 (			
T-223-	7 Division 4	Babt/Statio		1	-	
T-223-	B Division 5	Baht/Statio	a · (	· ·		
т-223-		Baht/Static		717,000		
T-223-1		Beht/Static	a (	624,000		1
T-223-1	1 Division 8	Baht/Static	a (	735,000	-	
T-223-1	2 Division 9	Babt/Static	a (	915,000	915,000	)

Table TL.	List of Unit	Rate for	Tunnel	Works
THOIC TTO				

(10/12)

T-225       Installation         T-225-1       Kok-Ing No         T-225-2       Kok-Ing No         T-225-3       Ing-Yot No         T-225-4       Ing-Yot No         T-225-5       T-225-6         T-225-7       T-225-7         T-225-8       T-225-9         T-225-10       T-225-10         T-225-11       T-225-13         T-225-13       Ing-Yot No         T-225-14       T-225-15         T-225-15       T-225-16         T-225-16       T-225-17         T-225-18       T-225-18         T-225-19       T-226-1         T-226-1       Kok-Ing No         T-226-2       Kok-Ing No         T-226-3       Ing-Yot No         T-226-4       Ing-Yot No         T-226-5       T-226-6         T-226-6       T-226-7         T-226-7       T-226-8         T-226-10       T-226-10         T-226-11       T-226-14         T-226-14       T-226-15         T-226-15       T-226-16         T-226-16       T-226-17			Unit	Foreign	Local	Total	Location
T-223-14 T-223-15 T-223-16 T-223-17 T-223-18 T-223-18 T-224 Installation T-225 Installation T-225-1 Kok-Ing No T-225-2 Kok-Ing No T-225-3 Ing-Yot No T-225-4 T-225-5 T-225-6 T-225-7 T-225-8 T-225-10 T-225-10 T-225-11 T-225-12 T-225-13 T-225-14 T-225-15 T-225-16 T-225-17 T-225-18 T-225-17 T-225-18 T-225-17 T-225-18 T-225-17 T-225-18 T-225-17 T-225-18 T-225-17 T-225-18 T-225-17 T-225-18 T-225-17 T-225-18 T-225-2 Kok-Ing N T-226-1 Ing-Yot N T-226-2 Kok-Ing N T-226-2 Kok-Ing N T-226-3 Ing-Yot N T-226-4 Ing-Yot N T-226-5 T-226-6 T-226-1 T-226-10 T-226-11 T-226-12 T-226-12 T-226-12 T-226-14 T-226-14 T-226-15 T-226-15 T-226-15 T-226-15 T-226-16 T-226-17				Currency	Currency		
T-223-15         T-223-16         T-223-17         T-223-18         T-223-19         T-224         Installation         T-225-1         Kok-Ing No         T-225-2         Kok-Ing No         T-225-3         Ing-Yot No         T-225-4         T-225-5         T-225-6         T-225-7         T-225-8         T-225-10         T-225-12         T-225-13         T-225-14         T-225-15         T-225-16         T-225-17         T-225-18         T-225-19         T-225-18         T-225-19         T-225-18         T-225-19         T-225-18         T-225-19         T-226-18         T-226-18         T-226-19         T-226-20         T-226-3         Ing-Yot N         T-226-4         Ing-Yot N         T-226-18         T-226-10         T-226-11         T-226-12         T-226-13         Ing-Yot N	.2 Tunnel	Adit No.1	Baht/Station	. 0	312,000	312,000	
T-223-16         T-223-17         T-223-18         T-223-18         T-223-19         T-224         Installation         T-225         Installation         T-225.1         Kok-Ing No         T-225.2         Kok-Ing No         T-225.3         Ing-Yot No         T-225.4         T-225.5         T-225.6         T-225.7         T-225.8         T-225.10         T-225.11         T-225.12         T-225.13         T-225.14         T-225.15         T-225.16         T-225.17         T-225.18         T-225.19         T-225.18         T-225.19         T-226.1         Kok-Ing N         T-226.1         Ing-Yot N         T-226.1         T-226.1         T-226.1         T-226.2         Kok-Ing N         T-226.3         Ing-Yot N         T-226.4         Ing-Yot N         T-226.5         T-226.6 <td< td=""><td></td><td>Adit No.2</td><td>Baht/Station</td><td>0</td><td>294,000</td><td>294,000</td><td></td></td<>		Adit No.2	Baht/Station	0	294,000	294,000	
T-223-17         T-223-18         T-223-19         T-224       Installation         T-225       Installation         T-225-1       Kok-Ing No         T-225-2       Kok-Ing No         T-225-3       Ing-Yot No         T-225-4       Ing-Yot No         T-225-5       T-225-6         T-225-7       T-225-8         T-225-10       T-225-12         T-225-12       Ing-Yot No         T-225-13       Ing-Yot No         T-225-14       T-225-13         T-225-15       T-225-14         T-225-16       T-225-17         T-225-17       T-225-18         T-225-18       T-225-19         T-225-19       Electric C         T-226-1       Kok-Ing N         T-226-2       Kok-Ing N         T-226-3       Ing-Yot N         T-226-4       ing-Yot N         T-226-5       T-226-5         T-226-6       T-226-7         T-226-7       T-226-8         T-226-10       T-226-10         T-226-14       Ing-Yot N         T-226-13       Ing-Yot N         T-226-14       T-226-10         T-226-		Adit No.3	Baht/Station	0	330,000	330,000	
T-223-18         T-223-19         T-224       Installation         T-225       Installation         T-225-1       Kok-Ing No         T-225-2       Kok-Ing No         T-225-3       Ing-Yot No         T-225-4       Ing-Yot No         T-225-5       Ing-Yot No         T-225-6       T         T-225-7       T         T-225-8       T         T-225-10       T         T-225-11       Ing-Yot No         T-225-12       Ing-Yot No         T-225-13       Ing-Yot No         T-225-14       T         T-225-15       T         T-225-16       T         T-225-17       T         T-225-18       T         T-225-19       T         T-225-18       T         T-225-19       T         T-226-14       Kok-Ing No         T-226-15       Ing-Yot No         T-226-2       Kok-Ing No         T-226-3       Ing-Yot No         T-226-4       Ing-Yot No         T-226-5       T         T-226-6       T         T-226-7       T         T-226-8 <td></td> <td>Adit No.4</td> <td>Baht/Station</td> <td>0</td> <td>405,000</td> <td>405,000</td> <td></td>		Adit No.4	Baht/Station	0	405,000	405,000	
T-223-19         T-224       Installation         T-225       Installation         T-225-1       Kok-Ing No         T-225-2       Kok-Ing No         T-225-3       Ing-Yot No         T-225-4       Ing-Yot No         T-225-5       1         T-225-6       1         T-225-7       1         T-225-8       1         T-225-9       1         T-225-10       1         T-225-11       1         T-225-12       1         T-225-13       Ing-Yot No         T-225-14       1         T-225-15       1         T-225-16       1         T-225-17       1         T-225-18       1         T-225-17       1         T-225-18       1         T-225-19       1         T-225-18       1         T-225-19       1         T-226-14       Ing-Yot No         T-226-15       1         T-226-14       Ing-Yot No         T-226-15       1         T-226-14       1         T-226-15       1         T-226-16       1		Adit No.5	Baht/Station	0	351,000	351,000	
T-223-19         T-224       Installation         T-225       Installation         T-225.1       Kok-Ing No         T-225.2       Kok-Ing No         T-225.3       Ing-Yot No         T-225.4       Ing-Yot No         T-225.5       Ing-Yot No         T-225.6       Ing-Yot No         T-225.7       Ing-Yot No         T-225.8       Ing-Yot No         T-225.9       Ing-Yot No         T-225.10       Ing-Yot No         T-225.13       Ing-Yot No         T-225.14       Ing-Yot No         T-225.15       Ing-Yot No         T-225.16       Ing-Yot No         T-225.17       Ing-Yot No         T-225.18       Ing-Yot No         T-225.19       Ing-Yot No         T-226.10       Kok-Ing No         T-226.2       Kok-Ing No         T-226.3       Ing-Yot No         T-226.4       Ing-Yot No         T-226.5       Ing-Yot No         T-226.6       Ing-Yot No         T-226.7       Ing-Yot No         T-226.8       Ing-Yot No         T-226.10       Ing-Yot No         T-226.11       Ing-Yot No		Adit No.6	Baht/Station	0	423,000	423,000	
T-224         Installation           T-225         Installation           T-225-1         Kok-Ing No           T-225-2         Kok-Ing No           T-225-3         Ing-Yot No           T-225-4         Ing-Yot No           T-225-5         T-225-6           T-225-7         T-225-7           T-225-8         T-225-9           T-225-10         T-225-11           T-225-12         T-225-13           T-225-14         T-225-14           T-225-15         T-225-16           T-225-16         T-225-17           T-225-18         T-225-18           T-225-19         T-226           F-225-19         Ing-Yot No           T-226-1         Kok-Ing No           T-225-18         T-225-16           T-225-17         T-226-1           T-226-18         Ing-Yot No           T-226-2         Kok-Ing No           T-226-3         Ing-Yot No           T-226-4         Ing-Yot No           T-226-5         T-226-6           T-226-6         T-226-7           T-226-10         T-226-10           T-226-14         T-226-14           T-226-13         Ing-Yot N		Adit No.7	Baht/Station	. 0	351,000	351,000	
T-225       Installation         T-225-1       Kok-Ing No         T-225-2       Kok-Ing No         T-225-3       Ing-Yot No         T-225-4       Ing-Yot No         T-225-5       T-225-6         T-225-7       T-225-7         T-225-8       T-225-7         T-225-9       T-225-10         T-225-10       T-225-13         T-225-14       T-225-14         T-225-15       T-225-16         T-225-16       T-225-17         T-225-18       T-225-18         T-225-19       T-226-18         T-226-10       T-226-2         Kok-Ing N       T-226-3         Ing-Yot N       T-226-4         T-226-5       T-226-5         T-226-6       T-226-7         T-226-10       T-226-10         T-226-11       T-226-12         T-226-12       Ing-Yot N         T-226-14       T-226-14         T-226-15       T-226-16         T-226-14       T-226-15         T-226-15       T-226-16         T-226-16       T-226-17	& Dismantling	of Drainage Pipe	Baht/m	177	46	223	Kok-Ing & Ing-Yot Tunnel
T-225-11 Kok-Ing No T-225-2 Kok-Ing No T-225-3 Ing-Yot No T-225-4 Ing-Yot No T-225-5 T-225-6 T-225-7 T-225-8 T-225-9 T-225-10 T-225-10 T-225-11 T-225-12 T-225-13 T-225-14 T-225-15 T-225-16 T-225-17 T-225-18 T-225-18 T-225-18 T-225-18 T-225-18 T-225-18 T-225-18 T-225-18 T-225-18 T-225-18 T-225-18 T-225-18 T-225-18 T-225-18 T-226-18 T-226-2 Kok-Ing N T-226-3 Ing-Yot N T-226-5 T-226-6 T-226-7 T-226-10 T-226-11 T-226-14 T-226-14 T-226-14 T-226-15 T-226-16 T-226-17		of Drainage Pipe					Kok-Ing & Ing-Yot Tunnel
T-225-2       Kok-Ing No         T-225-3       Ing-Yot No         T-225-4       Ing-Yot No         T-225-5       Ing-Yot No         T-225-6       Ing-Yot No         T-225-7       Ing-Yot No         T-225-8       Ing-Yot No         T-225-10       Ing-Yot No         T-225-11       Ing-Yot No         T-225-12       Ing-Yot No         T-225-13       Ing-Yot No         T-225-14       Ing-Yot No         T-225-15       Ing-Yot No         T-225-16       Kok-Ing No         T-225-17       Ing-Yot No         T-225-18       Ing-Yot No         T-225-19       Electric CC         T-226-1       Kok-Ing No         T-226-2       Kok-Ing No         T-226-3       Ing-Yot No         T-226-5       Ing-Yot No         T-226-6       Ing-Yot No         T-226-7       Ing-Yot No         T-226-8       Ing-Yot No         T-226-10       Ing-Yot No         T-226-12       Ing-Yot No         T-226-14       Ing-Yot No         T-226-14       Ing-Yot No         T-226-14       Ing-Yot No         T-226-14       Ing	-		Baht/Station	593,000	154,000	747,000	
T-225-3       Ing-Yot No         T-225-4       Ing-Yot No         T-225-5       Ing-Yot No         T-225-6       T         T-225-7       T         T-225-8       T         T-225-9       T         T-225-10       T         T-225-12       Ing-Yot No         T-225-13       Ing-Yot No         T-225-14       T         T-225-15       T         T-225-16       T         T-225-17       T         T-225-18       T         T-225-19       Electric C         T-225-19       T         T-225-10       Ing-Yot N         T-226-1       Kok-Ing N         T-226-2       Kok-Ing N         T-226-3       Ing-Yot N         T-226-4       Ing-Yot N         T-226-5       T         T-226-6       T         T-226-7       T         T-226-8       T         T-226-10       T         T-226-14       Ing-Yot N         T-226-13       Ing-Yot N         T-226-14       T         T-226-15       T         T       T         T			Beht/Station	1,012,000	263,000	1,275,000	
T-225-4       Ing-Yot No.         T-225-5			Beht/Station	409,000	106,000	515,000	
T-225-5         T-225-6         T-225-7         T-225-8         T-225-9         T-225-10         T-225-11         T-225-12         T-225-13         Ing-Yot No         T-225-16         T-225-16         T-225-17         T-225-18         T-225-16         T-225-17         T-225-18         T-225-18         T-225-19         T-226-10         T-226-2         Kok-Ing N         T-226-3         Ing-Yot N         T-226-4         Ing-Yot N         T-226-5         T-226-6         T-226-7         T-226-8         T-226-10         T-226-11         T-226-12         T-226-13         Ing-Yot N         T-226-14         T-226-14         T-226-15         T-226-16		Division 1	Baht/Station			1,162,000	
T-225-6         T-225-7         T-225-8         T-225-9         T-225-10         T-225-11         T-225-12         T-225-13         Ing-Yot N         T-225-16         T-225-17         T-225-18         T-225-17         T-225-18         T-225-17         T-225-18         T-225-19         T-226-1         Kok-Ing N         T-226-2         Kok-Ing N         T-226-3         Ing-Yot N         T-226-4         T-226-5         T-226-6         T-226-10         T-226-11         T-226-12         T-226-13         Ing-Yot N         T-226-10         T-226-11         T-226-12         T-226-13         Ing-Yot N         T-226-14         T-226-15         T-226-16         T-226-17		Division 2	Baht/Station		1	1,081,000	
T-225-7         T-225-8         T-225-10         T-225-11         T-225-12         T-225-13         Ing-Yot No         T-225-16         T-225-17         T-225-18         T-225-19         T-225-18         T-225-18         T-225-19         T-225-10         T-225-11         T-225-12         T-225-13         Ing-Yot N         T-226-2         Kok-Ing N         T-226-3         Ing-Yot N         T-226-4         T-226-5         T-226-6         T-226-7         T-226-8         T-226-10         T-226-11         T-226-12         T-226-13         Ing-Yot N         T-226-14         T-226-14         T-226-14         T-226-15         T-226-16         T-226-17		Division 3	Baht/Station	1		1,280,000	
T-225-8 T-225-9 T-225-10 T-225-12 T-225-13 T-225-13 T-225-14 T-225-14 T-225-15 T-225-16 T-225-17 T-225-18 T-225-17 T-225-18 T-225-18 T-225-18 T-225-18 T-225-18 T-225-18 T-225-18 T-226-11 T-226-2 T-226-3 T-226-4 T-226-12 T-226-14 T-226-14 T-226-15 T-226-15 T-226-17		Division 4	Baht/Station			1,677,000	
T-225-9 T-225-10 T-225-12 T-225-13 Ing-Yot No T-225-14 T-225-15 T-225-16 T-225-17 T-225-17 T-225-18 T-225-19 T-226-1 Kok-Ing N T-226-2 Kok-Ing N T-226-2 Kok-Ing N T-226-3 Ing-Yot N T-226-4 T-226-7 T-226-8 T-226-8 T-226-10 T-226-10 T-226-11 T-226-12 T-226-13 Ing-Yot N T-226-14 T-226-15 T-226-15 T-226-17		Division 5	Baht/Station	1		1,503,000	
T-225-10 T-225-11 T-225-12 T-225-13 Ing-Yot No T-225-14 T-225-16 T-225-17 T-225-18 T-225-19 T-226-1 T-226-2 Kok-Ing N T-226-3 Ing-Yot N T-226-3 T-226-4 T-226-7 T-226-8 T-226-8 T-226-10 T-226-10 T-226-11 T-226-12 T-226-13 Ing-Yot N T-226-14 T-226-15 T-226-15 T-226-17		Division 6	Baht/Station			1,494,000	
T-225-11         T-225-12         T-225-13         Ing-Yot N         T-225-14         T-225-15         T-225-16         T-225-17         T-225-18         T-225-19         T-225-2         Kok-Ing N         T-226-2         Kok-Ing N         T-226-3         Ing-Yot N         T-226-4         Ing-Yot N         T-226-5         T-226-6         T-226-7         T-226-8         T-226-9         T-226-10         T-226-11         T-226-12         T-226-13         Ing-Yot N         T-226-14         T-226-15         T-226-15         T-226-17		Division 7	Baht/Station			1,419,000	
T-225-12 T-225-13 T-225-14 T-225-15 T-225-16 T-225-17 T-225-17 T-225-17 T-225-18 T-225-19 T-226-1 Kok-Ing N T-226-2 Kok-Ing N T-226-3 Ing-Yot N T-226-3 T-226-6 T-226-7 T-226-8 T-226-8 T-226-9 T-226-10 T-226-11 T-226-11 T-226-13 T-226-14 T-226-15 T-226-15 T-226-17	•	Division 8	Baint/Station	1		1,171,000	
T-225-13 Ing-Yot No T-225-14 T-225-15 T-225-16 T-225-17 T-225-18 T-225-19 T-226 Electric C T-226-1 Kok-Ing N T-226-2 Kok-Ing N T-226-2 Kok-Ing N T-226-3 Ing-Yot N T-226-5 T-226-6 T-226-7 T-226-8 T-226-9 T-226-10 T-226-11 T-226-11 T-226-11 T-226-13 T-226-14 T-226-15 T-226-15 T-226-17		Division 9	Baht/Statio			1,162,000	1
T-225-14 T-225-15 T-225-15 T-225-16 T-225-17 T-225-18 T-225-19 T-226-1 Kok-Ing N T-226-2 Kok-Ing N T-226-2 Kok-Ing N T-226-3 Ing-Yot N T-226-4 T-226-6 T-226-7 T-226-8 T-226-8 T-226-9 T-226-10 T-226-11 T-226-11 T-226-13 Ing-Yot N T-226-13 T-226-15 T-226-15 T-226-17	o 2 Tuppel	Adit No.1	Babt/Station			509,000	
T-225-15 T-225-16 T-225-17 T-225-18 T-225-18 T-226 T-226 T-226-1 Kok-Ing N T-226-2 Kok-Ing N T-226-3 Ing-Yot N T-226-4 Ing-Yot N T-226-5 T-226-6 T-226-7 T-226-8 T-226-9 T-226-10 T-226-11 T-226-12 T-226-13 Ing-Yot N T-226-14 T-226-15 T-226-15 T-226-17	0.2 I dinici	Adit No.2	Baha/Statio			466,000	
T-225-16 T-225-17 T-225-18 T-225-19 T-226 T-226-1 Kok-Ing N T-226-2 Kok-Jng N T-226-3 Ing-Yot N T-226-4 Ing-Yot N T-226-6 T-226-7 T-226-8 T-226-7 T-226-10 T-226-10 T-226-11 T-226-11 T-226-12 T-226-13 Ing-Yot N T-226-14 T-226-14 T-226-15 T-226-16 T-226-17	1	Adit No.3	Baht/Statio			556,000	
T-225-17 T-225-18 T-225-19 T-226-1 Kok-Ing N T-226-2 Kok-Ing N T-226-2 Kok-Ing N T-226-3 Ing-Yot N T-226-4 Ing-Yot N T-226-5 T-226-6 T-226-7 T-226-10 T-226-10 T-226-11 T-226-12 T-226-13 Ing-Yot N T-226-14 T-226-15 T-226-16 T-226-17		Adit No.4	Babt/Statio	1		774,000	
T-225-18         T-225-19         T-226       Electric C         T-226-1       Kok-Ing N         T-226-2       Kok-Ing N         T-226-3       Ing-Yot N         T-226-4       Ing-Yot N         T-226-5       T-226-6         T-226-7       T-226-8         T-226-9       T-226-10         T-226-11       T-226-12         T-226-13       Ing-Yot N         T-226-14       T-226-14         T-226-15       T-226-16         T-226-17		Adit No.5	Beht/Statio			620,000	
T-225-19           T-226         Electric C           T-226-1         Kok-Ing N           T-226-2         Kok-Ing N           T-226-3         Ing-Yot N           T-226-4         Ing-Yot N           T-226-5         T-226-6           T-226-7         T-226-7           T-226-8         T-226-7           T-226-9         T-226-10           T-226-11         T-226-11           T-226-12         T-226-13           T-226-14         T-226-14           T-226-15         T-226-16           T-226-17		Adit No.6	Baht/Statio	1		811,000	
T-226-1 Kok-Ing N T-226-2 Kok-Ing N T-226-2 Kok-Ing N T-226-3 Ing-Yot N T-226-4 Ing-Yot N T-226-5 T-226-6 T-226-7 T-226-8 T-226-7 T-226-8 T-226-9 T-226-10 T-226-11 T-226-12 T-226-13 Ing-Yot N T-226-14 T-226-15 T-226-15 T-226-17		Adit No.7	Baht/Statio	1 ·		609,000	
T-226-1 Kok-Ing N T-226-2 Kok-Ing N T-226-3 Ing-Yot N T-226-4 Ing-Yot N T-226-5 T-226-6 T-226-7 T-226-8 T-226-7 T-226-10 T-226-10 T-226-11 T-226-12 T-226-13 Ing-Yot N T-226-14 T-226-15 T-226-15 T-226-17	harge of Drains	age Pump for Tunnel		1			Kok-Ing & Ing-Yot Tunnel
T-226-2 Kok-Ing N T-226-3 Ing-Yot N T-226-3 Ing-Yot N T-226-5 T-226-6 T-226-7 T-226-8 T-226-7 T-226-8 T-226-9 T-226-10 T-226-10 T-226-11 T-226-12 T-226-13 Ing-Yot N T-226-15 T-226-15 T-226-17	-	Be : and ter remor	Baht/Statio		2,553,000	2,553,000	
T-226-3 Ing-Yot N T-226-4 Ing-Yot N T-226-5 T-226-6 T-226-7 T-226-8 T-226-7 T-226-8 T-226-10 T-226-10 T-226-11 T-226-12 T-226-13 T-226-13 T-226-15 T-226-16 T-226-17			Baint/Statio		4,542,000		
T-226-4 Ing-Yot N T-226-5 T-226-6 T-226-7 T-226-7 T-226-8 T-226-9 T-226-10 T-226-10 T-226-11 T-226-11 T-226-12 T-226-13 T-226-15 T-226-15 T-226-17			Baht/Statio	. F	0 1,704,000		
T-226-5 T-226-6 T-226-7 T-226-8 T-226-9 T-226-10 T-226-11 T-226-12 T-226-13 Ing-Yot N T-226-14 T-226-15 T-226-15 T-226-17		Division 1	Baht/Static		4,116,000		
T-226-6 T-226-7 T-226-8 T-226-9 T-226-10 T-226-11 T-226-12 T-226-13 Ing-Yot N T-226-14 T-226-15 T-226-16 T-226-17		Division 2	Babt/Static	1	0 3,879,000		
T-226-7 T-226-8 T-226-9 T-226-10 T-226-11 T-226-12 T-226-13 Ing-Yot N T-226-14 T-226-15 T-226-16 T-226-17		Division 3	Baht/Static		0 3,975,000	1 A	
T-226-8 T-226-9 T-226-10 T-226-11 T-226-12 T-226-13 Ing-Yol N T-226-14 T-226-15 T-226-16 T-226-17		Division 4	Baht/Static		0 3,975,000		
T-226-9 T-226-10 T-226-11 T-226-12 T-226-13 Ing-Yot N T-226-14 T-226-15 T-226-16 T-226-17		Division 5	Baht/Static		0 3,405,000	1	
T-226-10 T-226-11 T-226-12 T-226-13 Ing-Yot N T-226-14 T-226-15 T-226-16 T-226-17		Division 6	Babi/Static		0 3,690,000	1 1 1 1	
T-226-11 T-226-12 T-226-13 Ing-Yot N T-226-14 T-226-15 T-226-16 T-226-17		Division 7	Baht/Static		0 3,216,000	1 ·	
T-226-12 T-226-13 Ing-Yot N T-226-14 T-226-15 T-226-16 T-226-17		Division 8	Bahe/Statie		0 3,783,000		
T-226-13 Ing-Yot N T-226-14 T-226-15 T-226-16 T-226-17		Division 9	Baht/State		0 4,116,000	1 7 7	
T-226-14 T-226-15 T-226-16 T-226-17	No 2 Tunnel	Adit No.1	Baht/State		0 1,608,000		
T-226-15 T-226-16 T-226-17	10.2 10.000	Adit No.2	Baht/Stati	1	0 1,515,000		
T-226-16 T-226-17		Adit No.3	Baht/Stati		0 1,704,00		
T-226-17		Adit No.4	Baht/Stati		0 2,082,00		
		Adit No.5	Baht/Stati		0 1,797,00		
1 7 226 10		Adit No.6	Baht/Stati		0 2,175,00		
T-226-18		Adit No.7	Baht/Stati		0 1,797,00		
T-226-19	Charge of Wete	r Treatment Plant for		<b>.</b>		1,,,,,,,	Kok-lng & Ing-Yot Tunnel
	-		1	1	0 1,419,00	0, 1,419,00	
T-227-1 Kok-Ing			Bals/Stat		- <b>1</b> - 1 - 1 - 1 - 1 - 1	- 1	and the second
T-227-2 Kok-ing T-227-3 ing-Yot i			Baht/Stati	1	0 2,523,00 0 945,00		

## Table TL. List of Unit Rate for Tunnel Works

(11/12)

No.	Ĭt	iem	Unit	Foreign	Local	Total	Location
		i		Currency	Currency		
T-227-4	Ing-Yot No.2 Tunnel	Division 1	Baht/Station	0	2,286,000	2,286,000	
T-227-5		Division 2	Baht/Station	0	2,154,000	2,154,000	
T-227-6		Division 3	Baht/Station	0	2,208,000	2,208,000	
T-227-7		Division 4	Baht/Station	0	2,208,000	2,208,000	
T-227-8		Division 5	Baht/Station	. 0	1,893,000	1,893,000	
T-227-9		Division 6	Baht/Station	. 0	2,049,000	2,049,000	
T-227-10		Division 7	Baht/Station	0	1,788,000	1,788,000	
T-227-11		Division 8	Baht/Station	0	2,103,000	2,103,000	
T-227-12		Division 9	Baht/Station	0	2,286,000	2,286,000	
	ing-Yot No.2 Tunnel	Adit No.1	Baht/Station	. 0	894,000	894,000	
T-227-14	-	Adit No.2	Baht/Station	0	840,000	840,000	
T-227-15		Adit No.3	Baht/Station	0	945,000	945,000	
T-227-16		Adit No.4	Baht/Station	0	1,155,000	1,155,000	
T-227-17		Adit No.5	Baht/Station	0	999,000	999,000	
T-227-18		Adit No.6	Baht/Station	0	1,209,000	1,209,000	
T-227-19		Adit No.7	Baht/Station	0	999,000	999,000	
T-228	Installation & Dismantling of	of Water Treatment Plant for				20,271,000	Kok-Ing & Ing-Yot Tunnel
T-229		from Water Treatment Plan		3,476	850	4,326	Kok-Ing & Ing-Yot Tunnel
T-230		ze from Water Treatmen					Kok-ing & Ing-Yot Tunnel
	Kok-Ing No.1 Tunnel	· · · · · · · · · · · · · · · · · · ·	Baht/Station	1,144,000	280,000	1,424,000	
	Kok-Ing No.2 Tunnel		Babt/Station			2,526,000	
	Ing-Yot No.1 Tunnel		Baht/Station	·		947,000	
	Ing-Yot No.2 Tunnel	Division 1	Baht/Station	[	1 -	2,289,000	
T-230-5	5	Division 2	Beht/Station		1	1,618,000	-
T-230-6		Division 3	Baht/Station			1,657,000	
T-230-7		Division 4	Baht/Station				
T-230-8		Division 5	Baht/Station	· · · · · · · · · · · · · · · · · · ·	ļ ·	1,424,000	
T-230-9		Division 6	Baht/Station			1,540,000	
T-230-10	4 .	Division 7	Baint/Station			1,342,000	
T-230-11		Division 8	Baht/Station		· · .	1,579,000	•
T-230-12		Division 9	Baht/Station		1	2,289,000	
í l	Ing-Yot No.2 Tunnel	Adit No.1	Baht/Station			671,000	
T-230-14	1 * .	Adit No.2	Baht/Statio	507,000	124,000	631,000	•
T-230-1		Adit No.3	Baht/Statio	570,000	139,000	709,000	
T-230-10	5	Adit No.4	Baht/Statio	699,000	171,000	870,000	
T-230-1	7	Adit No.5	Baht/Statio	601,000	147,000	748,000	
T-230-1		Adit No.6	Baht/Statio	730,000		ł	
T-230-1		Adit No.7	Baht/Statio	601,000	147,000	748,000	
T-231	Operation Cost for Wa	ter Treatment Plant	Baht/m	725	170	895	Kok-Ing & Ing-Yot Tunnel
	Operation Cost for Wa					0	Kok-Ing & Ing-Yot Tunnel
	Kok-Ing No.1 Tunnel		Baht/Statio	2,211,000	519,000	2,730,000	
T-232-	2 Kok-Ing No.2 Tunnei		Baht/Statio	3,930,000	921,000	4,851,000	
	3 Ing-Yot No.1 Tunnel		Babt/Statio	1,457,000	342,000	1,799,000	
	4 Ing-Yot No.2 Tunnel	Division 1	Baht/Statio	3,560,000	835,000	4,395,000	
T-232-	e e	Division 2	Balat/Statio	3,299,000	774,000	4,073,000	
T-232-		Division 3	Baht/Statio	3,944,000	925,000	4,869,000	
T-232-		Division 4	Baht/Static	5,235,000	1,227,000	6,462,000	· .
T-232-		Division 5	Baht/Statio	4,669,000	1,095,000	5,764,000	
т-232-		Division 6	Babi/Statio	4,640,000	1,088,000	5,728,000	
T-232-1		Division 7	Baht/Statio	4,394,000			
T-232-1		Division 8	Baht/Static		1	4,431,000	
T-232-1		Division 9	Babt/Static			4,403,000	

Table TL.	List of Unit	Rate for	Tunnel	Works	
-----------	--------------	----------	--------	-------	--

No.	Item	Unit	Foreign	Local	Totai	Location
			Currency	Currency		
T-232-13	Ing-Yot No.2 Tunnel Adit No.1	Baht/Station	1,443,000	338,000	1,781,000	
T-232-14	1 12 12 0	Baht/Station	1,298,000	304,000	1,602,000	
T-232-15	Adit No.3	Babt/Station	1,595,000	374,000	1,969,000	
T-232-16	A 11/ AT. 6	Baht/Station	2,306,000	541,000	2,847,000	
T-232-17	A 31- 37- C	Baht/Station	1,798,000	422,000	2,220,000	
T-232-18	1 P. M. C	Balst/Station	2,422,000	568,000	2,990,000	
T-232-19	4.11. 37. 7	Baht/Station	1,769,000	415,000	2,184,000	
T-233	Transportation Cost of Equipment	Baht/Station	377,000	58,000	435,000	Kok-Ing & Ing-Yot Tunnel
T-234	Construction Cost of Tunnel Portal	Baht/Station	898,000	671,000	1,569,000	Kok-Ing & Ing-Yot Tunnel
	Extension Power Line to Each Tunnel Portal	L.S.				Refer to T-235

(12/12)

		R	ate ≂	56,222	Baht/m	<b>F.C.</b> =	54,079	Baht/m	96%	
Kok-Ing Tunnel						Ľ.C. =	2,143	Baht/m	4%	
				Foreign (	Currency	Local C	u <del>rre</del> ncy			
Items	Unit	Quar	ntity	Rate	Cost	Rate	Cost	F	lemark	
1. Operation Cost (Equipmen	it & Fi	iel)						per 10m		
Soft Rock Tunnel Cutter 200kw	1	20	Hr	8,605	172,100	155	3,100	20	Hr ×	1
Tractor Shovel 2.3m3 wheel ty	1	27	Hr	1,460	39,420	60	1,620	27	Hr ×	1
Dump Truck 11t	1	54	Hr	630	34,020	50	2,700	54	Hr ×	- 1
Miscellaneous		5	%		12,277		371		Baht / 10r	n
Subtotal		· ·			257,817		7,791			
2. Material					÷.,			per 10m		
Cross Bit RM 8-25		11	Pcs	3,500	269,500	0	0			
Miscellaneous		5	%		13,475	0	. 0	269,500	Baht / 10r	n
Subtotal					282,975		0			
3. Labor								per 10m		
Foreman Tunnel		3	day			720	2,160	. 27	Hr/12Hr	2.3
Operator of Heavy		7.5	day			460	3,450	1.5	day ×	5
Driver		7.5	day			350	2,625	1.5	day ×	5
Skilled Labor		7.5	day			260	1,950	1.5	day ×	5
Common Labor		15.0	day			230	3,450	1.5	day ×	10
Subtotal				-			13,635		<u> </u>	
4. Total				<u>I</u>	540,792	· · · ·	21,426	562,218	Baht / 10	m
5. Output	Worki	ng Time	e per 1	day = 12 H	ir × 2 shift	1		per	10 1	m.
Rate = Baht/m					54,079	Baht/m	2,143	Baht/m :	<b>=</b> .	56,222

			Rate =	44,198	Baht/m	<b>F.C.</b> =	42,255	Baht/m 96%	
	Kok-Ing Tunnel				1	L.C. =	1,943	Baht/m 4%	
			· · · ·	Foreign (	Currency	Local Ci	urrency		
. •	Items	Unit	Quantity	Rate	Cost	Rate	Cost	Remark	
1.	<b>Operation Cost (Equipmen</b>	t & Fi	iel)					per 10m	
	Soft Rock Tunnel Cutter 200kw	- 1	15 Hr	8,605	129,075	155	2,325	15 Hr×	1
•	Tractor Shovel 2.3m3 wheel typ	1	21 Hr	1,460	30,660	60	1,260	21 Hr ×	1
	Dump Truck 11t	1	63 Hr	630	39,690	50	3,150	63 Hr×	1
	Miscellaneous		5%		9,971		337	Baht / 10m	
	Subtotal				209,396		7,072		
2.	Material							per 10m	
	Cross Bit RM 8-25		58 Pcs	3,500	203,000	Ö	0		
	Miscellaneous		5 %		10,150	· 0	. 0	203,000 Baht / 10m	
	Subtotal				213,150		0		
3.	Labor	1.11						per 10m	
	Foreman Tunnel		2 day	· ·		720	1,440	21 Hr/12Hr	1,
	Operator of Heavy	1.	6.0 day	1. A. A.		460	2,760	1.5 day×	4
	Driver	i in s	9.0 day	1 1 A	1 - 1 - A	350	3,150	1.5 day×	6
	Skilled Labor		6.0 day	1		260	1,560	1.5 day×	4
	Common Labor		15.0 day		1 .	230	3,450	1.5 day x	10
	Subtotal		1	1	[		12,360		
4.	Total	<u> </u>			422,546		19,432	441,978 Baht / 10m	
5	Output	Worki	ng Time per 1	day = 12 ł	Ir x 2 shift			per 10 m	
Ξ.	Rate = Baht/m				· ·	Baht/m	· · ·	•	1,19

	T-3. Unit Rat	e per									
			R	ate =	35,151	Baht/m	<u>F.C. =</u>	33,422	Baht/m	95%	
	Kok-Ing Tunnel						L.C. =	1,729	Baht/m	5%	
					Foreign	Currency	Local C	urrency			
	Items	Unit	Quar	ntity	Rate	Cost	Rate	Cost	F	Remark	
1.	<b>Operation Cost (Equipmen</b>	at & Fi	uel)						per 10m		
	Soft Rock Tunnel Cutter 200kw	1	. 13	Hr	8,605	111,865	155	2,015	13	Hr×	
	Tractor Shovel 2.3m3 wheel typ	1.	18	Hr	1,460	26,280	60	1,080	18	Hr ×	
	Dump Truck 11t	1	53	Hr	630	33,390	50	2,650	53	Hr ×	
	Miscellaneous		7	%		12,007		402		Baht / 10	'n
	Subtotal		[			183,542		6,147			
2.	Material								per 10m	1. s.s.	
	Cross Bit RM 8-25		41	Pcs	3,500	143,500	0	0			
	Miscellaneous		5	%		7,175	0	0	143,500	Baht / 10	)n
Γ	Subtotal					150,675		0			_
3	Labor					ļ		-	per 10m	÷	
ľ	Foreman Tunnel		2	day			720	1,440	18	Hr/12Hr	
·	Operator of Heavy		6.0	day		[ · .	460	2,760	1.5	day ×	
	Driver		7.5	day			350	2,625	1		
l	Skilled Labor		6.0	day			260	1,560	1.5	day x	
L	Common Labor		12.0	day		· · .	230	2,760	1.5	day ×	نى <b>ت</b>
	Subtotal					ļ		11,145	· · · · ·		•.
4	. Total					334,217		17,292	351,509	Baht / 10	0r

T-4. Unit Rate	- ·		ate =			<b>F.C.</b> =		Baht/m 94%
Kok-Ing Tunnel			. :			L.C. =	1,546	Baht/m 6%
				Foreign (	Currency	Local Ci	arrency	
Items	Unit	Quar	ntity	Rate	Cost	Rate	Cost	Remark
. Operation Cost (Equipmen	t & F1	iel)			: .			per 10m
Soft Rock Tunnel Cutter 200kw	1	12	Hr	8,605	103,260	155	1,860	12 Hr× 1
Tractor Shovel 2.3m3 wheel typ	1	16	Hr	i,460	23,360	60	960	16 Hr × 1
Dump Truck 11t	1	47	Hr	630	29,610	50	2,350	47 Hr × 1
Miscellaneous		7	%		10,936	·	362	Baht / 10m
Subtotal					167,166		5,532	
2. Material			2 J					per 10m
Cross Bit RM 8-25		20	Pcs	3,500	70,000	· 0	· 0	
Miscellaneous		5	%		3,500	0	0	70,000 Baht / 10m
Subtotal					73,500		0	
3. Labor								per 10m
Foreman Tunnel		2	day			720	1,440	16 Hr/12Hr
Operator of Heavy		4.5	day			460	2,070	1.5 day × 3
Driver	:	6.0	day			350	2,100	1.5 day × 4
Skilled Labor		6.0	day			260	1,560	1.5 day × 4
Common Labor		12.0	day			230	2,760	1.5 day × 8
Subtotal							9,930	
4. Total					240,666		15,462	256,128 Baht / 10m
5. Output	Worki	ng Time	e per 1	day = 12 I	Ir × 2 shif	t		per 10 m
Rate = Baht/m			•	•	a da sera d	/ Baht/m	1 54	6 Baht/m = 25,6

		R	ate =	26,908	Baht/m	<u>F.C. =</u>	25,271	Baht/m	94%	
Kok-Ing Tunnel						L.C. =	1,637	Baht/m	6%	
				Foreign	Currency	Local C	urrency			
Items	Unit	Quar	ntity	Rate	Cost	Rate	Cost	F	Remark	
1. Operation Cost (Equipmen	it & Fu	iel)						per 10m		
Soft Rock Tunnel Cutter 200kw	1	12	Hr	8,605	103,260	155	1,860	12	Hr ×	1
Tractor Shovel 2.3m3 wheel ty	· 1	17	Hr	1,460	24,820	60	1,020	17	Hr ×	1
Dump Truck 11t	1	50	Hr	630	31,500	50	2,500	50	Hr ×	1
Miscellaneous		10	%		15,958		538		Baht / 10r	n
Subtotal					175,538		5,918			
2. Material		Ì			÷.,			per 10m		
Cross Bit RM 8-25		21	Pcs	3,500	73,500	0	0			
Miscellaneous		5	%		3,675	0	0	73,500	Baht / 10:	n
Subtotal					77,175		0			
3. Labor								per 10m		
Foreman Tunnel	· -	2	day	ļ		720	1,440	_17	Hr/12Hr	1.4
Operator of Heavy		4.5	day	İ.		460	2,070	1.5	day ×	3
Driver		7.5	day			350	2,625	1.5	day ×	5
Skilled Labor		6.0	day		-	260	1,560	1.5	day ×	4
Common Labor		12.0	day		• •	230	2,760	1.5	day ×	8
Subtotal				<u> </u>	· ·		. 10,455	· · · · · · · · · · · · · · · · · · ·		
4. Total				<u> </u>	252,713	]	16,373	269,086	Baht / 10	m
5. Output	Worki	ng Time	per 1	day = 12 F	lr × 2 shift	i		per	10	m
Rate = Baht/m				· .	25,271	Baht/m	1,637	Baht/m	-	26,908

•

	· .	R	ate =	27,420	Baht/m	F.C. =	25,708	Baht/m	94%	
Kok-Ing Tunnel						L.C. =		Baht/m	6%	
				Foreign	Currency	Local C	urrency			
Items	Unit	Quar	ntity	Rate	Cost	Rate	Cost	F	<u>Remark</u>	
1. Operation Cost (Equipment	t & Fu	iel)						per 10m		
Soft Rock Tunnel Cutter 200kw	1	12	Hr	8,605	103,260	155	1,860	12	Hr×	1
Tractor Shovel 2.3m3 wheel typ	1	17	Hr	1,460	24,820	60	1,020	17	Hr ×	1
Dump Truck 11t	1	51	Ηr	630	32,130	50	2,550	51	Hr ×	1
Miscellaneous		10	%		16,021		543		Baht / 10m	
Subtotal			•		176,231		5,973			
2. Material					:			per 10m		
Cross Bit RM 8-25		22	Pcs	3,500	77,000	0	0			2.0
Miscellaneous		-5	%		3,850	0	0	77,000	Baht / 10m	
Subtotal				·	80,850		0	· · ·		
3. Labor	÷.,							per 10m		
Foreman Tunnel		2	day	· ·		720	1,440	17	Hr/12Hr	1.4
Operator of Heavy		4.5	day			460	2,070	1.5	day ×	3
Driver		7.5	day			350	2,625	1.5	day ×	5
Skilled Labor		6.0	day	· .		260	1,560	1.5	day x	4
Common Labor		15.0	day			230	3,450	1.5	day ×	10
Subtotal			•				11,145			
4. Total					257,081	· .	17,118	274,199	Baht / 10m	

			R	nte =	75,133	Baht/m	<b>F.C.</b> =	72,283	Baht/m	96%	
	Ing-Yot No.2 Tunnel with Adi	it					L.C. =	2,850	Baht/m	4%	
					Foreign (	Currency	Local C	urrency			
	Items	Unit	Quar	ntity	Rate	Cost	Rate	Cost	R	temark	
1.	<b>Operation Cost (Equipmen</b>	t & Fi	1el)						per 10m		
	Soft Rock Tunnel Cutter 200kw		25	Hr	8,605	215,125	155	3,875	25	Hr×	1
	Tractor Shovel 2.3m3 wheel typ	1	35	Hr	1,460	51,100	60	2,100	35	Hr×	1
	Dump Truck 11t	1	104	Hr	630	65,520	<sup>:</sup> 50	5,200	104	Hr ×	1
	Miscellaneous		5	%		16,587		559		Baht / 10n	1
	Subtotal					348,332		11,734		. ·	
2,	Material								per 10m		
	Cross Bit RM 8-25		100	Pcs	3,500	350,000	0	0			
	Miscellaneous		7	%		24,500	0	0	350,000	Baht / 10n	1
	Subtotal		·			374,500		0		·	. <u></u>
3.	Labor								per 10m	1.11	-
	Foreman Tunnel		3	day	ļ	ļ	720	2,160	35	Hr/12Hr	2.9
	Operator of Heavy		7.5	day			460	3,450	1.5	day ×	5
	Driver		13.5	day			350	4,725	1.5	day ×	9
	Skilled Labor		7.5	day	1		260	1,950	1.5	day ×	5
	Common Labor		19.5	day			230	4,485	1.5	day ×	13
	Subtotal					l	<u> </u>	16,770			
4.	Total					722,832		28,504	751,336	Baht / 10r	n :
5.	Output	Worki	ng Time	per 1	day = 12 I	Ir × 2 shif	t sta		per	10 r	n
	Rate = Baht/m			5 g. 5		72,283	Baht/m	2.850	Baht/m	• • • • *	75,133

		K	ate =	07,339	Banym	<u>F.C. =</u>			96%	
Ing-Yot No.2 Tunnel with Adi	t	·				<u>L.C. =</u>	2,579	Baht/m	4%	
				Foreign	Currency	Local C	urrency			
Items	Unit	Quar	ntity_	Rate	Cost	Rate	Cost	] ]	Remark	
1. Operation Cost (Equipmen	t & Fu	iel)						per 10m		
Soft Rock Tunnel Cutter 200kw	1	23	Hr	8,605	197,915	155	3,565	23	Ht ×	1
Tractor Shovel 2.3m3 wheel typ	1	31	Hr	1,460	45,260	60	1,860	31	Hr 🗙	1
Dump Truck 11t	1	93	Hr	630	58,590	50	4,650	93	Hr ×	1
Miscellaneous	1	5	%		15,088		504		Baht / 10r	n
Subtotal	÷				316,853		10,579			
2. Material								per 10m		
Cross Bit RM 8-25		90	Pcs	3,500	315,000	0	0			
Miscellaneous		5	%		15,750	0	0	315,000	Baht / 10r	n
Subtotal					330,750		0			
3. Labor								per 10m	1	
Foreman Tunnel		3	day			720	2,160	31	Hr/12Hr	2.
Operator of Heavy		7.5	day			460	3,450	1.5	day ×	5
Driver		12.0	day			350	4,200	1.5	day ×	8
Skilled Labor		7.5	day			260	1,950	1.5	day ×	5
Common Labor		15.0	day			230	3,450	1.5	day ×	10
Subtotal							15,210			
4. Total					647,603		25,789	673,392	Baht / 101	n

T-9. Unit Rate	Port	1				F.C. =			96%
Ing-Yot No.2 Tunnel with Adi	t. It		<b>HCC</b>		Dund III	L.C. =		Baht/m	4%
The Total Autom Autom Autom Autom Autom			<u> </u>	Foreign	Currency			Dunqin	
Items	Unit	Qua	otity	Rate	Cost	Rate	Cost	, i	Remark
1. Operation Cost (Equipmen	t & F							per 10m	
Soft Rock Tunnel Cutter 200kw		18	Hr	8,605	154,890	155	2,790	18	Hr× 1
Tractor Shovel 2.3m3 wheel typ	1	24	Hr	1,460	35,040	60	1,440	24	Hr× 1
Dump Truck 11t	1	98	Hr	630	61,740	50	4,900	- 98	Hr × 1
Miscellaneous		5	%	· · ·	12,584		457		Baht / 10m
Subtotal	:				264,254		9,587		
2. Material			÷.,					per 10m	
Cross Bit RM 8-25	÷.,	68	Pcs	3,500	238,000	0	0		
Miscellaneous	۰.	5	%	14	11,900	0	0	238,000	Baht / 10m
Subtotal					249,900		0		
3. Labor			-					per 10m	
Foreman Tunnel		2	day			720	1,440	- 24	Hr/12Hr
Operator of Heavy	1.4.1	6.0	day		1	460	2,760	1.5	day × 4
Driver		13.5	day		an an an an an an an an an an an an an a	350	4,725	1.5	day x 9
Skilled Labor		6.0	day		1.1.1	260	1,560	1.5	day x 4
Common Labor		15.0	day			230	3,450	1.5	day x 10
Subtotal							13,935	· · ·	
4. Total					514,154		23,522	537,676	Baht / 10m
5. Output	Worki	ng Time	per 1	day = 12 H	Ir $ imes$ 2 shift			per	. 10 m
Rate = Baht/m		•			51,415	Baht/m	2,352	Baht/m	= 53,70
		1.1		• •					
		2	1			1.1			

T-10. Unit Rate	per	Mete	r of :	Excava	tion of	Upper l	Half : (	Grade D	1	_
		R	ate =	41,903	Baht/m	<b>F.C.</b> =	40,027	Baht/m	96%	
Ing-Yot No.2 Tunnel with Ad	it					L₊C. =	1,876	Baht/m	4%	
				Foreign	Currency	Local C	urrency			
Items	Unit	Qua	otity	Rate	Cost	Rate	Cost	) R	lemark	
1. Operation Cost (Equipmen	it & Fi	uel)						per 10m		
Soft Rock Tunnel Cutter 200kw	1	15	Hr	8,605	129,075	155	2,325	15	Hr ×	
Tractor Shovel 2.3m3 wheel typ	1	21	Hr	1,460	30,660	60	1,260	-21	Hr x	
Dump Truck 11t	1	84	Hr	630	52,920	50	4,200	84	Hr×	
Miscellaneous		7	%		14,886		545		Baht / 10m	L
Subtotal					227,541		8,330			
2. Material		l						per 10m		
Cross Bit RM 8-25		47	Pcs	3,500	164,500	0	0			
Miscellaneous		5	%	· .	8,225	0	0	164,500	Baht / 10m	1
Subtotal					172,725		0		· · ·	
3. Labor						· .		per 10m	• • •	
Foreman Tunnel		2	day			720	1,440	21	Hr/12Hr	
Operator of Heavy		4.5	day	ļ		460	2,070	1.5	day x	
Driver		10.5	day			350	3,675	1.5	day x	
Skilled Labor		4.5	day		-	260	1,170	1.5	day ×	
Common Labor		9.0	day			230	2,070	1.5	day ×	
Subtotal		<u> </u>		· · ·			10,425	· ·	· · ·	
4. Total					400,266		18,755	419,021	Baht / 10m	1

			R	ate =	30,595	Baht/m	<b>F.C.</b> =	28,814	Baht/m 94%
Ing-Yot No.2 Tunnel w	ith Adi	t .					L.C. =	1,781	Baht/m 6%
· . · .		:		· .	Foreign (	Currency	Local C	urrency	
Items	·	Unit	Quar	itity	Rate	Cost	Rate	Cost	Remark
1. Operation Cost (Equ	ipmen	t & Fu	iel)						per 10m
Soft Rock Tunnel Cutter	200kv	1	13	Hr	8,605	111,865	155	2,015	13 Hr× 1
Tractor Shovel 2.3m3 wh	neel ty	1	19	Hr	1,460	27,740	60	1,140	19 Hr× 1
Dump Truck 11t	1.1	1	75	Hr	630	47,250	50	3,750	75 Hr × 1
Miscellaneous			7	%		13,080		483	Baht / 10m
Subtotal						199,935		7,388	
2. Material				÷ .					per 10m
Cross Bit RM 8-25			24	Pcs	3,500	84,000	· 0	0	
Miscellaneous			5	%		4,200	0	0	84,000 Baht / 10m
Subtotal					1 A A	88,200		0	
3. Labor	5 A T		:				÷		per 10m
Foreman Tunnel			2	day			720	1,440	19 Hr/12Hr 1.6
Operator of Heavy			4,5	day			460	2,070	1.5 day × 3
Driver			10,5	day	1		350	3,675	1.5 day x 7
Skilled Labor			4.5	day	1. 1.		260	1,170	1.5 day x 3
Common Labor			9.0	day		· .	230	2,070	1.5 day x 6
Subtotal								10,425	
4. Total						288,135			305,948 Baht / 10m

		R	ate ≈	31,957	Baht/m	<b>F.C.</b> =	30,092	Baht/m	94%	
Ing-Yot No.2 Tunnel with Ad	it			r		L.C. =	1,865	Baht/m	6%	
				Foreign	Currency	Local C	urrency			
Items	Unit	Qua	otity	Rate	Cost	Rate	Cost	J	Remark	
1. Operation Cost (Equipment	it & Fi	1el)						per 10m		
Soft Rock Tunnel Cutter 200kw	1	14	Hr	8,605	120,470	155	2,170	14	Hr ×	
Tractor Shovel 2.3m3 wheel typ	1	19	Hr	1,460	27,740	60	1,140	19	Hr ×	
Dump Truck 11t	1	77	Hr	630	48,510	50	3,850	77	Hr ×	
Miscellaneous		10	%		19,672		716		Baht / 10m	١
Subtotal					216,392		7,876			
2. Material								per 10m		
Cross Bit RM 8-25		23	Pcs	3,500	80,500	0	0	:		
Miscellaneous		. 5	%		4,025	0	0	80,500	Baht / 10m	1
Subtotal					84,525		0			
3. Labor								per 10m		
Foreman Tunnel		2	day			720	1,440	19	Hr/12Hr	
Operator of Heavy		4.5	day			460	2,070	1.5	day ×	
Driver		10.5	đay			350	3,675	1.5	day ×	
Skilled Labor		4.5	day			260	1,170	1.5	day ×	
Common Labor		10.5	day			230	2,415	1.5	day ×	
Subtotal					<u> </u>	<u>.</u>	10,770			
4. Total					300,917		18,646	319,563	Baht / 10m	1
5. Output	Worki	ng Time	per 1	day = 12 H	Ir × 2 shift			per	10 m	1
Rate = Baht/m			1		30 092	Baht/m	1 865	Baht/m	_ 7	31

T-13. Unit Rate	per ]	Meter o								
		Rate	= =	32,399	Baht/m	F.C. =	30,529	Baht/m	94%	
Ing-Yot No.2 Tunnel with Adi	it 🔗					L.C. ≃	1,870	Baht/m	6%	
			1	Foreign	Currency	Local C	urrency	1		
Items	Unit	Quantif	ty	Rate	Cost	Rate	Cost	F	<b>kemark</b>	
1. Operation Cost (Equipmen	t & Fi	sel)					1. <sup>1</sup> . e	per 10m		
Soft Rock Tunnel Cutter 200kw	: 1	14 H	fr	8,605	120,470	155	2,170	14	Hr ×	1
Tractor Shovel 2.3m3 wheel typ	1	19 F	Ir	1,460	27,740	60	1,140	19	Hr ×	1
Dump Truck 11t	1	78 H	Hr	630	49,140	50	3,900	78	Hr×	1
Miscellaneous		10	%		19,735		721		Baht / 10m	
Subtotal					217,085		7,931	· .		·
2. Material								per 10m		
Cross Bit RM 8-25		24 P	°cs [	3,500	84,000	0	0	· ·	1.	
Miscellaneous		5	%	•	4,200	0	0	84,000	Baht / 10m	
Subtotal					88,200		0			
3. Labor								per 10m		
Foreman Tunnel		2 da	y .			720	1,440	19	Hr/12Hr	1.0
Operator of Heavy		4.5 da	iy			460	2,070	1.5	day ×	3
Driver	n di seri di se Seri di seri di seri	10.5 da	ıy			350	3,675	1.5	day ×	7
Skilled Labor		4.5 da	ıy			260	1,170	1.5	day ×	3
Common Labor		10.5 da	xy			230	2,415	1.5	day ×	7
Subtotal		· .					10,770			
4. Total		I			305,285		18,701	323,986	Baht / 10m	1
5. Output	Worki	ng Time pe	er 1 de	ay = 12 ł	lr × 2 shift	t		per	10 m	1
Rate = Baht/m						Baht/m	1.870	) Baht/m	_ 3	32,399

		Ra	te ≂	67,339	Baht/m	<b>F.C.</b> =	64,760	Baht/m	96%	
Ing-Yot Tunnel without Ad	lit					L.C. =	2,579	Baht/m	4%	
				Foreign (	Currency	Local Ci	irrency			
Items	Unit	Quan	tity	Rate	Cost	Rate	Cost	P	lemark	
. Operation Cost (Equipmen	it & Fi	ıel)			· .			per 10m		
Soft Rock Tunnel Cutter 200kw		23	Hr	8,605	197,915	155	3,565	23	Hr ×	1
Tractor Shovel 2.3m3 wheel typ		31	Hr	1,460	45,260	60	1,860	31	Hr ×	1
Dump Truck 11t	1	93	Hr	630	58,590	50	4,650	93	Hr ×	1
Miscellaneous		5	%		15,088		504		Baht / 10m	۱ 
Subtotal					316,853		10,579			
2. Material		<u> </u>						per 10m		
Cross Bit RM 8-25		90	Pcs	3,500	315,000	0	0			
Miscellaneous		5	%		15,750	0	0	315,000	Baht / 10n	l ·
Subtotal					330,750		0		· · · · ·	-
3. Labor		Ţ						per 10m		
Foreman Tunnel		3	day			720	2,160	31	Hr/12Hr	
Operator of Heavy		7.5	day			460	3,450	1.5	day ×	5
Driver		12.0	day			350	4,200	1.5	day ×	8
Skilled Labor		7.5	day			260	1,950	1.5	day ×	5
Common Labor		15.0	day		· .	230	3,450	1.5	day ×	10
Subtotal					· · ·	<u> -</u>	15,210	<u> </u>		
4. Total					647,603	<u> </u>	25,789	673,392	Baht / 101	n
5. Output	Work	ing Tim	e per 1	day = 12 l	Hr×2 shif	t .	÷	per	10 r	<b>n</b> ' .
Rate = Baht/m				· .		0 Baht/m	2.57	Baht/m		67,3

T-15. Unit Rate	per l					1	1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 -	
		Rat	e =	51,214	Baht/m	<b>F.C.</b> =	49,093	Baht/m 96%
Ing-Yot Tunnel without Ac	lit	•		t starte		L.C. =	2,121	Baht/m 4%
				Foreign (	urrency	Local Ci	ITTENCY	and the second second second second second second second second second second second second second second second
Items	Unit	Quant	ity_	Rate	Cost	Rate	Cost	Remark
. Operation Cost (Equipmen	nt & Fu	iel)				100 - 114 100 - 114		per 10m
Soft Rock Tunnel Cutter 200kw	1	18	Hr	8,605	154,890	155	2,790	18 Hr× 1
Tractor Shovel 2.3m3 wheel typ	1	24	Hr	1,460	35,040	60	1,440	24 Hr× 1
Dump Truck 11t	1	74	Hr	630	46,620	50	3,700	74 Hr× 1
Miscellaneous	1	5	%	- N.L.	11,828	1	397	Baht / 10m
Subtotal					248,378		8,327	
2. Material					· · ·			per 10m
Cross Bit RM 8-25		66	Pcs	3,500	231,000	0	0	
Miscellaneous		5	%		11,550	Ó	. 0	231,000 Baht / 10m
Subtotal					242,550		0	
3. Labor								per 10m
Foreman Tunnel		2	day		ļ	720	1,440	24 Hr/12Hr
Operator of Heavy	· · · ·	6.0	day		1	<sup>460</sup>	2,760	1.5 day x 4
Driver		10.5	day			350	3,675	1.5 day× 7
Skilled Labor		6.0	day			260	1,560	1.5 day × 4
Common Labor	· · ·	15.0	day	1.1		230	3,450	1.5 day × 10
Subtotal					1.1.1.1	1	12,885	
4. Total					490,928		21,212	512,140 Baht / 10m
5. Output	Work	ing Time	per 1	day = 12	$Hr \times 2$ shift	i .		per 10 m
<ul> <li>A second sec second second sec</li></ul>			P.41. )	· ~		3 Baht/m	2.12	1 Baht/m = 51,21
Rate = Baht/m					49,09	5 Danym	64.6	غراد = IDanyin

Ing Net Tunnel without Ad						<u>F.C. =</u> L.C. =		Baht/m	<u>96%</u> 4%
Ing-Yot Tunnel without Ad	<u></u>			Foreign	Сигтевсу	Local Ci		June	
Items	Unit	Quar	ntity	Rate	Cost	Rate	Cost	ł	Remark
1. Operation Cost (Equipment	8 Fi	iel)						per 10m	
Soft Rock Tunnel Cutter 200kw	1	15	Hr	8,605	129,075	155	2,325	15	Hr ×
Tractor Shovel 2.3m3 wheel typ	1	21	Hr	1,460	30,660	60	1,260	21	Hr×
Dump Truck 11t	1	84	Hr	630	52,920	50	4,200	84	Hr ×
Miscellaneous		7	%		14,886		545		Baht / 101
Subtotal					227,541		8,330		
2. Material	·							per 10m	
Cross Bit RM 8-25		47	Pcs	3,500	164,500	0	0		
Miscellaneous		5	%		8,225	0	0	164,500	Baht / 101
Subtotal					172,725		0		
3. Labor								per 10m	
Foreman Tunnel		2	day			720	1,440	21	Hr/12Hr
Operator of Heavy		4.5	day			460	2,070	1.5	day x
Driver		10.5	day			- 350	3,675	1.5	day ×
Skilled Labor		4.5	day			260	1,170	1.5	day ×
Common Labor		9.0	day	<u> </u>		230	2,070	1.5	day ×
Subtotal					<u> </u>		10,425		
4. Total			1.11		400,266		18,755	419,021	Baht / 10

.

			R	ate =	30,595	Baht/m	<b>F.C.</b> =	28,814	Baht/m	94%	
	Ing-Yot Tunnel without A	dit					L.C. =	1,781	Baht/m	6%	
					Foreign	Currency	Local Co	urrency			
	Items	Unit	Quar	itity	Rate	Cost	Rate	Cost	J	Remark	
1.	<b>Operation Cost</b> (Equipment	nt & Fi	iel)						per 10m		
· I.	Soft Rock Tunnel Cutter 200kv	1	13	Hr	8,605	111,865	155	2,015	13	Hr ×	
	Tractor Shovel 2.3m3 wheel typ	1	19	Hr	1,460	27,740	60	1,140	19	Hr ×	
	Dump Truck 11t	1	75	Hr	630	47,250	50	3,750	75	Hr×	
<b>.</b>	Miscellaneous		7	%		13,080		483		Baht / 10m	
1	Subtotal					199,935		7,388			
2.	Material								per 10m		
	Cross Bit RM 8-25	÷ .	24	Pcs	3,500	84,000	0	· 0		1.1	
	Miscellaneous		5	%		4,200	0	0	84,000	Baht / 10m	ι
	Subtotal					88,200		0			
3.	Labor						· ·		per 10m		
	Foreman Tunnel		2	day			720	1,440	19	Hr/12Hr	•
	Operator of Heavy		4.5	day			460	2,070	1.5	day ×	
	Driver		10.5	day	1 · · ·	1	350	3,675	1.5	day x	
	Skilled Labor		4.5	day			260	1,170	1.5	day ×	
	Common Labor		9,0	day			230	2,070	1.5	day ×	
	Subtotal							10,425			
	. Total				1	288,135		17,813	305 048	Baht / 10m	•

		Ra	te =	31,957	Baht/m	<b>F.C.</b> =	30,092	Baht/m	94%	
Ing-Yot Tunnel without Ad	lit					L.C. =	1,865	Baht/m	6%	
				Foreign (	Currency	Local C	urrency			
Items	Unit	Quar	tity	Rate	Cost	Rate	Cost	R	lemark	
. Operation Cost (Equipmen	it & Fu	iel)					-	per 10m	1.e	
Soft Rock Tunnel Cutter 200kw	1	14	Hr	8,605	120,470	155	2,170	14	Hr×	1
Tractor Shovel 2.3m3 wheel typ	1	19	Hr	1,460	27,740	60	1,140	19	Hr×	1
Dump Truck 11t	1	77	Hr	630	48,510	50	3,850	77	Hr ×	1
Miscellaneous		10	%		19,672	·	716		Baht / 10m	
Subtotal					216,392		7,876			
2. Material								per 10m		
Cross Bit RM 8-25		23	Pcs	3,500	80,500	0	0		· · · ·	
Miscellaneous		5	%	1	4,025	0	0	80,500	Baht / 10m	
Subtotal					84,525		0			
3. Labor				·				per 10m		
Foreman Tunnel		2	day			720	1,440	19	Hr/12Hr	1
Operator of Heavy	-	4.5	day			460	2,070	1.5	day ×	3
Driver		10.5	day			350	3,675	1.5	day ×	7
Skilled Labor		4.5	day			260	1,170	1.5	day ×	3
Common Labor		10.5	day			230	2,415	1.5	, day × _	7
Subtotal							10,770	· · ·		
4. Total					300,917		18,646	319,563	Baht / 10m	<u>)</u>
5. Output	Worki	ng Time	per 1	i day = 12 l	lr × 2 shif	it i		per	10 m	n i
Rate = Baht/m			•		30,092	2 Baht/m	1,865	5 Baht/m	= 3	31,95

		Rat	e =	32,399	Babt/m	<b>F.C.</b> =	30,529	<b>Baht/m</b> 94%
Ing-Yot Tunnel without Ad	lit		• .			L.C. =	1,870	Baht/m 6%
				Foreign (	urrency	Local C	urrency	
Items	Unit	Quanti	ity	Rate	Cost	Rate	Cost	Remark
1. Operation Cost (Equipmen	t & Fu	iel)						per 10m
Soft Rock Tunnel Cutter 200kv	1	14	Hr	8,605	120,470	155	2,170	14 Hr× 1
Tractor Shovel 2.3m3 wheel typ	1	19	Hr	1,460	27,740	60	1,140	19 Hrx 1
Dump Truck 11t	1	78 -	Hr	630	49,140	50	3,900	78 Hr × 1
Miscellaneous		10	%		19,735	·	721	Baht / 10m
Subtotal					217,085		7,931	<u> </u>
2. Material								per 10m
Cross Bit RM 8-25		24	Pcs	3,500	84,000	0	0	a da an an Artean
Miscellaneous		5	%		4,200	0	0	84,000 Baht / 10m
Subtotal					88,200		: 0	
3. Labor						1		per 10m
Foreman Tunnel		2 0	iay			720	1,440	19 Hr/12Hr 1
Operator of Heavy		4.5 0	iay		1.11	460	2,070	1.5 day × 3
Driver		10.5	day			5. 350	3,675	1.5 day × 7
Skilled Labor		4.5	day			260	1,170	1.5 day x 3
Common Labor	an an an an an an an an an an an an an a	10.5	day		1	230	2,415	1.5 day x 7
Subtotal	·.	1					10,770	and the second second
4. Total					305,285		18,701	323,986 Baht / 10m
5. Output	Worki	ng Time i	per 1	day = 12 I	Ir × 2 shit	R .	1	per 10 m
Rate = Baht/m		,		· · · · ·		9 Bant/m	1.870	) Baht/m = 32,39

	T-20. Unit Rate	e per	Mete	r of	Excava	tion of	Upper	Half : (	Grade l	B	
			R	ate =	41,959	Baht/m	<b>F.C.</b> =	40,196	Baht/m	96%	
	Adit for Ing-Yot No.2 Tuni	nel					L.C. =	1,763	Baht/m	4%	
					Foreign	Currency	Local C	urrency			
	Items	Unit	Quar	ntity	Rate	Cost	Rate	Cost	F	Remark	
1.	<b>Operation Cost (Equipmen</b>	it & Fu	iel)						per 10m		
	Soft Rock Tunnel Cutter 200kw	1 -	14	Hr	8,605	120,470	155	2,170	14	Hr ×	1
	Tractor Shovel 2.3m3 wheel typ	1	18	Hr	1,460	26,280	60	1,080	18	Hr ×	1
	Dump Truck 11t	1	69	Hr	630	43,470	50	3,450	69	Hr ×	1
	Miscellaneous		5	%		9,511		335		Baht / 10m	1
	Subtotal				ļ	199,731		7,035			
2.	Material								per 10m		
	Cross Bit RM 8-25	•	54	Pcs	3,500	189,000	0	0			
	Miscellaneous		7	%		13,230	0	0	189,000	Baht / 10m	l
	Subtotal					202,230		0	ļ		
3.	Labor								per 10m		
ļ	Foreman Tunnel		2	day			.720	1,440	18	Hr/12Hr	1,5
	Operator of Heavy		4.5	day			460	2,070	1.5	day ×	3
	Driver		9.0	day		· ·	350	3,150	1.5	day x	6
	Skilled Labor		4.5	day			260	1,170	1.5	day ×	3
	Common Labor	•	12.0	day	•		230	2,760	1.5	day ×	8
	Subtotal					· · · · ·	<u> </u>	10,590	· .		
4.	Total				<u> </u>	401,961	<u> </u>	17,625	419,586	Baht / 10n	1.
5.	Output	Worki	ng Time	e per 1	day = 12 ł	Ir × 2 shif	t sa s		per	ี่ 10 ก	<b>1</b> .
	Rate = Baht/m		·			40,196	Baht/m	1,763	Baht/m	=	\$1,959

		Ra	te =	36,054	Baht/m	<b>F.C.</b> =	34,368	Baht/m	95%	
Adit for Ing-Yot No.2 Tunr	ıel				•	L.C. =		Baht/m	5%	
				Foreign (	Currency	Local Cu	irrency			
Items	Unit	Quan	tity	Rate	Cost	Rate	Cost	R	emark	
. Operation Cost (Equipmen	t & Fi	el)						per 10m		
Soft Rock Tunnel Cutter 200kw		12	Hr	8,605	103,260	155	1,860	12	Hr ×	1
Tractor Shovel 2.3m3 wheel typ		16	Hr	1,460	23,360	60	960	16	Hr ×	1
Dump Truck 11t	1	63	Hr	630	39,690	50	3,150	63	Hr ×	1
Miscellaneous		5	%		8,316		299		Baht / 101	m
Subtotal				· · ·	174,626		6,269			
2. Material	<b></b>							per 10m		
Cross Bit RM 8-25		46	Pcs	3,500	161,000	0	0	1.1	•	
Miscellaneous		5	%		8,050	0	0	161,000	Baht / 10	m
Subtotal		1			169,050		0	:		
3. Labor	<u></u>							per 10m		
Foreman Tunnel		2	day			720	1,440	16	Hr/12Hr	1.
Operator of Heavy		4.5	day			460	2,070	1.5	day ×	3
Driver		9.0	day			350	3,150	- 1.5	day ×	6
Skilled Labor		4.5	day			260	1,170	1.5	day ×	3
Common Labor		12.0	day			230	2,760	1.5	day x	8
Subtotal	:		~~				10,590			
4. Total			1		343,676		16,859	360,535	Baht / 10	m
5. Output	Work	ing Time	per 1	day = 12 l	Hr × 2 shif	i -		per	10.	m
Rate = Baht/m		- 				Baht/m	1,68	6 Baht/m	=	36,05

· .		R	te =	28,372	Baht/m	<b>F.C.</b> =	27,038	Baht/m	95%	
Adit for Ing-Yot No.2 Tuni	nel			· .	1. 	L.C. =	1,334	Baht/m	5%	
				Foreign (	urrency	Local C	irrency			
Items	Unit	Quan	itity	Rate	Cost	Rate	Cost	R	emark	
. Operation Cost (Equipmen	it & Fi	iel)			· ••			per 10m		
Soft Rock Tunnel Cutter 200kw		10	Hr	8,605	86,050	155	1,550	10	Hr ×	1
Tractor Shovel 2.3m3 wheel ty	1	12	Hr	1,460	17,520	60	720	12	Hr×	1
Dump Truck 11t	1	61	Hr	630	38,430	50	3,050	61	Hr ×	1
Miscellaneous		5	%		7,100		266		Baht / 10m	
Subtotal					149,100		5,586			
2. Material							-	per 10m		
Cross Bit RM 8-25		33	Pcs	3,500	115,500	0	. 0			
Miscellaneous		5	%		5,775	0	0	115,500	Baht / 10m	
Subtotal				·	121,275	·	0		·	
3. Labor								per 10m	1.5.5	
Foreman Tunnel		1	day			720	720	12	Hr/12Hr	
Operator of Heavy		3.0	day	1		460	1,380	1.5	day ×	. 2
Driver		9.0	day			350	3,150	1.5	day ×	¢
Skilled Labor		3.0	day		1.	260	780	1.5	day ×	2
Common Labor		7.5	day			230	1,725	1.5	day ×	
Subtotal	-		-				7,755			
4. Total					270,375	<u> </u>	13,341	283,716	Baht / 10n	<u>n</u>
5. Output	Work	ine Tim	e per (	l day = 12 ]	Hr × 2 shi	ft		per	10 n	n
Rate = Baht/m		÷	•	-		8 Baht/m	1.33	4 Baht/m	£	28,

		R	ate =	22,687	Baht/m	<b>F.C.</b> =	21,477	Baht/m	95%	
Adit for Ing-Yot No.2 Tunn	el					L.C. =	1,210	Baht/m	5%	
				Foreign (	Currency	Local C	urrency			
Items	Unit	Quar	ntity	Rate	Cost	Rate	Cost	ł	Remark	
1. Operation Cost (Equipment	t & Ft	nel)						per 10m		
Soft Rock Tunnel Cutter 200kw	1	8	Hr	8,605	68,840	155	1,240	8	Hr ×	
Tractor Shovel 2.3m3 wheel typ	1	11	Hr	1,460	16,060	60	660	11	Hr ×	
Dump Truck 11t	1	53	Hr	630	33,390	50	2,650	53	Hr ×	
Miscellaneous		7	%		8,280		319		Baht / 10m	n
Subtotal					126,570		4,869			
2. Material								per 10m		
Cross Bit RM 8-25	.1	24	Pcs	3,500	84,000	0	0			
Miscellaneous		5	%		4,200	0	0	84,000	Baht / 10m	n.
Subtotal					88,200		0	-		
3. Labor								per 10m		
Foreman Tunnel		1	day			720	720	11	Hr/12Hr	
Operator of Heavy		3.0	day			460	1,380	1.5	day ×	
Driver		7.5	day			350	2,625	1.5	day ×	
Skilled Labor	•	3.0	day		ļ -	260	780	1.5	day ×	
Common Labor		7.5	day	<u> </u>	· .	230	1,725	1.5	day ×	
Subtotal					· · · · · · · · · · · · · · · · · · ·		7,230	<u> </u>		
4. Total			·		214,770	L	12,099	226,869	Baht / 10r	n

		Ra	te =	16,885	Baht/m	<b>F.C.</b> =	15,720	Baht/m	93%	
Adit for Ing-Yot No.2 Tunn	el		1	· .		L.C. =	1,165	Baht/m	7%	
			1.1	Foreign (	Currency	Local C	urrency			
Items	Unit	Quan	tity	Rate,	Cost	Rate	Cost	R	emark	
1. Operation Cost (Equipmen	t & Fr	iel)				1 S. 1		per 10m		
Soft Rock Tunnel Cutter 200kw	1	7	Hr	8,605	60,235	155	1,085	. 7	Hr ×	1
Tractor Shovel 2.3m3 wheel typ	1	10	Hr	1,460	14,600	60	600	10	Hr ×	1
Dump Truck 11t	1	49	Hr	630	30,870	. 50	2,450	49	Hr×	1
Miscellaneous		7	%		7,399	1994 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 -	289		Baht / 10m	· · ·
Subtotal					113,104		4,424			
2. Material								per 10m	1	
Cross Bit RM 8-25		12	Pcs	3,500	42,000	0	0			
Miscellaneous		5	%		2,100	0	0	42,000	Baht / 10m	
Subtotal					44,100		0			
3. Labor								per 10m	e e est	
Foreman Tunnel		· . 1	day	·		720	720	10	Hr/12Hr	0.8
Operator of Heavy		3.0	day			460	1,380	1.5	day ×	2
Driver		7.5	day			350	2,625	1.5	day ×	5
Skilled Labor	- 1	3.0	day			260	780	1.5	day ×	2
Common Labor		.7,5	day		·	230	1,725	1.5	day ×	5
Subtotal		· ·				:	7,230			
4. Total			. •		157,204		11,654	168,858	Baht / 10m	-
5. Output	Worki	ng Time	per 1	day = 12 }	lr × 2 shif	t .		per	10 m	1 ·
Rate = Baht/m				-	15.720	) Baht/m	1.16	5 Baht/m =	= 1	6.885

		Ra	te =	18,012	Baht/m	<b>F.C.</b> =	16,824	Baht/m	93%	
Adit for Ing-Yot No.2 Tunne	ł				•	L.C. =		Baht/m	7%	
				Foreign (	Currency	Local Ci	irrency			
Items	Unit	Quan	tity	Rate	Cost	Rate	Cost	: R	emark	
1. Operation Cost (Equipment	& Fi	uel)						per 10m	÷	
	1	8	Hr	8,605	68,840	155	1,240	8	Hr ×	1
Tractor Shovel 2.3m3 wheel typ	1	9	Hr	1,460	13,140	60	540	. 9	Hr ×	1
Dump Truck 11t	1	49	Hr	630	30,870	50	2,450	49	Ηr×	1
Miscellancous		10	%		11,285		423		Baht / 10m	<u>.</u>
Subtotal			•		124,135		4,653			
2. Material		1						per 10m		
Cross Bit RM 8-25		12	Pcs	3,500	42,000	· 0	0		1	
Miscellaneous		5	%		2,100	0	0	42,000	Baht / 10m	
Subtotal					44,100		0			
3. Labor								per 10m		
Foreman Tunnel		1	day			720	720	. 9	Hr/12Hr	0.8
Operator of Heavy		3.0	day	1.	· · .	460	1,380	1.5	day ×	. 2
Driver		7.5	day		1 :	350	2,625		day ×	5
Skilled Labor		3.0	day	ļ		260	780	1	day ×	2
Common Labor		7.5	day		ļ	230	1,725		day ×	5
Subtotal	· .				ļ	ļ	7,230		t est	
4. Total	. •		_		168,235		11,883	180,118	Baht / 101	1

-	. Output		-				4 4 6 6		617
L	Rate = Baht/m				16,824	Baht/m	1,188	Baht/m = 18,0	<u>)14</u>
				en en en en en en en en en en en en en e			· · ·		
· F	T-26. Unit Rate	per	Meter of	Excavat	tion of l	Upper I	Half : (	Grade E2	
				= 17,290					
	Adit for Ing-Yot No.2 Tuni	nel	N			L.C. =			
F				Foreign (	Currency	Local Currency			
	Items	Unit	Quantity	Rate	Cost	Rate	Cost	Remark	
· 1	. Operation Cost (Equipmen	t & Fi	iel)					per 10m	
	Soft Rock Tunnel Cutter 200kw		7 H	r 8,605	60,235	155	1,085	7 Hr× 1	1
	Tractor Shovel 2.3m3 wheel typ	1	10 H	r 1,460	14,600	60	600	10 Hr × 1	1
	Dump Truck 11t	1	50 H	r 630	31,500	50	2,500	50 Hr×	1
	Miscellaneous		10 %	5	10,634	and the	419	Baht / 10m	
.	Subtotal				116,969		4,604		
	2. Material							per 10m	
	Cross Bit RM 8-25		12 P	s 3,500	42,000	0	0		
	Miscellaneous		5 9	6	2,100	0	0	42,000 Baht / 10m	_
	Subtotal	- 1			44,100		0		
	3. Labor				· ·		. · · .	per 10m	
	Foreman Tunnel	· · ·	1 da	/   · · · ·		720	720	10 Hr/12Hr	
	Operator of Heavy	-	3.0 da	y   .		460	1,380	1.5 day ×	2
	Driver		7.5 da	y i		350	2,625	1.5 day ×	\$
	Skilled Labor		3.0 da	y. ]		260	780	1.5 day ×	2
	Common Labor		7.5 da	y		230	1,725	1.5 day×	:
1	Subtotal		1	· · · ·			7,230	)	
	4. Total				161,069		11,834	172,903 Baht / 10m	
	5. Output	Work	ing Time pe	r 1 day = 12				per 10 m	
	Rate = Baht/m		• · · · · · · · · · · · · · · · · · · ·			7 Baht/m	1.18	3 Baht/m = 13	7.3

		Rate =	5,424	Baht/m	<b>F.C.</b> =	4,728	Baht/m 87%	
Kok-Ing Tunnel					L.C. =	696	Baht/m 13%	
			Foreign (	Jurrency	Local Ci	irrency		
Items	Unit	Quantity	Rate	Cost	Rate	Cost	Remark	
. Operation Cost (Equipme	nt & Fu	iel)					per 10m	
Rock Breaker 1300kg	1	8.0 Hr	3,945	31,560	75	600	8.0 Hr×	1
Backhoe Shovel 0.6 m3	1	2 Hr	985	1,970	: 75	150	2 Hr×	1
Dump Truck 11t	1	15 Hr	630	9,450	50	750	15 Hr ×	1
Miscellaneous		10 %		4,298		150	Baht / 10 m	1
Subtotal				47,278		1,650	-	
2. Labor							per 10m	
Foreman Tunnel		1 day			720	720	8 Hr/12Hr	0
Operator of Heavy		3.0 day			460	1,380	1.5 day ×	2
Driver		3.0 day			350	1,050	1.5 · day × -	2
Skilled Labor		3.0 day			260	780	1.5 day×	2
Common Labor	· · ·	6.0 day			230	1,380	1.5 day ×	4
Subtotal						5,310		
3. Total				47,278		6,960	54,238 Baht / 10m	
4. Output	Worki	ng Time per 1	day = 12 H	lr × 2 shift			per 10 m	
Rate = Baht/m		1		4.728	Baht/m	696	Baht/m =	5,424

		Rate =	4,744	Baht/m	<b>F.C.</b> =	4,069	Baht/m 86%
Kok-Ing Tunnel					L.C. =	675	Baht/m 14%
	1.00	an An an	Foreign (	Currency	Local C	urrency	
Items	Unit	Quantity	Rate	Cost	Rate	Cost	Remark
1. Operation Cost (Equipmen	t & Fu	el)		11. E			per 10m
Rock Breaker 1300kg	1	6.8 Hr	3,945	26,826	75	510	6.8 Hr ×
Backhoe Shovel 0.6 m3	1	2 Hr	985	1,970	75	150	2 Hr×
Dump Truck 11t	1	13 Hr	630	8,190	50	650	13 Hr×
Miscellaneous		10 %		3,699	-	131	Baht / 10 r
Subtotal	1			40,685		1,441	L
2. Labor			-				per 10m
Foreman Tunnel		1 day			720	720	7 Hr/12Hr
Operator of Heavy		3.0 day			460	1,380	1.5 day ×
Driver		3.0 day			350	1,050	1.5 day ×
Skilled Labor	1.1	3.0 day		1. F	260	780	1.5 day×
Common Labor	<u> </u>	6.0 day	·		230	1,380	1.5 day×
Subtotal						5,310	
3. Total				40,685		6,751	47,436 Baht / 10n
4. Output	Worki	ng Time per 1	day = 12 F	lr × 2 shif	t		per 10 n
Rate = Baht/m				4 869	Baht/m	675	Baht/m =

			Ra	ite =	4,573	Baht/m	<b>F.C.</b> =	3,954	Baht/m	86%	
Kok	-Ing Tunnel						L.C. =	619	Baht/m	14%	
					Foreign (	Currency	Local Cu	irrency			
	Items	Unit	Quan	tity	Rate	Cost	Rate	Cost	]	Remark	
1. Ope	eration Cost (Equipn	nent & Fu	el)						per 10m		
-	k Breaker 1300kg	1	6.3	Hr	3,945	24,854	75	473	6.3	Hr ×	1
Baci	khoe Shovel 0.6 m3	1	2	Hr	985	1,970	75	150	2	Hr×	1
Dun	p Truck 11t	1	12	Hr	630	7,560	50	600	12	Hr×	1
Mis	cellaneous		15	%		5,158		183		Baht / 10	<u>n</u>
	Subtotal					39,542		1,406			
2. Lat	xor .								per 10m		
For	eman Tunnel		1	day			720	720	6	Hr/12Hr	(
Ope	erator of Heavy		3.0	day			460	1,380	1.5	day ×	2
Dri			1:5	day			350	525	1.5	day ×	1
Ski	lled Labor		3.0	day			260	780	1.5	day ×	2
Cor	mmon Labor	-	6.0	day			230	1,380	1.5	i day×	4
	Subtotal							4,785		· · · · · · · · · · · · · · · · · · ·	
3.	Total			-		39,542	<u> </u>	6,191	45,732	Baht / 101	n

Foreign       ty     Rate       Hr     3,945       Hr     985       Hr     630       %     1	1,970	<b>Rate</b> 75 75 50		Baht/m         13%           Remark           per 10m           7.9         Hr ×           2         Hr ×           13         Hr ×           13         Hr ×
ty Rate Hr 3,945 Hr 985 Hr 630	Cost 31,166 1,970 8,190 6,199	<b>Rate</b> 75 75 50	Cost 593 150 650 209	per 10m 7.9 Hr × 2 Hr × 13 Hr × Baht / 1
Hr 3,945 Hr 985 Hr 630	31,166 1,970 8,190 6,199	75 75 50	593 150 650 209	per 10m 7.9 Hr × 2 Hr × 13 Hr × Baht / 1
Hr 985 Hr 630	1,970 8,190 6,199	75 50	150 650 209	7.9 Hr × 2 Hr × 13 Hr × Baht / 1
Hr 985 Hr 630	1,970 8,190 6,199	75 50	150 650 209	2 Hr× 13 Hr× Baht / 1
Hr 630	8,190 6,199	50	650 209	13 Hr × Baht / 1
1 A A A A A A A A A A A A A A A A A A A	6,199		209	Baht / 1
%				+
	47,525		1,602	
				per 10m
ay		720	720	8 Hr/12H
ay		460	1,380	1.5 day ×
ay		350	1,050	1.5 day ×
iay	1	260	780	1.5 day ×
lay		230	1,380	1.5 day ×
			5,310	1
	47,525	;	6,912	54,436 Baht /
	ay ay ay	ay ay ay 47,525 er 1 day = 12 Hr × 2 shi	ay 350 ay 260 ay 230 47,525 er 1 day = 12 Hr × 2 shift	ay     350     1,050       ay     260     780       ay     230     1,380       5,310     5,310

		Rate =	5,657	Baht/m	<b>F.C.</b> =	4,959	Baht/m	88%	
Kok-Ing Tunnel					L.C. =	698	Baht/m	12%	
	1		Foreign	Currency	Local C	urrency			
Items	Unit	Quantity	Rate	Cost	Rate	Cost	F	Remark	
1. Operation Cost (Equipm	ent & Fi	iel)					per 10m		
Rock Breaker 1300kg	1	7.9 Hr	3,945	31,166	75	593	7.9	Hr ×	1
Backhoe Shovel 0.6 m3	1	2 Hr	985	1,970	75	150	2	Hr ×	1
Dump Truck 11t	1	13 Hr	630	8,190	50	650	13	Hr ×	
Miscellaneous	·	20 %		8,265		279		Baht / 10	m
Subtotal				49,591		1,672		· · ·	
2. Labor							per 10m		
Foreman Tunnel		1 day			720	720	8	Hr/12Hr	
Operator of Heavy		3.0 day	1.		460		1.5	day ×	
Driver		3.0 day			350		1.5	day ×	:
Skilled Labor		3.0 day			260	780	1.5	day x	
Common Labor	·	6.0 day			230	1,380	1.5	day x	
Subtotal						5,310		· .	
3. Total				49,591		6,982	56,572	Baht / 10	m
4. Output	Worki	ng Time per 1	day = 12 ł	$4r \times 2$ shift	t į		per	10	m.
Rate = Baht/m		1		4,959	Baht/m	698	Baht/m	<b>.</b>	5,6

T-32. Unit R	ate per							Baht/m	88%	
		Rat	e =	5,037	Baht/m					
Kok-Ing Tunnel	<b></b>					L.C. =		Baht/m	12%	
				Foreign (	Currency	Local C	urrency	· · · ·		
Items	Unit	Quanti	ity	Rate	Cost	Rate	Cost	ŀ	lemark	
1. Operation Cost (Equipm	ent & Fu	el)						per 10m		
Rock Breaker 1300kg	1	· 7.9	Hr	3,945	31,166	75	593	7.9	Hı ×	1
Backhoe Shovel 0.6 m3	1	· 2	Hr	985	1,970	75	150	2	Hr ×	1
Dump Truck 11t	1	13	Hr	630	8,190	50	650	13	Hr ×	1
Miscellaneous		20	%		8,265		279		Baht / 10	m
Subtotal					49,591		1,672	í		
2. Labor								per 10m		
Foreman Tunnel		1 d	ay	•		720	720	8	Hr/12Hr	0.7
Operator of Heavy		3.0 d	ay			460	1,380	1.5	$day \times$	2
Driver		3.0 đ	ay	•		350	1,050	1.5	day ×	2
Skilled Labor		3.0 d	lay			260	780	1.5	day ×	2
Common Labor		6.0 d	ay			230	1,380	1.5	day ×	4
Subtotal							5,310			
3. Total					49,591		6,982	56,572	Baht / 10	m
4. Output	Worki	ng Time p	er 1	day = 12 F	lr × 2 shift	t .		per	10	m
Rate = Baht/m					4,959	Baht/m	698	Baht/m	=	5,657

		R	ate =	6,199	Baht/m	<b>F.C.</b> =	5,272	Baht/m	85%	
Ing-Yot No.2 Tunnel wit	h Adit					L.C. =	927	Baht/m	15%	
				Foreign (	Currency	Local C	urrency			
Items	Unit	Quar	itity	Rate	Cost	Rate	Cost	J	Remark	
1. Operation Cost (Equip	oment & Fu	iel)						per 10m		
Rock Breaker 1300kg	1	5.0	Hr	3,945	19,725	75	375	5.0	Hr ×	1
Backhoe Shovel 0.6 m3	1	6	Hr	985	5,910	75	450	- 6	Hr ×	1
Dump Truck 11t	1	39	Hr	630	24,570	50	1,950	39	Hr×	1
Miscellaneous		5	%		2,510		139		Baht / 10	) m
Subtotal					52,715		2,914			
2. Labor								per 10m		
Foreman Tunnel		1	day			720	720	5	Hr/12Hr	0
Operator of Heavy		3.0	day			460	1,380	1.5	day ×	. 2
Driver		6.0	day			350	2,100	1.5	day ×	4
Skilled Labor	·	3.0	day			260	780	1.5	day ×	· ·, 2
Common Labor		6.0	day			230	1,380	1.5	day ×	4
Subtotal		· ·		<u> </u>		<u> </u>	6,360		· .	
3. Total	· · · · · · · · · · · · · · · · · · ·			<u> </u>	52,715	L	9,274	61,989	Baht / 1	Om
4. Output	Worki	ng Timo	per 1	day = 12 F	Ir × 2 shif	t.		per	10	m
Rate = Baht/m	· · ·		•	· .	5,272	Baht/m	927	Baht/m		6,19

		Rate =	7,596	Baht/m	<u>F.C. =</u>	6,753	Baht/m	89%	
Ing Ing-Yot No.2 Tunnel wit	th Adit				L.C. =	843	Baht/m	11%	
· · ·			Foreign (	Currency	Local C	urrency			
Items	Unit	Quantity	Rate	Cost	Rate	Cost	R	emark	
1. Operation Cost (Equipm	ent & Fu	iel)					per 10m		
Rock Breaker 1300kg	1	10.5 Hr	3,945	41,423	- 75	788	10.5	Hr ×	1
Backhoe Shovel 0.6 m3	1	3 Hr	985	2,955	75	225	3	Hr ×	1
Dump Truck 11t	1	27 Hr	630	17,010	50	1,350	27	Hr ×	1
Miscellaneous		10 %		6,139		236		Baht / 10	m
Subtotal				67,527		2,599			
2. Labor							per 10m		•
Foreman Tunnel		1 day			720	720	11	Hr/12Hr	0.
Operator of Heavy	÷	3.0 day	1		460	1,380	1.5	day ×	2
Driver		4.5 day			350	1,575	1.5	day ×	3
Skilled Labor		3.0 day		· .	260	780	1.5	day ×	2
Common Labor		6.0 day			230	1,380	1.5	day ×	4
Subtotal						5,835	· · ·		
3. Total		<u> </u>		67,527		8,434	75,960	Baht / 10	m
4. Output	Worki	ng Time per 1	day = 12 H	Ir × 2 shift	t <sup>a</sup> j		per	<b>10</b>	m
Rate = Baht/m				6,753	Baht/m	843	Baht/m =	•	7,596

	÷.,	Rate =	6,760	Baht/m	<b>F.C.</b> =	6,002	Baht/m	89%
Ing-Yot No.2 Tunnel with Adi	t				L.C. =	758	Baht/m	11%
			Foreign (	Currency	Local C	arrency		
Items	Unit	Quantity	Rate	Cost	Rate	Cost	<u>بر</u>	lemark
<b>Operation Cost</b> (Equipment	t & Fu	el)	· · ·				per 10m	
Rock Breaker 1300kg	1	9.5 Hr	3,945	37,478	. 75	713	-9.5	Hr× 1
Backhoe Shovel 0.6 m3	1	2 Hr	985	1,970	75	150	2	$Hr \times 1$
Dump Truck 11t	1	24 Hr	630	15,120	50	1,200	24	Hr× 1
Miscellaneous		10 %		5,457	· · ·	206		Baht / 10 m
Subtotal				60,025		2,269	<u>`</u>	4
Labor				· ·			per 10m	
Foreman Tunnel		1 day		-	720	720	10	Hr/12Hr 0.8
Operator of Heavy	÷ .	3.0 day		· .	460	1,380	1.5	day× 2
Driver		3.0 day			350	1,050	1.5	day x 2
Skilled Labor	1. 1. 1. 1.	3.0 day			260	780	1.5	day × 2
Common Labor		6.0 day		· . ·	230	1,380	1.5	day × 4
Subtotal				н 1	· ·	5,310		
Total			1	60,025		7,579	67,603	Baht / 10m

		R	ate =	6,485	Baht/m	<b>F.C.</b> =	5,740	Baht/m	89%
Ing-Yot No.2 Tunnel with Ac	lit					L.C. =	745	Baht/m	11%
				Foreign (	Currency	Local C	urrency		
Items	Unit	Qua	ntity	Rate	Cost	Rate	Cost	. )	Remarl
1. Operation Cost (Equipme	nt & Fu	iel)						per 10m	
Rock Breaker 1300kg	1	8.8	Hr	3,945	34,716	75	660	8.8	Hr ×
Backhoe Shovel 0.6 m3	1	2	Hr	985	: 1,970	75	150	2	Hr ×
Dump Truck 11t	1	21	Hr	630	13,230	50	1,050	21	Hr×
Miscellaneous		15	%		7,487		279		Baht / 1
Subtotal					57,403		2,139		
2. Labor								per 10m	
Foreman Tunnel		1	day			720	720	- 9	H1/12H
Operator of Heavy		3.0	day			460	1,380	1.5	day ×
Driver		3.0	day			350	1,050	1.5	day x
Skilled Labor		3.0	day		1997 - 19	260	780	1.5	day ×
Common Labor		6.0	day			230	1,380	1.5	day x
Subtotal							5,310		
3. Total			200		57,403	ar e	7,449	64,852	Baht / 1

Rate = Baht/m				5,740	Baht/m	745	Baht/m = 6,48
				an an Na bananan	يە مەربىيە ي		
T-37. Unit Rat	e per l	Meter of ]	Excavat	ion of ]	Lower ]	Half : (	Grade D2
		Rate =	7,904	Baht/m	<b>F.C.</b> =	7,128	Baht/m 90%
Ing-Yot No.2 Tunnel with Ac	lit				L.C. =	776	Baht/m 10%
		a ja ž	Foreign (	Currency	Local C	urrency	
Items	Unit	Quantity	Rate	Cost	Rate	Cost	Remark
. Operation Cost (Equipme	nt & Fu	el)					per 10m
Rock Breaker 1300kg	1	11.7 Hr	3,945	46,157	75	878	11.7 Hr× 1
Backhoe Shovel 0.6 m3	1	2 Hr	985	1,970	75	150	2 Hr × 1
Dump Truck 11t	1	22 Hr	630	13,860	50	1,100	22 Hr× 1
Miscellaneous		15 %		9,298		319	Baht / 10 m
Subtotal				71,285	•	2,447	
2. Labor						• •	per 10m
Foreman Tunnel		1 day			720	720	12 Hr/12Hr
Operator of Heavy		3.0 day			460	1,380	1.5 day × 2
Driver		3.0 day		1. A. A.	350	1,050	1.5 day × 2
Skilled Labor		3.0 day		· ·	260	780	1.5 day × 2
Common Labor		6.0 day			230	1,380	1.5 day × 4
Subtotal						5,310	
3. Total				71,285		7,757	79,041 Baht / 10m
4. Output	Worki	ng Time per 1	day = 12 H	lr × 2 shift			per 10 m
Rate = Baht/m			•	7,128	Baht/m	776	Baht/m = 7,9

Ing-Yot No.2 Tunnel with Ad	it				L.C. =	786	Baht/m	10%	
			Foreign	Currency	Local C	urrency			
Items	Unit	Quantity	Rate	Cost	Rate	Cost	R	emark	
1. Operation Cost (Equipme	nt & Fu	iel)					per 10m		
Rock Breaker 1300kg	1	11.7 Hr	3,945	46,157	75	878	11.7	Hr ×	1
Backhoe Shovel 0.6 m3	1	2 Hr	985	1,970	75	150	2	Hr ×	1
Dump Truck 11t	1	22 Hr	630	13,860	50	1,100	22	Hr ×	1
Miscellaneous		20 %		.12,397		426		Baht / 10	m
Subtotal		· · ·		74,384		2,554			
2. Labor		·					per 10m		
Foreman Tunnel		1 day			720	720	12	Hr/12Hr	1
Operator of Heavy		3.0 day			460	1,380	1.5	day x	2
Driver		3.0 day			350	1,050	1.5	day ×	2
Skilled Labor		3.0 day			260	780	1.5	day ×	2
Common Labor		6.0 day			230	1,380	1.5	day x	4
Subtotal						5,310			
3. Total				74,384		7,864	82,247	Baht / 101	n

.

T-39. Unit Rate	per ]	Meter of ]	Excavat	ion of	Lower ]	Half : Grade E2				
		Rate =	8,369	Baht/m	<b>F.C.</b> =	7,580	Baht/m 91%			
Ing-Yot No.2 Tunnel with Adi	it		• . : •		L.C. =	789	Baht/m 9%			
			Foreign (	Currency	Local C	urrency				
Items	Unit	Quantity	Rate	Cost	Rate	Cost	Remark			
1. Operation Cost (Equipmen	t & Fu	el)					per 10m			
Rock Breaker 1300kg	1	12.0 Hr	3,945	47,340	75	900	12.0 Hr × 1			
Backhoe Shovel 0.6 m3	1	2 Hr	985	1,970	75	150	2 Hr× 1			
Dump Truck 11t	1	22 Hr	630	13,860	50	1,100	22 Hr× 1			
Miscellaneous		20 %		12,634		430	Baht / 10 m			
Subtotal				75,804		2,580				
2. Labor							per 10m			
Foreman Tunnel	۰. ب	1 day			720	720	12 Hr/12Hr 1			
Operator of Heavy	1 A 1	3.0 day	· ·		460	1,380	1.5 day× 2			
Driver	· ·	3.0 day			350	1,050	1.5 day × 2			
Skilled Labor		3.0 day			260	780	1.5 day × 2			
Common Labor		6.0 day			230	1,380	1.5 day × 4			
Subtotal						5,310				
3. Total			:	75,804		7,890	83,694 Baht / 10m			
4. Output	Worki	ng Time per 1	day = 12 H	Ir×2 shif	t		per 10 m			
Rate = Baht/m			· · ·	7,580	Baht/m	789	Baht/m = 8,369			

			Ka	nte =	5,997	Banym	<b>F.C.</b> =	3,200	Baht/m	88%
Ing-Yot Tunnel	without A	dit		•			L.C. =	709	Baht/m	12%
					Foreign (	Currency	Local Cu	irrency	-	
Iter	ns	Unit	Quar	atity	Rate	Cost	Rate	Cost	F	lemark
1. Operation Cost	(Equipme	nt & Fu	iel)						per 10m	
Rock Breaker 130	0kg	1	9.2	Hr	3,945	36,294	. 75	690	9.2	Ηr×
Backhoe Shovel 0	.6 m3	1	3	Hr	985	2,955	75	225	3	Hr ×
Dump Truck 11t		1	14	Hr	630	8,820	50	700	14	Hr×
Miscellaneous			10	%		4,807		162	L	Baht / 10 1
Subtotal						52,876		1,777		·
2. Labor									per 10m	
Foreman Tunne			1	day			720	720	9	Hr/12Hr
Operator of Hea	vy		3.0	day			460	1,380	1.5	day ×
Driver			3.0	day			350	1,050	1.5	day ×
Skilled Labor			3.0	day			260	780	1.5	day ×
Common Labor			6.0	day			230	1,380	1.5	day ×
Subtotal					1		<u> </u>	5,310		
3. Total				:		52,876		7,087	59,963	Baht / 10r

T-41. Unit Ra	te per l	Meter of ]	Excavat	ion of ]	Lower I	Half : C	Grade C2
		Rate =	6,760	Baht/m	<b>F.C.</b> =	6,002	Baht/m 89%
Ing-Yot Tunnel without A	Adit	· · · · · · · · · · · · · · · · · · ·			L.C. =	758	<b>Baht/m</b> 11%
			Foreign (	Currency	Local Ci	urrency	
Items	Unit	Quantity	Rate	Cost	Rate	Cost	Remark
1. Operation Cost (Equipm	ent & Fu	el)					per 10m
Rock Breaker 1300kg	1	9.5 Hr	3,945	37,478	75	713	9.5 Hr× 1
Backhoe Shovel 0.6 m3	1	2 Hr	985	1,970	75	150	- 1 <b>2 Hrx</b> - 1
Dump Truck 11t	1	24 Hr	630	15,120	50	1,200	24 Hr× 1
Miscellaneous		10 %		5,457		206	Baht / 10 m
Subtotal				60,025		2,269	
2. Labor							per 10m
Foreman Tunnel		1 day			720	720	10 Hr/12Hr 0.8
Operator of Heavy		3.0 day			460	1,380	1.5 day × 2
Driver		3.0 day			350	1,050	1.5 day × 2
Skilled Labor		3.0 day		· · ·	260	780	1.5 day × 2
Common Labor	· .	6.0 day			230	1,380	1.5 day × 4
Subtotal	· .					5,310	
3. Total				60,025		7,579	67,603 Baht / 10m
4. Output	Worki	ng Time per 1	day = 12 I	Hr × 2 shif	t	· · · ·	per 10 m
Rate = Baht/m	:			6,002	2 Baht/m	758	Baht/m = 6,760

		R	ate =	6,485	Baht/m		· · · · · · · · · · · · · · · · · · ·	Baht/m	89%
Ing-Yot Tunnel without Ad	lit			<b></b>		L.C. =		Baht/m	11%
				Foreign (	Currency	Local C	· _ · · · · · · · · · · · · · · · · · ·	ĺ	
Items	Unit	Qua	atity	Rate	Cost	Rate	Cost	F	Remark
1. Operation Cost (Equipmen	t & Fv	el)						per 10m	
Rock Breaker 1300kg	1	8.8	Hr	3,945	34,716	75	660	8.8	Hr ×
Backhoe Shovel 0.6 m3	1	2	Hr	985	1,970	75	150	2	Hr ×
Dump Truck 11t	1	21	Hr	630	13,230	50	1,050	21	Hr ×
Miscellaneous		15	%		7,487		279		Baht / 10
Subtotal					57,403		2,139		·
2. Labor								per 10m	. · · .
Foreman Tunnel		1	day			720	720	9	Hr/12Hr
Operator of Heavy	÷.,	3.0	day			: 460	1,380	1.5	day ×
Driver		3.0	day			350	1,050	1.5	day ×
Skilled Labor		3.0	day			260	780	1.5	day ×
Common Labor		6.0	day			230	1,380	1.5	day ×
Subtotal							5,310		<u>.</u>
3. Total		<u> </u>			57,403	<u> </u>	7,449	64,852	Baht / 10
4. Output	Worki	ng Time	e per 1	day = 12 H	Ir × 2 shift	ti i		per	10
Rate = Baht/m		1.12		5,740	Baht/m	745	Baht/m	= -	

	•	Rate =		Baht/m		Half : ( 6,730	Baht/m 90%
Ing-Yot Tunnel without Ad	lit	- 			L.C. =	755	Baht/m 10%
	$1^{-1}  \mathrm{m}$		Foreign (	Currency	Local C	urrency	
Items	Unit	Quantity	Rate	Cost	Rate	Cost	Remark
1. Operation Cost (Equipmen	t & Fu	el)					per 10m
Rock Breaker 1300kg	1	11.3 Hr	3,945	44,579	. 75	848	11.3 Hr × 1
Backhoe Shovel 0.6 m3	1	2 Hr	985	1,970	75	150	2 Hr× 1
Dump Truck 11t	1	19 Hr.	630	11,970	50	950	19 Hr× 1
Miscellaneous		15 %		8,778		292	Baht / 10 m
Subtotal				67,297		2,240	
2. Labor		- -					per 10m
Foreman Tunnel	·	1 day		1. A.	720	720	11 Hr/12Hr 0.9
Operator of Heavy		3.0 day			460	1,380	1.5 day × 2
Driver	1.1.1	3.0 day			350	1,050	1.5 day × 2
Skilled Labor		3.0 day			260	780	1.5 day × 2
Common Labor		6.0 day	: <u>.</u>	· · ·	230	1,380	1.5 day x 4
Subtotal					1	5,310	
3. Total				67,297		7,550	74,846 Baht / 10m
4. Output	Worki	ng Time per 1	day = 12 ł	Ir × 2 shift	t -		per 10 m
Rate = Baht/m				6,730	Baht/m	755	Baht/m = 7,485

			Rate =	7,757	Baht/m	<b>F.C.</b> =	6,984	Baht/m	90%	
	Ing-Yot Tunnel without	Adit				L.C. =	- 773	Baht/m	10%	
				Foreign (	urrency	Local C	urrency			
	Items	Unit	Quantity	Rate	Cost	Rate	Cost	. I	Remark	
1.	<b>Operation Cost</b> (Equipm	ent & Fu	el)					per 10m		
	Rock Breaker 1300kg	1	10.9 Hr	3,945	43,001	75	818	10.9	Hr ×	1
	Backhoe Shovel 0.6 m3	1	2 Hr	985	1,970	75	150	. 2	Hr×	1
	Dump Truck 11t	1	21 Hr	630	13,230	50	1,050	21	Hr ×	1
	Miscellaneous		20 %		11,640		404		Baht / 10	m
	Subtotal				69,841		2,422			
2.	Labor							per 10m		
• •	Foreman Tunnel		1 day			720	720	11	Hr/12Hr	. 0
	Operator of Heavy		3.0 day			460	1,380	1.5	day ×	2
	Driver		3.0 day		· ·	350	1,050	1.5	day ×	2
	Skilled Labor		3.0 day			260	780	1.5	day x	2
	Common Labor		6.0 day			230	1,380	1.5	day x	4
	Subtotal						5,310	<u> </u>	A State State	
3.	Total				69,841		7,732	77,572	Baht / 10	m
4.	Output	Worki	ng Time per 1	day = 12 H	lr × 2 shif	t i	· · · ·	per	10	m
	Rate = Baht/m			÷.,	6,984	Baht/m	773	Baht/m	= '	7,753

		Rate	e =	7,966	Baht/m	<b>F.C.</b> =	7,193	Baht/m 90%
Ing-Yot Tunnel without A	dit			1997 - 1997 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 -		L.C. =	773	Baht/m 10%
· · · · · · · · · · · · · · · · · · ·				Foreign (	urrency	Local C	urrency	
Items	Unit	Quanti	ty	Rate	Cost	Rate	Cost	Remark
. Operation Cost (Equipme	nt & Fu	el)			· · ·			per 10m
Rock Breaker 1300kg	1	11.5	Hr	3,945	45,368	75	863	11.5 Hr × 1
Backhoe Shovel 0.6 m3	1	2	Hr	985	1,970	· 75	150	2 Hr× 1
Dump Truck 11t	1	20	Hr	630	12,600	50	1,000	20 Hr× 1
Miscellaneous		20	%		11,988		403	Baht / 10 m
Subtotal					71,926		2,416	
2. Labor								per 10m
Foreman Tunnel		1 d	ay			720	720	12 Hr/12Hr
Operator of Heavy		3.0 d	ay			460	1,380	1.5 day × 2
Driver		3.0 d	ay			350	1,050	1.5 day × 2
Skilled Labor		3.0 d	ay			260	780	1.5 day × 2
Common Labor		6.0 d	ay			230	1,380	1.5 day× 4
Subtotal							5,310	
3. Total					71,926		7,726	79,651 Baht / 10m
4. Output	Worki	ng Time p	er 1	day = 12 H	lr x 2 shif	an an an		per 10 m

		R	ate =	6,519	Baht/m	<b>F.C.</b> =	5,771	Baht/m	89%	
Adit for Ing-Yot No.2 Tu	innel					L.C. =	748	Baht/m	11%	
				Foreign (	Currency	Local C	urrency			
Items	Unit	Quar	ntity	Rate	Cost	Rate	Cost	I	Remark	
1. Operation Cost (Equipm	ent & Fu	(el)						per 10m		
Rock Breaker 1300kg	1	9.6	Ηr	3,945	37,872	75	720	9.6	Hr ×	1
Backhoe Shovel 0.6 m3	• 1	2	Hr	985	1,970	75	150	2	Hr ×	1
Dump Truck 11t	1	24	Hr	630	15,120	50	1,200	24	Hr×	1
Miscellaneous	· .	5	%		2,748		104	l	Baht / 10	) m
Subtotal					57,710		2,174			
2. Labor								per 10m		
Foreman Tunnel		1	day			720	720	10	Hr/12Hr	0.
Operator of Heavy		3.0	day			460	1,380	1.5	day 🗙	2
Driver		3.0	day			350	1,050	1.5	day ×	2
Skilled Labor	1997) 1997	3.0	day	İ . İ		260	780	1.5	day ×	2
Common Labor		6.0	day		<u></u>	230	1,380	1.5	day ×	4
Subtotal							5,310			
3. Total				L	57,710		7,484	65,194	Baht / 10	)m
4. Output	Worki	ng Time	per 1	day = 12 H	lr × 2 shif	t .		per	10	m
Rate = Baht/m					5,771	Baht/m	748	Baht/m	<b>=</b> ·	6,519

· .

		Ra	te =	6,288	Baht/m	<b>F.C.</b> =	5,543	Baht/m 88%	
Adit for Ing-Yot No.2 Tu	nnel					L.C. ≈	745	Baht/m 12%	
				Foreign (	Currency	Local C	urrency		
Items	Unit	Quan	tity	Rate	Cost	Rate	Cost	Remark	
. Operation Cost (Equipm	ent & Fu	el)						per 10m	
Rock Breaker 1300kg	1	8.6	Hr	3,945	33,927	75	645	8.6 Hr ×	1
Backhoe Shovel 0.6 m3	1	2	Hr	985	1,970	75	150	2 Hr×	1
Dump Truck 11t	1	23	Hr	630	14,490	50	1,150	23 Hr ×	1
Miscellaneous		10	%		5,039		195	Baht / 10 m	1
Subtotal					55,426		2,140	· · · · · · · · · · · · · · · · · · ·	
. Labor				1.				per 10m	
Foreman Tunnel		· 1	day			720	720	8.6 Hr/12Hr	
Operator of Heavy	- -	3.0	day	1		460	1,380	1.5 day×	2
Driver		3.0	day		1	350	1,050	1.5 day ×	2
Skilled Labor		3.0	day			260	780	1.5 day ×	2
Common Labor		6.0	day	<b>_</b>	· .	230	1,380	1.5 day ×	4
Subtotal					<u> </u>		5,310		
3. Total				<u> </u>	55,426	<u> </u>	7,450	62,876 Baht / 10m	•
4. Output	Work	ing Time	per 1	day = 12 I	Hr × 2 shif	t		per 10 m	1
Rate = Baht/m					5.543	3 Baht/m	745	Baht/m =	6,2

	н 1		Ra	ate =	5,533	Baht/m	<b>F.C.</b> =	4,814	Baht/m	87%	
	Adit for Ing-Yot No.2 Tur	nnei					L.C. =	719	Baht/m	13%	
					Foreign C	Currency	Local Ca	irrency			
	Items	Unit	Quar	itity	Rate	Cost	Rate	Cost	R	lemark	
1.	<b>Operation Cost</b> (Equipme	nt & Fu	iel)						per 10m		
	Rock Breaker 1300kg	1	7.4	Hr	3,945	29,193	75	555	7.4	Hr ×	1
	Backhoe Shovel 0.6 m3	1	2	Hr	985	1,970	. 75	150	2	Hr×	1
	Dump Truck 11t	1	20	Hr	630	12,600	50	1,000	20	Hr ×	1
	Miscellaneous		10	%		4,376	· ·	171		Baht / 10	m
	Subtotal		[		·	48,139		1,876		· · · ·	
2.	Labor							.	per 10m		
	Foreman Tunnel		1	day			720	720	7.4	Hr/12Hr	0.
	Operator of Heavy		3.0	day	· ·		460	1,380	1.5	day ×	2
	Driver		3.0	day		ļ	350	1,050	1.5	day ×	2
	Skilled Labor	· · ·	3.0	day		] ·	260	780	1.5	day ×	2
	Common Labor		6.0	day		· · ·	230	1,380	1.5	day ×	4
	Subtotal							5,310			·
3.	Total					48,139	<u> </u>	7,186	55,325	Baht / 10	m
4.	Output	Work	ing Tim	e per 1	day = 12 I	Hr × 2 shit	ìt		per	10	m <sup>·</sup>
	Rate = Baht/m					4,814	Baht/m	719	Baht/m	=	5,533

		Ra	te =	5,326	Baht/m	<b>F.C.</b> =	4,616	Baht/m	87%	
Adit for Ing-Yot No.2 Tuni	ıel					L.C. =	710	Baht/m	13%	
				Foreign (	Jurrency	Local C	urrency			
Items	Unit	Quan	tity	Rate	Cost	Rate	Cost	F	temark	
. Operation Cost (Equipmen	t & Fu	el)						per 10m		
Rock Breaker 1300kg	1	6.8	Hr	3,945	26,826	.75	510	6.8	Hr ×	1
Backhoe Shovel 0.6 m3	1	2	Hr	985	1,970	75	150	2	Hr ×	1
Dump Truck 11t	1	18	Hr	630	11,340	50	900	18	Hr ×	1
Miscellaneous		15	%		6,020		234		Baht / 10	m
Subtotal					46,156		1,794			
2. Labor								per 10m		
Foreman Tunnel		1.	day			720	720	7	Hr/12Hr	0.6
Operator of Heavy		3.0	day			460	1,380	1.5	day 🗙	2
Driver		3.0	day			350	1,050	1.5	day ×	2
Skilled Labor		3.0	day			260	780	1.5	day ×	2
Common Labor		6.0	day			230	1,380	1.5	day ×	4
Subtotal							5,310			
3. Total					46,156		7,104	53,260	Baht / 10	m

88%	Baht/m	5,478	<b>F.C.</b> =	lon or i Baht/m		Rate =	e per r	T-50. Unit Rate
12%	Baht/m		L.C. =			····	nel	Adit for Ing-Yot No.2 Tuni
	-		Local Cu		Foreign C			
nark		Cost	Rate	Cost	Rate	Quantity	Unit	Items
	per 10m						nt & Fu	1. Operation Cost (Equipmen
	8.7	653	75	34,322	3,945	8.7 Hr	1	Rock Breaker 1300kg
Hr×	. 2	150	75	1,970	985	2 Hr	1	Backhoe Shovel 0.6 m3
Hir × 🕐	18	900	50	11,340	630	18 Hr	1	Dump Truck 11t
uht / 10 m		255		7,145		15 %		Miscellaneous
		1,958		54,777	· · ·	- 		Subtotal
	per 10m							2. Labor
/12Hr	9	720	720			1 day	·	Foreman Tunnel
iay ×	1.5	1,380	460			3.0 day		Operator of Heavy
lay ×	1.5	1,050	350			3.0 day	· · · ·	Driver
lay X	1.5	780	260			3.0 day		Skilled Labor
iay ×	1.5	1,380	230			6.0 day		Common Labor
		5,310					. :	Subtotal
aht / 10m	62,044	7,268		54,777				3. Total

		Ra	ate =	6,451	Baht/m	<b>F.C.</b> =	5,716	Baht/m	89%	
Adit for Ing-Yot No.2 Tu	nnei					L.C. =	735	Baht/m	11%	
	<u> </u>			Foreign (	Currency	Local C	urrency			
Items	Unit	Quar	itity	Rate	Cost	Rate	Cost	F	Remark	
1. Operation Cost (Equipme	nt & Fi	ieł)						per 10m		·
Rock Breaker 1300kg	1	8.7	Hr	3,945	34,322	75	653	8.7	Hr×.	1
Backhoe Shovel 0.6 m3	1	2	Hr	985	1,970	75	150	· 2	Hr ×	· 1
Dump Truck 11t	1	18	Hr	630	11,340	50	900	18	Hr ×	1
Miscellaneous		20	%		9,526		341		Baht / 10	m
Subtotal					57,158		2,044			· · · · · · · · · · · ·
2. Labor		:						per 10m		
Foreman Tunnel		1	day			720	720	8.7	Hr/12Hr	0
Operator of Heavy		3.0	day			460	1,380	1.5	day x	- 2
Driver		3.0	day			350	1,050	1.5	day ×	2
Skilled Labor	· ·	3.0	day			260	780	1.5	day ×	2
Common Labor		6.0	day			230	1,380	1.5	day ×	. 4
Subtotal				<u> </u>	·		5,310		- <u>1</u>	
3. Total					57,158		7,354	64,511	Baht / 10	hin
4. Output	Worki	ing Time	per 1	day = 12 H	$\mathrm{Ir} \times 2$ shif	t .		per	10	m
Rate = Baht/m				•	5.716	Baht/m	735	Baht/m	<b>=</b> <sup>1</sup>	6,45

		Rate =	6,552	Baht/m	<b>F.C.</b> =	5,971	Baht/m 91%
Adit for Ing-Yot No.2 Tuni	nei				L.C. =	581	Baht/m 9%
	1.1		Foreign (	Currency	Local C	urrency	
Items	Unit	Quantity	Rate	Cost	Rate	Cost	Remark
1. Operation Cost (Equipmen	it & Fu	iel)			1997) 1997)	e to para	per 10m
Rock Breaker 1300kg	1	8.6 Hr	3,945	33,927	- 75	645	8.6 Hr× 1
Backhoe Shovel 0.6 m3	1	2 Hr	985	1,970	75	150	2 Hr × 1
Dump Truck 11t	1	22 Hr	630	13,860	50	1,100	22 Hr× 1
Miscellaneous		20 %		9,951		379	Baht / 10 m
Subtotal				59,708		2,274	
2. Labor							per 10m
Foreman Tunnel		1 day			720	720	9 Hr/12Hr 0.
Operator of Heavy	• •	1.5 day			460	690	1.5 day × 1
Driver		3.0 day			350	1,050	1.5 day × 2
Skilled Labor		1.5 day	1		260	390	1.5 day × 1
Common Labor		3.0 day			230	690	1.5 day × 2
Subtotal		·				3,540	
3. Total				59,708		5,814	65,522 Baht / 10m
4. Output	Worki	ng Time per 1	day = 12 I	Ir × 2 shif	t		per 10 m
Rate = Baht/m		- 1	•		Baht/m	58	Baht/m = 6,552

		R	ate ≓	687	Baht/m3	F.C. =	577	Baht/m3	84%	
Kok-Ing & Ing-Yot						L.C. =	110	Baht/m3	16%	
				Foreign (	Currency	Local C	urrency			
Items	Unit	Quar	atity	Rate	Cost	Rate	Cost	I	Remark	
1. Operation Cost (Equipm	ent & Fu	el)						per 10m3		
Rock Breaker 800kg	1	2.0	Hr	2,455	4,910	75	150	2.0	Hr ×	1
Backhoe Shovel 0.35 m3	1	0.4	Hr	575	230	45	18	0.4	$Hr \times$	1
Dump Truck 11t	1	1.0	Hr	630	630	50	50	1.0	Hr ×	1
Subtotal					5,770		218			
2. Labor								per 10m3		
Foreman Tunnel		0.3	day			720	216	2.0	Hr/7Hr	= 0.
Operator of Heavy		0.6	day			460	276	1	day ×	(0.3+0.
Driver		0.3	day			350	105	1	day ×	0.3
Skilled Labor		0.3	day			260	78	1	day ×	0.3
Common Labor		0.9	day			230	207	1	day ×	(0.3*3
Subtotal							882			
3. Total					5,770		1,100	6,870	Baht / 1	.0m3
4. Output	Worki	ng Time	= Da	y Time				per	10	m3
Rate = Baht/m3	1. 1.		4		577	Baht/m3	110	Baht/m3	=	687

÷	Kok-Ing & Ing-Yot Items	Quantity per m	Foreign (	urrency	Local Cu	rrency	Total
	(Grade of Ground)	(Excavation Volume)	Rate	Cost	Rate	Cost	(Baht/m)
	1. Kok-Ing Tunnel			·			
	B	0 m3/m	577	0	110	0	· · · · · ·
	C1	4.6 m3/m		2,654	110	506	3,160
	C2	4.6 m3/m		2,654	110	506	3,160
	D1	5.7 m3/m		3,289	110	627	3,916
	D2	5.7 m3/m		3,289	110	627	3,916
	E1	6.9 m3/m		3,981	110	759	4,740
	E2	6.9 m3/m		3,981	110	759	4,740
	2. Ing-Yot Tunnel without A						
	B	0 m3/m	577	0	110	0	0
	C1	5.0 m3/m		2,885	110	550	3,435
	C2	5.0 m3/m		2,885	110	550	3,435
	D1	6.3 m3/m	577	3,635	110	693	4,328
	D2	6.3 m3/m		3,635	110	693	4,328
	E1	7.5 m3/n	577	4,328	110	825	5,153
	E2	7.5 m3/m	577	4,328	110	825	5,153
	3. Ing-Yot No.2 Tunnel with	Adit	ļ				
	B	5.0 m3/n	577	2,885	110	550	3,435
	C1	5.0 m3/n	577	2,885	110	550	3,435
	C2	5.0 m3/n	577	2,885	110	550	3,435
	D1	6.3 m3/n	577	3,635	110	693	4,328
	D2	6.3 m3/n	577	3,635	110	693	4,328
	E1	7.5 m3/m	577	4,328	110	825	5,153
	E2	7.5 m3/m	n 577	4,328	110	825	5,153
	4. Adit for Ing-Yot No.2 Tu	nel				$(x,y) \in [0,\infty)$	·
	B	0 m3/r	n 577	. 0	110	0	0
	Ci	0 m3/r	a 577	. 0	110	0	0
	<b>C2</b>	0 m3/s	n 577	0	110	0	0
	D1	3.8 m3/r	n 577	2,193	110	418	2,611
. :	D2	3.8 m3/r	n 577	2,193	110	418	2,611
	El	4.2 m3/1	n 577	2,423	110	462	2,885
÷ .	<b>E2</b>	4.2 m3/i	n 577	2,423	110	462	2,885
			D-7	3	· . ·		
	n an an Araba an Araba. An an Araba			-	· · ·		
1.19							

	<b>T-55. U</b>	nit Ra	ate o	of Tunn	el Mucl	k Dispos	sal			
Kok-Ing & Ing-Yot		· B	ate =	73	Baht/m3	F.C. =	61	Baht/m3	84%	
Outside Tunnel, Weather	red Rock		L=	12	km	L.C. =	12	Baht/m3	16%	
				Foreign (	urrency	Local Cu	rrency			
Items	Unit	Quar	tity	Rate	Cost	Rate	Cost	]	Remark	
1. Operation Cost (Equipment	at & Fuel)									
Wheel Loader 1.2 m3	1	10	Hr	520	5,200	40	400	10	Hr×	1
Bulldozer 15t	1	10	Hr	1,370	13,700	70	700	10	Hr×	1
Dump Truck 11 t	3	30	Hr	580	17,400	50	1,500	10	Hr ×	3
Subtotal					36,300		2,600			
2. Labor										
Foreman		2	day	1		350	700	2	sites	
Operator of Heavy		3	day		-	350	1,050	1.5	day x	2
Driver		5	day	1		270	1,215	1.5	day ×	3
Common Labor		9	day			180	1,620	1.5	day x	6
Subtotal				1			4,585			
3. Total					36,300		7,185	43,485	Baht/da	<u>y</u>
4. Output = m3/day	60	m3/H	r' ×	10	Hr	×	1	Units =	600	m3/da
Rate = Baht/m3					61	Baht/m3+	12	Baht/m3	= .	73

Kok-Ing & Ing-Yot	nit Rate per M Outside Tunnel, W					Baht/m
Items	Quantity per m	Foreign		Local Cu	ITTENCY	Total
(Grade of Ground)	(Muck Volume)	Rate	Cost	Rate	Cost	(Baht/m)
Kok-Ing Tunnel		· .				
В	0 m3/m	61	0	12	0	0
C1	77.2 m3/m	61	4,709	12	926	5,635
C2	77.2 m3/m	61	4,709	12	926	5,635
D1	81.5 m3/m	61	4,972	12	978	5,950
D2	82.6 m3/m	. 61	5,039	12	. 991	6,030
<b>E</b> 1	85.9 m3/m	61	5,240	12	1031	6,271
E2	87.1 m3/m	61	5,313	12	1045	6,358
Ing-Yot Tunnel without A		1 .				
В	0 m3/n	61	0	12	0	0
Ci	90.2 m3/n	61	5,502	12	1,082	6,584
C2	90.2 m3/n	n 61	5,502	12	1,082	6,584
D1	94.8 m3/r		5,783	12	1,138	6,921
D2	96.0 m3/r	n 61	5,856	12	1,152	7,008
E1	99.6 m3/r	n 61	6,076	12	1,195	7,271
E2	100.8 m3/r	n 61	6,149	12	1,210	7,359
Ing-Yot No.2 Tunnel with	Adit	1	1	1	1.1	
B	89.0 m3/i	m 6:	5,429	12	1,068	6,497
C1	90.2 m3/i	m 6	1 5,502	2 12	1,082	6,584
C2	90.2 m3/i	<b>m</b> 6	1		1,082	6,584
 D1	94.8 m3/		1 5,78	3 12	1,138	6,921
D2	96.0 m3/	m 6	1 5,850	5 12	1,152	2 7,008
E1	99.6 m3/	m 6	1 1 1	•	1,19	5 7,271
E2	100.8 m3/	m 6	1 6,14	9 12	1,210	7,359
4. Adit for Ing-Yot No.2 Tu						
B	47.0 m3/	m 6	1 2,86	7 12	2 56	4 3,431
CI	47.9 m3/	÷				5 3,497
C2	47.9 m3/	1.				5 3,497
D1	57.1 m3/		3,48			
D1 D2	58.0 m3	· ·	3,53	í		
El	60.3 m3	1	51 3,67			
E1 E2	60.3 m3	1	51 <b>3,6</b> 7	1	- 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1	

	T-57. Unit Rate	e per	Mete	r of	Shoter	ete of U	pper H	lalf : G	rade Cl	L	
			R	te =	17,416	Baht/m	<b>F.C.</b> =	14,540	Baht/m	83%	
	Kok-Ing Tunnel				5		L.C. =	2,876	Baht/m	17%	
	**************************************				Foreign (	Currency	Local C	urrescy			
	Items	Unit	Quar	itity	Rate	Cost	Rate	Cost	R	emark	
1.	<b>Operation Cost</b> (Equipmen	t & Fu	el)						per 10m		
	Shotcrete Robot Shot Radius 8m	1	4	Hr	2,170	8,680	10	40	4	Hr ×	1
i	Shotcrete Shooter Wei 10-15m3/h	i	4	Hr	3,105	12,420	25	100	4	Нr×	1
	Truck with Crane 4t x 2.9t lift	1	24	Hr	425	10,200	25	600	24	Hr ×	1
	Accelerator Supplier 5.5kw	1	2	day	1,130	2,260	54	108	2	day x	1
	Dust Collector 300m3/hr, 30kw	1	4	Hr	1,290	5,160	63	252	4	Нrх	1
	Truck Mixer 4.5 m3	1	7	Нr	620	4,340	70	490	7	Hr x	1
	Concrete Plant 1.0*2 m3(25-30m3	1	7	Hr	1,780	12,460	20	140	7	Hr ×	1
	Subtotal					55,520		1,730		Baht / 10n	a
2.	Material								per 10m		
	Portland Cement Type II		12	ton	1,666	19,992	714	8,568			
•	Fine Sand for Aggregate		28	m3	0	0	220	6,160			
•	Coarse Sand for Aggregate(	Gravel)	16	m3	0	0	220	3,520			
	Accelerator for Shotcrete		690	kg	100	69,000	0	0			
	Miscellaneous	· .	1	%		890		182		`,	
	Subtotal		ļ			89,882		18,430		Baht / 10r	n
3.	Labor								per 10m		
ļ	Foreman Tunnel		1.0	day		İ.	720	720		dayx50%=	1
	Operator of Heavy		1 ·	day			460	4,140			6
	Driver		4.5	day			350	1,575		day x	3
	Skilled Labor		3.0	day	]		260	780	1	day x	2
	Common Labor		6.0	day	ļ	· · · · ·	230	1,380		day x	4
L	Subtotal		ļ	· · ·	<u> </u>		ļ	8,595	_	<u> </u>	<u>.</u>
4.	Total				<u> </u>	145,402		28,755		Baht/10	11
5.	Output	Worki	ng Time	per 1	day = 12 l	ir x 2 shif	t ·		per		m
L	Rate = Baht/m					14,54	Baht/m	2,876	6 Babt/m =	<del>.</del> <u>.</u>	17,416

		R	ite =	18,376	Baht/m	<b>F.C.</b> =	15,479	Baht/m	84%	
Kok-Ing Tunnel						L.C. =	2,897	Baht/m	16%	
			•	Foreign C	LITERCY	Local C	ветевсу			
Items	Unit	Quan	itity	Rate	Cost	Rate	Cost	R	emark	
1. Operation Cost (Equipmen	t & Fu	el)						per 10m		
Shotcrete Robot Shot Radius 8m		5	Hr	2,170	10,850	10	50	5	Hr×	1
Shotcrete Shooter Wet 10-15m3/k	1	5	Hr	3,105	15,525	25	125	5	Hr ×	. 1
Truck with Crane 41 x 2.9t lift	1	25	Hr	425	10,625	25	625	25	Hr×	1
Accelerator Supplier 5.5kw	1	2	day	1,130	2,260	54	108	2	day ×	1
Dust Collector 300m3/hr, 30kw	1	5	Hr	1,290	6,450	63	315	5	Hr ×	1
Truck Mixer 4.5 m3	1	8	Hr	620	4,960	70	560	8	Hr×	1
Concrete Plant 1.0*2 m3(25-30m3	1	8	Hr	1,780	14,240	. 20	160	8	Hir×	1
Subtotal					64,910		1,943		Baht / 101	n
2. Material								per 10m		
Portland Cement Type II		12	ton	1,666	19,992	714	8,568	ļ		
Fine Sand for Aggregate		28	m3	0	0	220	6,160			
Coarse Sand for Aggregate(	Gravel)	16	m3	0	· · 0	220	3,520			
Accelerator for Shotcrete		690	kg	100	69,000	0	0		· .	
Miscellaneous		1	%		890		182			
Subtotal		· .			89,882		18,430	·	Baht / 10	n
3. Labor			'/			1.1		per 10m		
Foreman Tunnel	1	1.0	day			720	720	2.0	dayx50%=	
Operator of Heavy		9.0	day	1	a a se	460	4,140	1.5	day ×	6
Driver		4.5	day		1.00	350	1,575	· 1.5	day ×	3
Skilled Labor		3.0	day			260	780	1.5	day ×	2
Common Labor		6.0	day		· ·	230	1,380	1.5	day ×	4
Subtotal			,	1			8,595			
4. Total		1		1	154,792	T	28,968	183,760	Baht / 10	m
5. Output	Worki	ng Time	: per l	day = 12 H	lr x 2 shif	1		per	10	m
Rate = Baht/m				•		Baht/m	2.89	7 Baht/m	a .	18,

		Ra	te ≃	24,993	Baht/m	F.C. =	20,637	Baht/m	83%	1
Kok-Ing Tunnel						L.C. =	4,356	Baht/m	17%	
				Foreiga (	Cuttency	Local Ci	AFTERCY			
Items	Unit	Quan	tity	Rate	Cost	Rate	Cost	R	emark	
Operation Cost (Equipmen	t & Fu	el)						per 10m		
Shotcrete Robot Shot Radius 8m	1	6	Hr	2,170	13,020	10	60	6	Hr ×	1
Shotcrete Shooter Wet 10-15m3/h	1	6	Hr	3,105	18,630	25	150	6	Hr×	1
Truck with Crane 4t x 2.9t lift	1	33	Hr	425	14,025	25	825	33	Hr×	1
Accelerator Supplier 5.5kw	1	3	day	1,130	3,390	54	162	3	day x	1
Dust Collector 300m3/hr, 30kw	1	6	Hr	1,290	7,740	63	378	6	Hr ×	1
Truck Mixer 4.5 m3	1	10	Hr	620	6,200	70	700	10	Hr ×	1
Concrete Plant 1.0*2 m3(25-30m3	1	10	Hr	1,780	17,800	20	200	10	Hr ×	1
Subtotal					80,805		2,475		Baht / 10	m
2. Material		<u> </u>						per 10m		
Portland Cement Type II		17	loa	1,666	28,322	714	12,138			•
Fine Sand for Aggregate		38	m3	0	0	220	8,360			
Coarse Sand for Aggregate(	Gravel	38	m3	0	0	220	8,360			
Accelerator for Shotcrete		960	kg	100	96,000	0	0			
Miscellaneous		1	%		1,243		289	ļ		
Subtotal		[			125,565		29,147		Baht / 10	m
3. Labor								per 10m		
Foreman Tunnel		1.5	day			720	1,080	3.0	dayx50%=	1.5
Operator of Heavy		12.0	day		•	460	5,520	1.5	day ×	8
Driver		6.0	day			350	2,100	1.5	•	4
Skilled Labor		4.5	day		. ·	260	1,170		day ×	3
Common Labor		9.0	day	<u> </u>	1	230	2,070	· • · · · · · · · · · · · · · · · · · ·	day ×	6
Subtotal					ļ	L	11,940			
4. Total		<u> </u>	· · ·	<u> </u>	206,370	<u> </u>	43,562	249,932	Baht / 10	)mi
5. Output	Work	ing Tim	e per i	1 day = 12	Hr × 2 shif	L	· .	per	10	<b>m</b> .
Rate = Baht/m					20,637	Baht/m	4,35	6 Baht/m	= .	24,993

2 Acres

	in a start and		Ra	te =	30,268	Baht/m	F.C. =	25,437	Baht/m 84	4%
Koł	-Ing Tunnel		·.		$e^{-\frac{1}{2}} = e^{-\frac{1}{2}}$		L.C. =	4,831	Baht/m 1	6%
					Foreign (	arrency	Local Ci	птевсу		
	Items	Unit	Quan	tity	Rate	Cost	Rate	Cost	Rem	ark
. Ope	eration Cost (Equipmen	t & Fu	el)	•				· ·	per 10m	
-	crete Robot Shot Radius 8m	1	7	Hr	2,170	15,190	10	70	7 Hit	rx 1
Shot	crete Shooter Wei 10-15m3/h	1	7	Hr	3,105	21,735	25	175	7 Hr	rx 1
True	k with Crane 4t x 2.9t lift	i	40	Hr	425	17,000	25	1,000	40 Hz	r× 1
Acc	elerator Supplier 5.5kw	1	· 3	day	1,130	3,390	54	162	3 da	yx 1
Dus	t Collector 300m3/hr, 30kw	1	7	Hr	1,290	9,030	63	441	. 7 Hu	rx 1
Таж	ck Mixer 4.5 m3	1	12	Hr	620	7,440	70	840	12 H	rx 1
Сое	crete Plant 1.0*2 m3(25-30m3	1	12	Hr	1,790	21,360	20	240	12 H	r× 1
	Subtotal					95,145		2,928	Bah	nt / 10m
2. Ma	terial					·			per 10m	
Por	tland Cement Type II	•	22	ton	1,666	36,652	714	15,708		
Fin	e Sand for Aggregate		48	m3	0	0	220	10,560		
Co	arse Sand for Aggregate(	Gravel)	28	<b>m</b> 3	0	- 0	220	6,160		· · · ·
Ac	celerator for Shotcrete		1,210	kg	· 100	121,000	0	0		
Mi	scellaneous		1	%		1,577	· ·	324		··· .
	Subtotal		ſ			159,229		32,752	Bai	bt / 10m
3. La	bor						1.0		per 10m	
Fo	reman Tunnel		1.5	day			720	1,080	3.0 days	K50%+
Op	erator of Heavy		13.5	day	İ		460	6,210	1.5 d	ay ×
•	iver		6.0	day		· ·	350	2,100	1.5 d	ay x
Sk	illed Labor		4.5	day			260	-1,170	1.5 d	ay x 🔅
- Co	mmon Labor		9.0	day	1		230	2,070	1.5 d	ay x
	Subtotal							12,630	)	
4.	Total				1.	254,374		48,310	) 302,684 Ba	ht / 10m

T	-61. Unit Rat	e per	Meto	er of	Shoter	ete of U	Jpper H	Ialf : G	rade E	1	
		-			30,515				Baht/m	84%	
Kok-Ing T	unnel						L.C. =		Baht/m	16%	
					Foreign (	Currency	Local C				
	Items	Unit	Quar	ntity	Rate	Cost	Rate	Cost	F	Remark	
1. Operation	Cost (Equipmen	t & Fu	el)						per 10m		
Shotcrete Re	bot Shot Radius 8m	1	7	Hr	2,170	15,190	10	70	7	Hr ×	1
Shotcrete Sł	100ter Wa 10-15m3/h	1	7	Hr	3,105	21,735	25	175	7	Hr ×	1
Truck with	Crane 4t x 2.9t lift	1	40	Hr	425	17,000	25	1,000	40	Hr ×	1
Accelerator	Supplier 5.5kw	1	3	day	1,130	3,390	54	162	. 3	day 🗙	1
Dust Collec	tor 300m3/hr, 30kw	1	7	Нſ	1,290	9,030	63	441	. 7	Hrx	1
Truck Mixe	r 4.5 m3	1	12	Hr	620	7,440	70	840	12	Hr ×	1
Concrete Pl	ant 1.0°2 m3(25-30m3	1	12	Hr	1,780	21,360	20	240	12	Hr×	1
Subtou	al			<u>_</u>		95,145		2,928		Baht / 10	<u>m</u>
2. Material						· .			per 10m		
	ement Type II		22	lon	1,666		714	15,708			
	for Aggregate		49	шЗ	0	. 0	220	10,780			
	id for Aggregate(	Gravel)		m3	0	. 0	220	6,380			
1	r for Shotcrete		1,230	Χg	100	123,000	0	0			
Miscellane			. 1	<b>%</b>		1,597		329			
Subtot						161,249		33,197		Baht / 10	m
3. Labor					.			1.000	per 10m		1.5
Foreman T			1	day			720 460	1,080	1	dayx50%=	9
Operator o Driver	TICAVY		13.5	day day			460 350	6,210 2,100	1.5	day × day ×	9 4
Skilled La	hor		1	day day			260	1.170	1.5		3
Common				day day	• .		230	2.070	1.5	day x	5
Subtot			7.0		<b></b>			12,630	<u> </u>		
4. Total					<u> </u>	256,394		48,755	305,149	Bahi / 10	
5. Output		Worki	ie Time	oër 1	day = 12 H				per	10	
Rate = Ba	ht/m		-0 - 1.110				Baht/m	4.876	Baht/m :		30,515
INSUE - Da	114 VIL					20,009	D-4114 HI	7,0/0	- Matta Anti-		******

				1		F.C. =		rade E2 Baht/m 84%	
Kok-Ing Tunnel				30,772		L.C. =		Baht/m 16%	
Kok-ing Tenati				Formione	Carrency	Local C		Dangai 10%	<u> </u>
Items	Unit	Ouan	tity	Rate	Cost	Rate	Cost	Remark	
Operation Cost (Equipment	t & Fu	el)		:				per 10m	
Shotcrete Robot Shot Radius 8m	1	. 9	Hr	2,170	19,530	10	90	9 Hr×	1
Shotcrete Shooter Wei 10-15m3/h	1 -	. 9	Hr	3,105	27,945	25	225	9 Hr×	1
Truck with Crane 4t x 2.9t lift	1	48	Hr	425	20,400	25	1,200	48 Hr×	1
Accelerator Supplier 5.5kw	1	. 4	day	1,130	4,520	54	216	4 day×	1
Dust Collector 300m3/hr, 30kw	1	9	Hr	1,290	11,610	63	567	9 Hr×	1
Truck Mixer 4.5 m3	1	17	Hr	620	10,540	70	1,190	17 Hr×	. 1
Concrete Plant 1.0*2 m3(25-30m3	1	17	Hr	1,780	30,260	20	340	17 Hr×	. 1
Subtotal					124,805		3,828	Baht / I	0m
. Material								per 10m	
Portland Cement Type II		28	lon	1,666	46,648	· 714	19,992	· . · ·	
Fine Sand for Aggregate	÷	62	m3	. 0	0	220	13,640	· .	
Coarse Sand for Aggregate(C	Gravel)	36	ືສ3	0	0	220	7,920		
Accelerator for Shotcrete		1,540	kg	100	154,000	0	0	· .	
Miscellaneous		1	%		2,006		416		
Subtotal					202,654		41,968	Baht / 1	lOm
3. Labor				· .	l .			per 10m	
Foreman Tunnel		· 2.0	day			720	1,440	4.0 dayx50%	2
Operator of Heavy		18.0	day			460	8,280	1.5 day ×	12
Driver		7.5	day			350	2,625	1.5 day ×	5
Skilled Labor	· · .	6.0	day			260	1,560	1.5 day ×	4
Common Labor		12.0	day			230	2,760	1.5 day x	8
Subtotal			$\frac{1}{2}$			1	16,665	1	
4. Total		1		1	327,459		62,461	389,920 Baht /	10-

		Ra	te =	18,623	Baht/m	F.C. =	15,597	Baht/m	84%	
Ing-Yot Tunnel without Ad	lit			-		L.C. =	3,026	Baht/m	16%	
Q		·····		Foreign C	LAITTENCY	Local C	агтенсу			
Items	Unit	Quan	tity	Rate	Cost	Rate	Cost	R	emark	
. Operation Cost (Equipmen	t & Fu	ei)						per 10m		
Shotcrete Robot Shot Radius 8m	1	4	Hr	2,170	8,680	10	40	- 4	Hı ×	1
Shoicrete Shooler Wei 10-15m3/2	1	4	Hr	3,105	12,420	25	100	4	Hr ×	1
Truck with Crane 4t x 2.9t lift	1	25	Hr	425	10,625	25	625	25	Hr ×	1
Accelerator Supplier 5.5kw	1	2	day	1,130	2,260	54	108	2	day × 👘	1
Dust Collector 300m3/hr, 30kw	1	4	Hr	1,290	5,160	63	252	4	Hr ×	1
Truck Mixer 4.5 m3	1	8	Hr	620	4,960	70	560	8	н×	1
Concrete Plant 1.0*2 m3(25-30m3	1	8	Hr	1,780	14,240	20	160	8	Ήι×	1
Subtotal					58,345		1,845		Baht / 10n	n
2. Material								per 10m	12	
Portland Cement Type II		13	ion	1,666	21,658	714	9,282			
Fine Sand for Aggregate		30	m3	0	0	220	6,600	- ·		
Coarse Sand for Aggregate(	Gravel	17	m3	0	. 0	220	3,740			
Accelerator for Shotcrete		750	kg	100	75,000	0	0	1		
Miscellaneous		1	%		967	- 	196			
Subtotal		I		<u> </u>	97,625	<u> </u>	19,818	L	Baht / 10r	n
3. Labor		1.			· ·		ļ	per 10m		
Foreman Tunnel		1.0	day		i	720	720		dayn:50%=	
Operator of Heavy		9.0	day			460	4,140		day ×	6
Driver		4.5	day			350	1,575			3
Skilled Labor		3.0	day			260	780	1	day ×	2
Common Labor		6.0	day	<u> </u>	ļ	230	1,380		day x	- 4
Subtotal		<b>_</b>		<u> </u>	ļ	ļ	8,595	+		<u> </u>
4. Total	· .	<u> </u>		ļ	155,970	<u> </u>	30,258	186,228	Baht / 10	<u>m</u>
5. Output	Work	ing Tinw	: per l	l day = 12 l	Hr  imes 2 shift	ħ,		per	10	ពា
Rate ≈ Baht/m				1.1.1.1.1	15.59	7 Baht/m	3.02	6 Baht/m	= .	15,0

· · · ·		Rate =	19,922	Baht/m	<b>F.C.</b> =	16,861	Baht/m 85%
Ing-Yot Tunnel without Adi	it	8			L.C. =	3,061	Baht/m 15%
		·	Foreign C	urrency	Local C	urrency	· · · · ·
Items	Unit	Quantity	Rate	Cost	Rate	Cost	Remark
. Operation Cost (Equipment	& Fu	<b>e</b> l)	1.1.34				per 10m
Shotcrete Robot Shot Radius 8m	1	5 Hir	2,170	10,850	10	50	5 Har× 1
Shotcrete Shooter Wei 10-15m3/h	1	5 Hr	3,105	15,525	25	125	5 Hr× 1
Truck with Crane 4t x 2.9t lift	1	28 Hr	425	11,900	25	700	28 Hr× 1
Accelerator Supplier 5.5kw	1	2 day	1,130	2,260	54	108	2 day × 1
Dust Collector 300m3/hr, 30kw	1	5 Hr	1,290	6,450	63	315	5 Hir× 1
Truck Mixer 4.5 m3	1	10 Hr	620	6,200	70	700	10 Hr× 1
Concrete Plant 1.0"2 m3(25-30m3	1	10 Hr	1,780	17,800	20	200	10 Hr× 1
Subtotal				70,985		2,198	Baht / 10m
. Material							per 10m
Portland Cement Type II		13 ton	1,666	21,658	714	9,282	
Fine Sand for Aggregate		30 m3	· Ó	. 0	220	6,600	
Coarse Sand for Aggregate(	Gravel	17 103	0	0	220	3,740	
Accelerator for Shotcrete		750 kg	100	75,000	0	0	
Miscellaneous		1 %		967		196	and the state
Subtotal				97,625		19,818	Baht / 10m
3. Labor					1		per 10m
Foreman Tunnel		1.0 day			720	720	2.0 dayx50%=
Operator of Heavy		9.0 day			460	4,140	) <u>1.5 day x</u> (
Driver		4.5 day			350	1,575	1.5 day × 3
Skilled Labor	· ·	3.0 day			260	780	) 1.5 dayx 2
Common Labor		6.0 day	1 ·		230	1,380	) <u>1.5 dayx 4</u>
Subtotal	1. T.		1	1		8,59	s and so the second
4. Total		1		168,610		30,611	199.221 Baht / 10m

			R	ite ≈	27,025	Baht/m	<b>F.C.</b> =	22,360	Baht/m	83%	
	Ing-Yot Tunnel without Ad	it					L.C. =	4,665	Baht/m	17%	<i></i>
					Foreign (	arrency	Local C	urrency			
	Items	Unit	Quar	tity	Rate	Cost	Rate	Cost	R	emæsk	_
١.	Operation Cost (Equipment	t & Fu	el)						per 10m	÷	
	Shotcrete Robot Shot Radius 8m	3	6	Hr	2,170	13,020	10	60	6	Hr ×	1
	Shotcrete Shooter Wei 10-15m3/h	1	6	Hr	3,105	18,630	25	150	6	Hr ×	1
	Truck with Crane 4t x 2.9t lift	1	36	Ηr	425	15,300	25	900	36	Hr ×	1
	Accelerator Supplier 5.5kw	1	3	day	1,130	3,390	54	162	3	day x	1
	Dust Collector 300m3/hr, 30kw	.1	6	Hr	1,290	7,740	63	378	6	Hr×	1
	Truck Mixer 4.5 m3	1	13	Hr	620	8,060	70	910	13	Hr ×	1
	Concrete Plant 1.0*2 m3(25-30m3	1	13	Hr	1,780	23,140	20	260	13	Hr ×	1
_	Subtotal					89,280		2,820		Baht / 10n	n
2.	Material								per 10m		
	Portland Cement Type II		18	ton	1,666	29,988	714	12,852			
	Fine Sand for Aggregate		41	<b>m</b> 3	. 0	0	220	9,020			
	Coarse Sand for Aggregate(	Gravel)	41	m3	0	0	220	9,020			
	Accelerator for Shotcrete		1030	kg	100	103,000	0	0			
	Miscellaneous		1	%		1,330		309			
	Subtotal					134,318		31,201		Baht / 10r	n
3.	Labor								per 10m		
	Foreman Tunnel		1.5	day			720	1,080	3.0	dayx.50%=	1.3
	Operator of Heavy		13.5	day			460	6,210	1.5	day x	- 9
	Driver		6.0	day			350	2,100	1.5	day ×	4
	Skilled Labor		4.5	day			260	1,170	1.5	day x	3
	Common Labor		9.0	day			230	2,070	1.5	day ×	6
	Subtotal							12,630			
4.	Total					223,598		46,651	270,249	Baht / 10	m
5.	Output	Worki	ng Time	per 1	day = 12 F	lr×2 shift		· .	per	· 10 - 1	m
	Rate = Baht/m			2		22 360	Baht/m	4.663	Baht/m -		27,025

T-66. Unit Rate	рег	Mete	r of	Shotere	ete of U	ўррег Н	alf : G	rade D2	
and the product of the second		Ra	te =	34,341	Baht/m	F.C. =	29,080	Baht/m 859	76
Ing-Yot Tunnel without Adit	•					L.C. =	5,261	Baht/m 154	76
				Foreign (	житевсу	Local C	arrency		
<u>Items</u> U	Jait	Quan	tity	Rate	Cost	Rate	Cost	Remar	k
. Operation Cost (Equipment &	k Fu	el)				· ·	- 1	per 10m	
Shotcrete Robot Shot Radius 8m	1	8 -	Hr	2,170	17,360	10	80	8 Hr×	r 1
Shotcrete Shooter Wei 10~15m3/h	1	8	H	3,105	24,840	25	200	8 Hr×	۲ <b>۱</b>
Truck with Crane 4t x 2.9t lift	1	43	Hr	425	18,275	. 25	1,075	43 Hr×	( <b>1</b>
Accelerator Supplier 5.5kw	1	3	day	1,130	3,390	54	162	3 days	x 1
Dust Collector 300m3/hr, 30kw	1	8	Hr	1,290	10,320	63	504	8 Hr×	¢ 1
Truck Mixer 4.5 m3	1	19	Hr	620	11,780	70	1,330	19 Hr>	c, 1
Concrete Plant 1.0*2 m3(25-30m3	1	19	Hr	1,780	33,820	20	380	19 Hr>	<u>( 1</u>
Subtotal					119,785		3,731	Babl /	10m
2. Material							· .	per 10m	
Portland Cement Type II		23	ton	1,666	38,318	714	16,422		
Fine Sand for Aggregate	÷	52	m3	. 0	; O	220	11,440	· ·	
Coarse Sand for Aggregate(Gr	avel)	31	<b>m</b> 3	0	0	220	6,820		
Accelerator for Shotcrete		1,310	kg	100	131,000	0	0		
Miscellaneous		· 1_	%		1,693		347		
Subtotal					171,011		35,029	Baht	/ 10m
3. Labor				· .				per 10m	
Foreman Tunnel		1.5	day	1.		720	1,080	3.0 day×50	<b>%</b> = 1.
Operator of Heavy		15.0	day	· · ·	1.1	460	6,900	1.5 day	× 10
Driver		7.5	day		1	350	2,625	1.5 day	× 5
Skilled Labor		4.5	day			260	1,170	1.5 day	× 3
Common Labor	1	9.0	day			230	2,070	1.5 day	× 6
Subtotal							13,845		· · ·
4. Total					290,796		52,605	343,401 Baht	/ 10m
5. Output	Vorta	ng Time	per 1	day = 12 H	ir x 2 shif	<b>h</b>		per 10	) m
Rate = Baht/m		·	-			Baht/m	e 96	Baht/m =	34,34

T-67. Unit Rat	e <b>per</b>	Meter	r of	Shotere	ete of U	pper H	air: G	rade El		
		Ra	te =	34,805	Baht/m	F.C. =	29,450	Baht/m	85%	
Ing-Yot Tunnel without Ad	lit					L.C. =	5,355	Baht/m	15%	
				Foreign C	arrency	Local C	arrency			
Items	Unit	Quan	tity	Rate	Cost	Rate	Cost	R	emark	
. Operation Cost (Equipmen	t & Fu	el)						per 10m		
Shotcrete Robot Shot Radius 8m		8	Hr	2,170	17,360	10	80	8	Hr ×	1
Shotcrete Shooter Wet 10-15m3/h	1	8	Hr	3,105	24,840	25	200	8	Hr×	1
Truck with Crane 41 x 2.9t lift	1	43	Hr	425	18,275	25	1,075	43	Hr ×	1
Accelerator Supplier 5.5kw	1	3	day	1,130	3,390	54	162	3	day x	1
Dust Collector 300m3/hr, 30kw	1	8	Hr	1,290	10,320	63	504	8	Hr ×	1
Truck Mixer 4.5 m3	1	19	Hr	620	11,780	70	1,330	19	Hr ×	1
Concrete Plant 1.0*2 m3(25-30m3	1	19	Hr	1,780	33,820	20	380	19	Hr×	- 1
Subtotal					119,785		3,731		Baht / 10m	1
2. Material								per 10m		
Portland Cement Type II	. •	24	ton	1,666	39,984	714	17,136			
Fine Sand for Aggregate		53	ഷി	0	· 0	220	11,660	1		
Coarse Sand for Aggregate	Gravel)	31	m3	· 0	0	220	6,820			
Accelerator for Shotcrete		1,330	kg	100	133,000	. 0	0	].		
Miscellaneous		1	%		1,730	<u> </u>	356	ļ	·	
Subtotal					174,714	<u> </u>	35,972	+	Baht / 10n	n
3. Labor						Į		per 10m		
Foreman Tunnel		1.5	day			720	1,080		dayx50%=	1.5
Operator of Heavy		15.0	day			460	6,900	1	. day ×	10
Driver		7.5	ózy	· ·		350	2,625		day ×	5
Skilled Labor	5 A	4.5	day			260	1,170		day x	3
Common Labor		9.0	day		<b> </b>	230	2,070	1.5	day x	6
Subtotal		<u> </u>			<b></b>	·	13,845		<u> </u>	
4. Total		1		<u> </u>	294,499	<u></u>	53,548	348,047	Baht / 10	m
5. Output	Work	ing Time	per	i day = 12 l	Hir × 2 shi	ft	1.1	per		·
Rate = Baht/m					29,45	0 Baht/m	5,35	5 Bahvm	=	34,80

		Rat	æ =	42,002	Baht/m	F.C. =	35,340	Baht/m	84%	
Ing-Yot Tunnel without Ad	it _		1.5			L.C. =	6,662	Baht/m	16%	
				Foreign C	штевсу	Local C	rrency		1. J. 1. 1.	
Items	Unit	Quant	ity	Rate	Cost	Rate	Cost	R	emark	
<b>Operation Cost</b> (Equipment	& Fu	el)						per 10m	an an an an an an an an an an an an an a	
Shotcrete Robot Shot Radius 8m	1	9	Hr	2,170	19,530	10	90	9	Hr ×	1
Shotcrete Shooter Wei 10-15=3/h	1	. 9	Hr	3,105	27,945	25	225	9	Hr ×	1
Truck with Crane 4t x 2.9t lift	1	50	Hr	425	21,250	25	1,250	50	Hr ×	1
Accelerator Supplier 5.5kw	1	4	day	1,130	4,520	54	216	4	day x	1
Dust Collector 300m3/hr, 30kw	1	9	Hr	1,290	11,610	63	567	9	Hr×	1
Truck Mixer 4.5 m3	1	21	Hr	620	13,020	70	1,470	21	Hr ×	1
Concrete Plant 1.0*2 m3(25-30m3	1	21	Hr	1,780	37,380	20	420	21	Hr x	1
Subtotal					135,255		4,238		Baht / 10	an '
Material			1			:		per 10m	•	
Portland Cement Type II		30	10ft	1,666	49,980	714	21,420			
Fine Sand for Aggregate		67	m3	0	0	220	14,740			
Coarse Sand for Aggregate(	Gravel)	39	.m3	ò	0	220	8,580	· ·	1	
Accelerator for Shotcrete		1,660	kg	100	166,000	· Ó	0			
Miscellaneous		1	96		2,160		. 447			
Subtotal					218,140	1.1	45,187		Baht / 10	<u>m</u>
Labor								per 10m	· · · ·	
Foreman Tunnel		2.0	day		1.1	720	1,440	4.0	dayx50%=	
Operator of Heavy	· .	18.0	•			460	8,280	1.5	day x	12
Driver			day			350	3,150	1.5	day x	6
Skilled Labor	-		day		1	260	1,560	1.5	day ×	4
Common Labor		12.0	•		1	. 230	2,760	1.5	day x	8
Subtotal		1		1	1	1	17,190	5		
Total		1	· .		353,395		66,615		Baht / 10	Jan
Output		<u> </u>		1 day = 12		· · · · · ·	· · · ·	per	i0	m

T-69. Unit Ra	te per	r Met	er o	f Shoter	ete of	Upper )	Half : C	Frade B		
		R	ite ≈	12,345	Baht/m	<b>F.C.</b> =	10,343	Baht/m	84%	
Ing-Yot No.2 Tunnel with Adi			L.C. =	2,002	Baht/m	16%				
		nit Quantity		Foreign Currency		Local Currency				
Items	Unit			Rate Cost		Rate Cost		Remark		
1. Operation Cost (Equipment & Fuel)								per 10m		
Shotcrete Robot Shot Radius 8m	1	3	Hr	2,170	6,510	10	30	3	Hr ×	1
Shokrete Shooter Wet 10-15m3/h	1	3	Hr	3,105	9,315	25	75	3	Hr ×	1
Truck with Crane 4t x 2.9t lift	1	19	Hr	425	8,075	25	475	19	Hr ×	1
Accelerator Supplier 5.5kw	1	2	day	1,130	2,260	54	108	2	day ×	1
Dust Collector 300m3/hr, 30kw	1	3	Hr	1,290	3,870	63	189	3	Hr×	1
Truck Mixer 4.5 m3	1	8	Hr	620	4,960	70	560	8	Hr ×	1
Concrete Plant 1.0*2 m3(25-30m3)	1	8	Ĥr	1,780	14,240	20	160	8	Hr×	1
Subtotal					49,230		1,597	Baht / 10m		
2. Material								per 10m		
Portland Cement Type II		7	ton	1,666	11,662	714	4,998			
Fine Sand for Aggregate		17	m3	· 0	0	220	3,740			
Coarse Sand for Aggregate(0	Gravel)	10	m3	0	• 0	220	2,200			
Accelerator for Shotcrete		420	kg	100	42,000	0	0			•
Miscellaneous		1	%		537		109			
Subtotal					54,199	2	11,047		Baht/10	កា
3. Labor								per 10m		
Foreman Tunnel		1.0	day			720	720	2.0	dayx50%=	
Operator of Heavy	:	7.5	day			460	3,450	1.5	day x	5
Driver		3.0	day			350	1,050	1.5	day x	2
Skilled Labor	·	3.0	day			260	780	1.5	day x	2
Common Labor		6.0	day	·	· · · · ·	230	1,380	1.5	day x	4
Subtotal							7,380			
4. Total					103,429		20,024	123,453	Baht / 10	<u>m</u>
5. Output	Workig	ig Time	per 1	day = 12 H	ir × 2 shift			per	10	m
Rate = Baht/m					10.343	Baht/m	2.002	Bahi/m =		12,3